m s e =
= —1
RIGHT PNEUMATICS

Product catalogue
7=/ & /5




_
RIGHT PNEUMATICS MANLﬁ'r!:ETHa’EIAE)TF!Ené

|
]

REFHEBEEEM

Security Considerations:

XEMEFERD, CHTFraENARSERNAER, UBIEMASE (M) BEEASH.

REABENEREE, BEXIEEHSR[EE] . [EFEE5]. [BR | Z#KES. AXRLES
ANEEAR, MIZHEIS04414* VIS B8370* BIARE IR Kb REMA h, SAET,

The precautions are recorded how the product should be used safely and correctly to prevent damage

to the human body or equipment. According to its potential risk level,the relevant matters will be divided into
attention, warning, danger three signs. Important security aspects are documented in the 1SO4414(note 1)
and JISBB8370(note 2) two standards as well as in other security rules that must be complied with.

A EE:mmee, AnesTESHRGOER.

Note: The event is the person and equipment may be damaged because of the
mistaken operation.

A BE:wans, sURSRASESRECHER.

Warning: The event is a person may be seriously injured or killed because of a
mistaken operation.

A\ B : szensris, FORRETRERAZEGARTHER.

Danger: The event is people in a tight and dangerous situation, if don’ tshy away
from danger, they might have a serious injury or death .

111804414 . SERFH—EFNEFAREDSHTENERARN.

ote 1: ISO‘NN Pneumatic transmission—Rules for the use of aerodynamic elements in transmission and control systems
2)JISB8370 . ShEGEM,

ote 2: JI

ZHZH

1SB8370: General rules for pneumatic systems

/N ZHWarning
| ESHRENRHEXRTAROARRAFSH T HOALLEAE.

1. Ask the designer of the pneumatic system or who decides the specifications to determine the suitability
of the pneumatic elements selection.
FaEELERNS R, AERZAEZHES. FASPHEENEHENREABRNARREFESHITHREETESZ
B, HEN, TENEAEASTHRE. SEFERBEINSEHRIZSRAERERESHNANRE., TRKE
EFFaEAANEN, EFARNSIAE, FIEEARHTRSHENIESR, REEARENSHRE.

The products in the cataiog are in different operational environment, whether it’ s appropriate for for the system should be determined
by the desi of the pr y or the person who decides the specification. when necessary, the corresponding analysis and
experiments should be done. Satisfying the expected perf of the system and ensuring the security is the responsibility of the
person who decides the suitability of the system. You should also check the entire contents of the specifications basad on the latest
product samples and data, and take into it the possibl function of the components, ultimately form the required pneumatic
system.

IBEERBAMIANEEMAERASHESE.
2. Pneumatic equipment should be used by the person who has sufficient knowledge and experience.
EfsS—BERKR, BEEEM. SHEEMNEX. RIENEPE, EAFESAIRNSRHART.

It' s very dangerous once the compressed air used faulty. The assembly, operation and maintenance of the system should be carried
out by the person who has sufficient knowledge and experience.

BEMIANZLZH, BXAIFERSIEEIMNESE LIFRAST T,
3. Never use pneumatic equipment or remove pneumatic components from equipment until safety is
confirmed.
1LESHEESRNEEZE, YARINEEITDECHTTHLEETHRENLE.
2EBRICHTTLERZSLAER, BUFBRENSE, HNESHEZERARENESSS, FEMShEE LR
Sk
IEDEREEDZHEH, ERINFSRLEETEFAEMHES,

1. Prior to the inspection and maintenance of pneumatic equipment, it must be confirmed that the driven object has been disposed of to
prevent falling or running away.

2. After confirming the above-mentioned safety disposal, cut off the power supply and gas source, and exhaust the residual compressed
air in the pneumatic system, then you can remove the pneumatic components from the pneumatic equipment.

3. Before restarting the pneumatic equipment, make sure that no piston rod is out of speed.

AETIHEMAMRETERAELAANTRN, HTFZLEE, EEES5EXQFAKEIBFELARAKER
ik

4. Product’ s are used in the following conditions and circumstances,for security concerns, please contact
the company in advance and hold the company's written recognition:

1 #EE LIEERBUMNEHRNRE TERREZMNMER.

2ERTRETE. 8%, fiZ. ¥§F. EFfséA. AREKANE. BFRE®. E8UHEE. ENNAEESER
HEBOE., Z2NEE.

Mt ARMFAERANER, FIARERLEAERERNER.

1. To be used in the conditions and environment that hasn® t been recorded in the catalog.

2. Used in atomic energy, railways, aviation, vehicles, medical machinery, food and beverage machinery, entertainment equipment,
emergency cut—off circuit, press clutch and brake circuit, safety machine, etc.

3. It is expected to have a significant impact on people and property, especially in terms of security requirements.

01




In = Sz

RIGHT PNEUMATICS

B~ m/ HEEEEM

Publish product/common note

155 FA BIT A 13

Read before use

1% € Select

Bt A=
= H
Warning

1. B 1A #TE Confirm specifications

AHF BN G, RAGRSSES (SRERE ) BRAMIAT
H., EEAMBEEH”RABEER, SSESIHITHIERRY
WIR, WAEMEM, SRR NE,

ERERZ=S (EHEZ) UMRREN, R5XAFKR.

The products on this catalogue are designed for using in compressed air
systems(including vacuum systems).If the pressure and temperature excead
the range of product specification, will lead to poor pneumatic components or
damage, pls do not us. should refer to product specifications.

When using fluid besides compressed air(including vacuum),shall contact
with our company.

|

Z ¥ |nstallation

A

H
=5
Warning
1. X3E A Buser s guide
HIFMEIRFERERERGRBEENAFNER L, £RFRHF
ER. FERETF, TAMEBTER.

On the basis of reading and understanding the contents of the instructions,
then installation and use the product, In the meanwhile, keep the product in
good condition, so that we can use it at any time.

2 ﬁﬁﬁ‘céﬁ#' §J‘ETJMake sure to maintain space
ERREPAENNBESE, 3 p
Be sure to maintain the necessary space for inspection.

3., REFNERERL,

When installing,press the recommended torque to tighten the threads.

Ei & Piping

A

.
tfﬁi
Attention
1. B Z BT B T{EPiping before work
REFEA PRS2 ERMIIEIR, TIER, Re®E,

Should be fully blown or wash the tube at the end of cutting.cutting oil, dust and
soon

2. B H ¥ 58 77 £ sealing tape winding method

BEEMNEELERUEENGETATERERANARNE
HERRRANEEAE.

ERAZEEER, BOMAMARH1 52 REFESREHT,

Piping and pipe fittings are threaded. Do not allow piping threads and seal
taps to be mixed into piping.

When using a sealing tape, the front end or the threaded part should be left
with 1.5-2 pitch non-wound sealing tape.

£ iEGas source

Bt A=
= H
Warning

1. % F €47 FBAbout the warking medium
TIENMRAERR=ZS, EREEZSLMIRE, E5XARQFEKE.
X4 {5 R 9E P A B 7= R, T RE 3 A 6 L p AR R WA .
The working medium is compressed air.Use fluid besides compressed air,pls
contact with our company.
For fluids that use a common fluid.the fluid that may be used should be
confirmed by our company.

2. l@ﬁ?k % B(]ﬁﬁ‘(:ondensed water and more occasions

EEZ=SHEARSEK, SERSHTENEFR, NES
SHBEZMEESSTREMNAABES.

Compressed air containing a lot of condensate, will cause pneumatic
components not work well, air filters shall be installed before the air dryer
and condensate collector.

3 l@ﬁ 7}( mﬁ?ﬁﬁECondensate discharge management

—BEigfil =S RN ae Rk, ARkEREHOMN, BY

ST ETR,
HRSBARMBEETEERAENGS, EERATESHIANEST

me.
géfﬁﬁwﬁl%ﬁﬂﬁx,ﬂﬁﬁ&&ﬁ%ﬁﬁﬁﬁ%ﬁ%%

Once the condensed water in the air filter is forgotten, the condensate will
flow to the outlet side, causing the pneumatic components to malfunction.
Discharge of condensate management work difficult situation, hope to use
automatic drainage with air filter.

For details of the quality of compressed air, pls refer to our company’ s
compressed air purification system.

2 *?Eﬁﬁg%bcut compressed air

EE=St, E4FLSER. SFENENNEMRM. B9, B
MESES, SSBSHTHENEFRRLIRE, HAEEM.

In compressed air, if it is containing chemicals, organic solvents synthetic oil,
salts, corrosive gases, efc. it may cause malfunction or damage to pneumatic
components. pls do not use.

{& F§ ¥R 18 Operation environment

el =)
= H
Warning

1. FERTFHEEMESE. HEHR. Bk, KEKFEEHIREFIUME

ik B AR AT
1.Do not use in places with corrosive gases, chemicals, seawater, water and
water vapor orin places where the above substances are listed.

. BXESMFR, BIEWAX.

Direct sunlight should not be allowed

3. TERFFERIp & HIFAT

Do not use in the place which will create vibration or shocks

FERTHAEGAR. ZIESAMIGHN.

Do not use hot places around the Radiant heat

ﬁ%ﬁﬁﬁl\daintenance

A

CHEPREH, MRERRAENSRET

Warmng

For maintenance, follow the steps in the instruction manual.

—BERKIR, SHTEMEENINETRIRE,

Once used in errors,will lead to the operation of components and devices bad
or damaged.

. 4P T {EMaintenance work

EH=S—BEAKELERMY. ZHET~RMARE., Bl ERD
Hip%ip TIES, HEFTREANSHTHAENMIRMERE
Once the compressed air is used in errors, it is dangerous. Be comply with
products specifications. The work of replace the filter element and other
maintenance, pls carry on after having sufficient knowledge and experience in
pneumatic components.

. % Bk HE flcondensate discharge

SSRGS SR EERH,

Air filters, etc shall discharge the condensate in regular time.

. HE1Z 57 B9 4R FEMaintenance before maintenance

HTmzer, »mEER, SIEMS, HREREFANESS
], FRASRTFASRE.
Before removing the product, the power must be switched off, the air supply

stopped, the compressed air from the piping has run out of all, and confirm it
has in air situation.

. H &R R T1EThe work after maintenance

=3, B2, puslE, BESEMBIR, #TEHMVEREMR
SkE, ERLERSANTHHERES, WAEER, —EE
WMINZEEMEBER.

Installation, repair, transformation, access to air and power, check the
appropriate function and leak. If you hear a leak or component action is not
normal, do not use. Be sure to confirm that the installation is correct before
use.

L RIESBMBE T ARBS .

Itis forbidden to decompose and modify the component body part.

02




F Al

]

PNEUMATICS
RIGHT PNEUMATICS MANUFACTURE EXPERT
. 3 . 5
\ Unit conversion table
(3 Il B 25 ) R (L R BT A S| BB A7)
(American and imperial units converted into Sl units) -
KR EREL BB
Length unit Area unit Volume unit
1in = 254 mm 1in? = 6.45 cm? 1 litre = 0.001 m*
1f = 03048 m 1ft? = 0.093 m? 1 culft = 0.0283 m®
1 mile = 16093 m 1 cuin. = 16.39 cm?®
1 micron = 10° m EHELL 1 gal(imp) = 4.546 L
Pressure unit 1 gal(us) = 379 L
JRE L 1 psi - 689  kPa 1 fluid oz(imp) = 28.41 mlL
Mass unit 1 kgflem? = 9807 kPa 1 fluidoz.(us) = 29.57 mL
11b = 4536 ¢ 1 bar = 100 kPa
1 cwt = 508 kg 1 bar = 145 psi j] -%-13‘!‘_
1 ton(imp) = 1016 kg 1 atmosphere = 981 kPa Force unit
1 ton{us) = 9072 kg 1" (STANDARD) = 101.33 kPa 1 Ibf = 445 N
1 tonne = 1000 kg 1 cm water = 97.89 Pa 1 kgf = 9.81 N
1 in water = 24864 Pa 1 kp(kilopond) = 9.81 N
j]ﬁ$1i 1 mmmercury = 1333 Pa 1 poundal = 1383 mN
Torque unit 1 in mercury = 339 kPa
1 in-lb = 013 Nm 1 Torr = 1333 Pa
1 ftlb = 1.356 N-m 1 ft water = 0.0298 bar ﬂ]ﬁ*ﬁ(ﬂ]/ﬁr
i J18])
1 kgm = 9807 Nm 1 bar = 3333 ftwater Power unit(power/time)
1 ft: dal = 0.0421 N
e i 1lbfisec = 1356 W
IR EEfR AL 1kgmisec = 9.807 W
;‘RE_*{E Power and energy unit 1N-mfsec = 1 w
Temperature unit 11bft = 1.356 J 1Joule/sec = 1 W
(F-32)x589 = °C INm =1 J 1HP(imp) = 7457 W
K—273.15 = € 1kgm =9.807 J
1 kW:hr = 3.6 MJ
LR Flow - H"E
2 : o " ; o s Unit Abbreviation
CviE =/ki#EEB(US gal/min), £ 60'FF, HEEEHpsiti@IIMASHMEREME.
kvl = ki & (L/min). #£20CTF, R&EEEM kglcm WEATTMHASHMREER. Pascal Pa
KV1{g = kit ®(mY/min), E20CTF, ML EEH 1kgflcm B E AT HAOREEE.
S.T.P=i7#iREREN Newton N
(0C & 101.3kPa @3t E4) meter m
N.T.P=ERBREREN
(20°C % 101.3kpa # ¥ E ) litre: L
M.S.C=AHItR#ERR
(15 B 101.3kPa @7t 7) WAt W
ANR=iRE: 20 CRABXHRE : 65%, ENAHASENO. IMPaks St e i
CV value= water flow(US gal/min). Under 60f, flow customization through a valve with a differential pressure of 1psi.
kv value= water flow(L/min}. Under 20c, flow customization through a valve with a differential pressure of 1psi. Joule J
KV value= water flow(m*min). Under 20c, flow customization through a valve with a differential pressure of 1psi.
S.T.P= Standard temperature and pressure (0C and 101.3kpa absolute pressure) Megajoule MJ
N.T.P= Normal temperature and pressure (20C and 101.3kpa absolute pressure) .
M.S.C= Metric standard conditions (15 and 101.3kpa absolute pressure) Kelvin K
ANR=temperature:20C and Relative humidity:65%, The state of 0.1MPa at atmospheric pressure

Z{E## Equivalent conversion

1
1
1
i
1
1
1
1
1

psi = 6.895 kPa = 0.07 kgffem?= 0.06895 bar = 0.0703 atm
standard atmosphere = 14.7 psi = 101.3 kPa = 1.01325 bar

kgficm? = 98.07 kPa = 0.09807MPa = 14.22 psi = 28.96 ins mercury
ftlb = 0.13826 kgf-m = 1.356 N-m

L = 1000 cm®*= 1.7598 pint = 10° mm?

tonne = 1000 kg = 0.984 ton = 2205 |b

m* = 10° cm?

cu ft/min. = 0.0283 m*min = 28.3 I/min

Pa = 1 N/m?

03




=S

PNEUMATICS
RIGHT PNEUMATIC MANUFACTURE EXPERT
SEHERHNTERE
Calculation method of cylinder theoretical output
= P X A
[ [ |
SELR i H F1(kgf) J Iﬂsﬁmkgncm?p} {?ﬁ!ﬁﬁﬁﬂ{cm“)
heoretical output of cylinde Working prassure Piston compression area
— FiEM -—F2 M
Al A2 Lataral Al L‘— Pu;(lside
R pressura
K ICylinder I T I |
THE S (Mpa )
=nHE HEFINE IR FEMmR wominupra(ssfrs)
Cylinder bore Piston rod Action pattern " tam?) oA
outer diameter 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
- Lateral 2.01 2.01 4.02 6.03 8.04 10.05 | 12.06 | 14.07 ? -
pressure
16 6 Dm%le acting s
B 1.81 1.81 3.62 5.43 7.24 9.05 10.86 | 12.67 - -
=
— Laterst 3.14 3.14 6.28 9.42 12.56 | 1570 | 18.84 | 2198 | 2512 | 2828
20 8 Double acting I
plam 2.64 2.64 5.28 7.92 10.56 = 13.20 | 15.84 | 18.48 | 21.12 | 23.76
&
Lateral 4.90 4.90 9.80 14.70 | 19.60 | 24,50 | 29.40 | 3430 | 39.20 | 44.10
25 10 Dosbieating. [ e
ol 412 4.12 8.24 12.36 | 16.48 | 2080 | 2472 | 28.84 | 32.96 | 37.08
& W
Lateral 8.04 8.04 | 16.08 & 2421 | 3216 | 4020 @ 4824 5628 | 64.32 | 72.36
32 12 Double acting .
Fl‘]ﬁﬂ,e 6.09 6.09 | 13.80 | 2070 | 27.60 | 3450 | 4140 | 4830 | 5520 | 62.10
&
Lateral 12.56 12.56 | 2512 | 37.68 | 50.24 | 62.80 @ 7536 & 87.92 | 100.24 | 113.04
40 16 Double acting Dfﬂss‘-llfe
o 10.55 10.55 | 2110 | 3165 | 4220 | 5275 | 63.30 | 73.85 | 84.40 @ 94.95
=
Lateral 19.63 19.63 | 39.26 & 58.89 | 7852 | 9815 | 117.78 | 137.41 | 157.04 | 176.67
Eﬁ]& pressure
50 20 Double acting '
oo 16.49 16.49 | 32.98 | 49.47 | 65.96 & 8245 | 98.94 | 11543 | 139.92 | 148.41
1] :
hwat 31.17 3117 | 6234 | 9351 | 124.68 15585 @ 187.02 | 218.19 | 249.38  280.53
r 3]
63 20 33 -
Fioubls Ak plam 28.03 28.03 | 56.06 = 84.09 | 112.12 | 140.15 @ 168.18 | 196.21 | 224.24 | 252.27
i
Lol 50.26 50.26 | 100.52 | 150.78 | 201.04 @ 251,30  301.56 | 351.82 | 402.08 452.34
ressuri
80 25 EhE
Double acting Jam 45.36 4536 | 90.72 | 136.08 | 181.44 | 22680 | 27216 | 317.82 | 362.88 | 408.24
E W [
Lateral 78.53 78.53 | 157.06 | 235.59 | 314.12 | 392.65 @ 417.18 | 549.71 | 628.24 | T06.77
100 25 !ﬁ]ﬁ pressure |
panimley. | LMW 71.47 7147 | 142.94 | 214.41 | 282.88 | 357.35 | 428.82 | 500.29 | 571.76 | 643.23
&
Lateral 122.72 122.72 | 245.44 | 368.16 | 490.88 | 613.60 & 736.32 | 859.04 | 981.76 | 1104.48
125 322 gaa R
fopient | NOW. 114.68 114.68 | 229.36 | 344.04 | 458.72 | 537.40 | 688.08 | 802.76 | 917.44 | 1032.12
E MW [
Lateral 201.06 201.06 | 402.12 | 603.18 | 804.24 | 1005.30  1206.36  1407.42 | 1608.48  1808.54
160 40 !ﬂ]& pressure
Dotible arting Piﬁg‘?jg 188.49 188.49 | 376.98 | 56547 | 753.96 | 942.45 | 1130.94 | 1319.43 | 1507.92 | 1696.41
wh :
Lateral 314.16 314.16 | 62832  924.48 | 1256.64  1570.80  1884.96  2199.12 | 2513.28  2827.44
200 40 sum pressure |
Doubisaeting Pjﬁg}?ja 301.57 301.57 | 603.14 | 904.71 | 1206.28 | 1507.85 | 1809.42 | 2110.99 | 2412.56 | 2714.13
] '
P Lakora) 490,87 490.87 | 918.74 | 1472.61 | 1963.48 | 2454.35 | 2945.22 | 3426.09 | 3926.96 | 4417.83
250 50 Double acting Lu. T -1
ol 471.24 471.24 | 942.48 | 141375 | 1884.96 | 2356.20 | 2827.44 | 329868 | 3769.92 | 4241.16
i
p—— Lateral 804.25 804.25 | 160B.50  2412.75 | 3217.00 | 4021.25 482550 5629.75 | 6434.00  7238.25
320 60 Double asting prossae 1 1 | 1
ol 775.98 775.98 | 1551.96 | 2327.94 | 3103.92 | 3879.90 | 4655.88 | 5431.86 | 6207.84 | 6983.82 |

04



Tl

m
x
(1]
o
=
(9}
@

0
=

o
=
9]
>

ZS Standard cylinder

B2 #0 A< 6] 3 BE T 5t 1F 9 IF F allowed at v D #BTorques
ZSiRRSE Vods | Thresdsze | Custonmoleron [STETETRREAT I AR | TEnSTRET [t [ et
18 M5 % 0.8 15 80 40 20 1 3 3
: 25 G1/8 18 155 90 40 2 13 13
F‘—‘—‘?f‘% 32 G1/8 24 280 155 70 35 |25 |25
_— 40 G1/4 34 500 290 125 55 | 40 | 40
50 G1/4 40 790 420 195 10 | 65 65
63 G3/8 49 1500 850 370 16 | 100 | 100
ZK Standard cylinder short = e 1a B A [E 3 E T /1T HI FIF F allowed atv N ¥ETorques
ZKER S Model Thread size Cushioning langth g-jmfj%%f;s g:ﬁﬁajg?ﬁwﬁs Qﬁgf;ﬁit?ﬂs Mx(Nm) | Wyinim) | Mzinm)
18 M5 x0.8 15 40 25 10 a4 |y | 17
25 G1/8 18 90 50 25 a7 [y ||la3
32 G1/8 24 200 110 45 1.0 | 5.0 | 5.0
40 G1/4 34 420 240 110 20 | 85 | 85
50 G1/4 40 750 440 190 35 | 130 130
63 G3/8 49 1500 850 380 5.0 | 18.0| 18.0
ZP Parallel cylinder we | sgen B A T LRI AIF Fallowed atv H%ETorques
ZPF AL Modk | Thesdsze | cusonmglenon [STETEFRREAT Ju R | 1L AR i [y | e
25 G1/8 18 300 175 75 16 | 27 27
32 G1/8 24 540 300 130 29 | 52 52
40 G1/4 34 1090 620 280 55 | 88 88
50 G1/4 40 1760 1000 450 90 | 155 | 155
63 G3/8 49 2900 1660 720 148 | 260 | 260
ZF/ZFU Guiding cylinder with external carriage
ZFIZFUER /MmN S 5 me sEuriE i B AEEE T £ IFRIDF Fallowed atv D #ETorques
Madel Thread size Cushioning length F"éﬁmﬂ{%ﬁ?ﬂs F‘gl‘ﬁejgﬁﬂa ;;:E;g‘f?ﬂﬁa Mx(Nm) | Wy(Nm) | Mz{Nm)
- 18 M5 % 0.8 15 100 58 26 35 | 6 6
) s "" ﬁ 25 G1/8 18 280 160 85 10 | 20 20
F’ 1 I 32 G1/8 24 510 300 140 25 | 45 45
= = 40 G1/4 34 1000 550 250 40 | 75 75
50 G1/4 40 1500 850 380 80 | 150 | 150
63 G3/8 49 2500 1400 610 110 | 250 | 250
ZFK Guiding cylinder short with external carriage
ZFKEEE/ AN S s me | @gEn B b 7 [5] 35 BE T 42 ¥ I AIF Fallowed at v F % Torques
18 M5 x 0.8 15 50 30 12 1.8 | 1.8 | 1.8
§F " == 25 G1/8 18 100 60 30 4 4 4
F 1; R 32 G1/8 24 250 135 65 10 | 10 | 10
o g— 40 G1/4 34 480 280 140 16 | 16 16
50 Gi/4 40 800 480 220 30 | 30 30
63 G3/8 49 1500 950 400 45 | 45 45
ZS8 Guiding cylinder with external ball bearing guide
ZSSEIMEIMF M EIRMASH =) ) 3 £ S5 280 E f Load rating per carriage H14ETorques
Model Thread size Cushiening length Cdyn (N) CO (N) Mx{Nm) | Myi{Nm) | Mz{Nm)
18 M5 x0.8 15 3810 5590 87 | 22
25 G1/8 18 8350 16300 170 | 154 | 130
32 G1/8 24 11700 23500 320 | 266 | 222
40 G1/4 34 18800 36500 572 | 516 | 434
50 G1/4 40 28800 55000 1040, 870 | 730
63 G3/8 49 28800 55000 1040, 870 | 730
ZFF Guiding cylinder with 2 external carriages
ZFFSRE/ER I E SRR Be EarEn e 7~ [5) 358 BE T 52 VF R A1F F allowed at v D HETorques
Madel Thread size Cushioning length F"Qmﬁ{%ﬁ?ﬂa ;;ﬁ:ﬂﬂfﬁ% Qj{:ﬂﬁ?ﬂsﬂnﬂ Mx(Nm) | Ky(Nm) | Mz(Nm)
g 18 M5 x 0.8 15 150 80 31 52 |9 9
%= — 25 G1/8 18 420 210 80 15 | 30 30
E 1 : 32 G1/8 24 750 400 170 37 |67 | 67
40 G1/4 34 1500 750 300 60 | 110 | 110
50 G1/4 40 2200 1150 460 120 | 220 | 220
63 G3/8 49 3700 1900 740 170 | 370 | 370

05




RIHE=Sa

RIGHT PNEUMATIC

ZK+Standard cyliner short with broad yoke head

ZK+FR i e B il AT
E—— e | @gEn 2 e i A [6] 3 [ T 5t ¥F B9 FIF F allowed atv H14ETorques
25 G1/8 18 55 28 2.5 3.3 3.3
40 G1/8 34 260 125 8 12 12
ZS+Standard cylinder with broad yoke head m
ZS+HiRES A RiEEM L x
’ b:(E=3 @ erEn] B AFHEE T & FHIFIF F allowed at v i ¥ETorques @
Madel Thread size Cushioning length | 0.7Sm/s FRFMD [ ImsTFRIFMD | 1.5misFiLiFeHh M(Nm) My(Nm} ,Q m
— = F allowed at 0.75m/s| F allowedatim/s | F allowed at 1.5m/s e
f. 25 G1/8 18 120 50 5 16 16 o ?T
40 G1/8 34 400 175 20 55 55 o
P
ZKS Guiding cylinder short with external ball bearing guide = J.C
b 3 0 : o
ZKSEifi 8 &AE SN FE R MR T80 ma warEn 42 h it & S 4 22 1% E 2 fiiLoad rating per carriage H1 % Torques 3 {¢
Modal Thread size Cushioning length Cdyn (N) CO (N) Mx(Nm) | My(Nm) | Mz{Nm) o
18 M5x0.8 15 3810 5590 43 11 11 =
25 G1/8 18 8350 16300 85 | 77 65
32 G1/8 24 11700 23500 160 | 133 | 111
40 G1/4 34 18800 36500 286 | 258 | 217
50 G1/4 40 28800 55000 520 | 435 | 365
63 G3/8 49 28800 55000 520 | 435 | 365
t inder ri BT -
Casdbehihs MR i ne [E8lggpn) HEGE [zereary| TEAKE [ gems | BAES
SC%E?'J&R{E%H Model siza Thread size el Piston port size AREANEAFIAE Model prassure
= FA-BiE2
Sc32 | 32 G1/8 25-1000 M10x1.25 ExiMn SC-S:tRite
SC40 | 40 Gi/4 25~1000 M12x1.25 CA-BME SCD: WA
SC50 |50 | Gi/4 25-1000 | M16x1.5 & prindiy oo
SCe3 |63 | Gars 25-1000 Mi6x1.5 bl i SC-S:With magnet
SC80 | 80 G3/8 25~1000 M20x 1.5 TC- M 2335’5:;5,;?
SC100 | 100 | G172 25-1000 | M20x1.5 FB_ranrfange e | USiee
sci2s 125 Gi/2 25-1000 M27 x 2 Chna cieve. | SCT:Multiposition
SC160 | 160 | G1/2 25-1000 M36 x 2 N ekl e
SC200 | 200 | G3/4 25-1000 M36 x 2 =1 joint
TC-center
SC250 | 250 | G3/4 25-1000 M42 x 2 trunnion
Standard cylinder SU series fAEES IRAEITRR |5 +| A% A W ERER
== yb gﬂﬁ- Bore gﬂ&m Standard stroke E?Fmggﬁ_}- Available ﬂﬁﬁﬁﬂ' Operating
SU%@J&R;& _‘ﬁ Model i Thread size it iston port size Model pressure
Su32 | 32 G1/8 25~1000 M10x1.25 ChgEi
SuU40 | 40 Gi/4 25-1000 Mi2x1.25 Ei—:sf;%
SUs0 |50 | G1/4 25-1000 M16x 1.5 CH-WBH SU-S- Bttt
Sus3 | 63 G3/8 25~1000 M16x1.5 f?«gﬁg gungggﬁﬁﬁ
= [ £ UJ: L3R 0.1-0.9Mpa
suso | 80 G3/8 25-1000 M20x1.5 FA et fange SU-S:With magnet p
suU100 | 100 | G1/2 25-1000 M20x 1.5 FB-rear flange SUD:Double rod
CA-single clavis SUJ:Double rod
SU125 | 125 | G1/2 25~1000 M27 x 2 CB-double clevis i
LB-faot bracket adjustable
SuU160 | 160 | G1/2 25-1000 M36 x 2 Y=Y joint
sU200 | 200 | G3/a 25-1000 M36 x 2 e
Standard cylinder Sl series FAR S FRAEATER +|  AIiE A M 7 EREN
i L ,j.lﬂﬁ Bora #ﬂdﬁn Standard stroke ﬁ%mﬂn%?sﬁ_r Available ;’E%‘iﬂlﬁ. Operating
SIZFRESE il siry | NmadEzE mm P accessories ode| prassure
Si132 | 32 G1/8 25-~1000 M10x1.25 EAis
e -BE :
Sl40 | 40 G1/4 25-1000 Mi2x1.25 Ga-Ran SI-5-HEkE
SI50 | 50 G1/4 25~1000 M16x 1.5 LB-TEH SID: WA
YoviEd SIJ: RN AT i R
Si63 | 63 G3/8 25~1000 M16x15 Lms
sigo | 80 G3/8 25-1000 M20x1.5 - g:Bsémth;a%net 0.1~0.9Mpa
Pk el it : ble ro
SI1o0 | 100 | G1/2 25~1000 M20x 1.5 i A S10:Double rod
Si125 | 125 | G1/2 25~1000 M27 x 2 CB-double clevis adjustable
LB—foot bracket
Sl60 | 160 | G1/2 25-1000 M36 x 2 Y-Yjom
S1200 | 200 | G3/4 25-1000 M36 x 2 TC ok s
Standard cylinder MBB series 47 kTR 1 A Bt ERED
i ik =gz g mEFEGRS W # RERS :
MBBZ 4R /ESED Moﬂi Efzr: Thread size Slanda":f“slroka Piston port size a:::;’:;'.lzs Mod al? Op?:;::::)eg
MBB32 |32 | G1/8 25-1000 M10x1.25 gl mgfgﬁ%ﬁ W
e MBB40 [ 40 [ G1/4 25-1000 M14x1.5 Coman MBF Fr{pis =8
e MBB50 | 50 | G1/4 25-1000 M18x15 béi;%ﬁ* Mm:ﬁé% T
X L MBD:L 1~0.9Mpa
MBB63 | 63 G3/8 25~1000 Mi8x15 L T— MDBE-With magnet
MBBB80 | 80 G3/8 25-1000 M22x 15 FR-rpararge MBL:Footstand type
5 GB-double chevis MBF:Flange type
MBB100| 100 | G1/2 25-1000 M26 x 1.5 B e MBC:Single earing
MBB125| 125 | G1/2 25~1000 M27 x 1.2 Yo MBD:Double earing

06



RIHESS auses

RIGHT PNEUMATICS MANUFACTURE

Standard cylinder DNC series = o 4 3 HREAH
s we (0% ggen WETE Emgggrs| TERME WAERE :
DNCEIItRESE Model Els?zr: Thread size| Standamrﬁ]stmke / Piston port size Available Model Op?:srg:::?
DNC32 |32 | G 25-1000 M10 x 1.25
DNC40 | 40 | G1/4 25-1000 M12 x 1,25 g:ggﬁ&ﬁ
DNC50 |50 | G1/4 25-1000 M16x 1.5 ONCIRHTAE |9 1.0 oMpa
DNC63 | 63 | Gas 25-1000 M16x15 - TR IS y o
o -S: magne
- DNCB0 | 80 G3/8 25~1000 M20 x 1.5 Eg'_";:;"h":z:‘s DNCD:Double rod
¢ DNC100| 100 | G1/2 25-1000 M20 x 1.5 Ce-gasecess | DNCJ:Double rod
o DNC125| 125 | G1/2 25-1000 | M27x2 Vot adjustable
m =8 Standard cylinder DSBC series = | #E kTE | T F ERED
= & i lh Lofogcqm) EEFEGRS| W RERS i
?T (0l DSBCRIIIRAESHE Model | Bare |Threadsize Standard stroke | Tpigon port size Sl iodel ~ She g
=12 D p DSBC32 |32 | G1/8 25-1000 M10x 1.25 E BB
j'c'g - % DsBc40 |40 | G1/4 25-1000 M12x 1.25 55;1;55 gg%gﬁﬁ;ﬁg
= ) e DSBCS0 | 50 | G1/4 25-1000 M16x 15 F’uii* DSBCISMTRE | 1_0 gMpa
{q: 3 ’ = DSBC63 | 63 | G3i8 25-1000 M16x 15 N e |DSBC- B magrel '
o® DSBC80 | 80 | Ga/8 25~1000 M20x 1.5 Feeartane | DSBCD:Double rod
= DSBC100 100 | G1/2 | 251000 | M20x15 C8 e dove B
DSBC125 125 | G1/2 25-1000 M27 x 2 G
Standard cylinder QGB series me |88 |ggen| WEGR |mmpegr< TRANE e ERED
QGBEIfrESE Model E?;: Thread size| Stand?;tr‘]nslmka Piston port size a:::ﬁ'{:nblri:s Model %E:;:::Pf
QGB63 | 63 | G3/8 25-1000 MIBx15 | mergisest
MF2:. Sk =
ggaso 80 | Gae 25-1000 M20 x 1.5 s B
1 100 1 25-~100 ;e 2.
B100 G1/2 5-1000 M20x15 | MeziRBx -
QGB125| 125 | G1/2 25-1000 M27 x 2 MT4:ch B0 GOA L 5
Pl QGBZ RS
QGB160| 160 | G3/4 25-1000 M36 x 2 5o QGBWih buie:  0-1~0.9Mpa
QGB200| 200 | G3/4 25-1000 M36 x 2 MP4:Endingsingle | GQA:Without buffer
earring QGBZ:Heavy typa
QGB250| 250 | G3/4 25-1000 M42 x 2 MP2:Ending double
QGB320| 320 | G3/4 25-1000 M48 x 2 o
QGB400| 400 | G1 25-1000 M56 x 4 MT4:Dowel type
Standard cylinder CA2 series me |[LflpagEn FETE |mmsegr| TEANRE RaEms EREA
CA2 %35S4 _ Modal E;ﬁz': Thread size| Standar;&:nslloke Piston port size a:::;{:;lizs Model OD‘::;::J'PEQ
caz240 |40 | G1/4 25-1000 M14x1.5 R —
CA250 |50 | G3/8 25-1000 M18x 1.5 et Ny CIWRAE
CA263 | 63 | G3/8 25-1000 M18x1.5 Hin cazanonmayes | 0.1-0.9Mpa
CA280 |80 | G1/2 | 25-1000 M22x 1.5 oLy Camek
caz100 | 100 G1/2 25-1000 M26 x 1.5
Standard cylinder CAlseries me |HRlggen WETE |[smfegR| THRANE P ERED
CA1 ZHS45 Model Einz': Thread size| Stendar;::nslmke Pistan port size a::;?;li:s Model OPE:;ELI:'EQ
CA140 |40 | G1/4 25-1000 M14x1.5 e .
CA150 |50 | Gais 25~1000 M18x 1.5 et TR CATW NS
- CA163 | 63 | G3/8 25-1000 M18x 1.5 B cumator-wuos | 0,1-0.9Mpa
CA180 |80 | Gi1/2 25~1000 M22x 1.5 ey CBA Wi ek
cA1100 | 100 Gi/2 25~1000 M26 x 1.5
Slim cylinder DSNU series me &4z P FESE kAW | pame %pﬁ%gj]
DSNU ;‘E @J 7[; %m ﬂs'fﬂ! % H Model E:’z': Thread size Stand Er:‘r’ns"o ke a}c‘::aﬂ::rlizs Model pf:;gu:'eg
. DSNU8 8 M5x0.8 10~300 Fa-siz s
e DSNU10 10 M5x0.8 10-300 Ié%;%‘é:gﬁg T
B ot DSNU12 12 M5x 0.8 10-300 Lo i
‘Q—»’ DSNU16 16 M5x0.8 10-300 E?;Bn:?‘:xm EBNU:Single acting 0.1-0.9Mpa
DSNU20 20 G1/8 10-300 ikt
DSNU25 25 G1/8 10-300
Slim cylinder C85 series aiE TR % EREN
ne waEn) T mEAFEGR| TERAME REHE
CB5F I A FE M RS L B Woda! Bore IThreadsize| Standard strake | Tpistan por size e Model s
C8508 | 8 |M5x0.8| 5-100 M4 x0.7 o _
C8510 | 10 |M5x0.8|  5-100 M4x0.7 Ewma Caow
Yviga CB5-5:H 38 H(H )
C8512 | 12 |[M5x0.8| 5-200 M6 x 1 s CisTHAREM  |0.1-0.9Mpal
C8516 | 16 [M5x0.8] 5-200 M6 x 1 L ecucis OD8:Wih magnet |
c8520 | 20 | G1/8 25-300 M8 x 1.25 bl Ca5-8:Front siing
—T:Rear spring
c8525 | 25 | G1/8 25-300 M10x1.25
Slim cylinder CM2B series me |HRlegen HAFE |Fmsegrs| THEAmE —— EREH
CM2B&# S A EW RS 5L Modei Ei"z’: Thread size Sta"d?‘:ﬁ‘s"‘:‘k’ Piston port size Avallable Maodal c;?:;:ﬂ:‘eg
_ " CM2B20 | 20 | G1/8 25-200 M8x1.25 frpazax i
= % S06-RRE S :
CM2B25 | 25 | G1/8 25-300 M103x1.25 ECD S THuAS®  (0.1-0.9Mpal
CM2B32 |32 | G1/8 25-300 M10x1.25 Eiiam ol v mage
CM2B40 | 40 | Gi/4 25-300 M12x1.25 L oot

07




IS Sz

PNEUMATICS
RIGHT PNEUMATICS MANUFACTURE EXPERT
Slim cylinder CJ2 series we E&Iﬂﬁt&!ﬂ =TT ERWG R kAN T WAEA
CI2R SR FMERSE Model | BO%® [Tireadsize| Stendard stroke | ™ piston port size et Model Coarsting
CJ206 | 6 |M5x0.8 5-60 M3x0.5 e Couzn it
ey el
cJ210 | 10 [M5x0.8 5-60 M4 x0.7 FAtonttange Sazmimmionst | 01-0.7Mpa
cJ216 | 16 |[M5x0.8|  5-125 M5 x0.8 Al Gl o ey
Slim cylinder CJ1 series 5742 kTR HHEH
‘ g3 REFRGRY | DS _
CHEIFERN fﬁﬂ'{%ﬁ Modal gicz': Thread size Stand?‘:ﬂ‘stmks ! Piston port size Modal Op?:;:t::!g
T CJ125 |2.5|4x2.5PU Tub 5,10 CJISBHIE R (i) 0.1-0.7/M
‘t'ﬁ/ : : i L8 J imm CJ1SB:Front spring AR s pa
Slim cylinder MAL series e |8%|lggen = EEITEG RG] A ReEme HERED
MALZ SRS RIS E Model E;iazr: Thread size Stsn:ls"T“slroka Piston port size a:::s?:cblli:s Model Dpp::;;lj:‘!eg
MAL16 | 16 |M5x0.8 25-300 M6 x 1 foome MALD A
= ', MAL20 | 20 | G1/8 25-300 M8 x 1.25 SDB-EREER |
: ' MAL25 | 25 | G1/8 25-300 M10x1.25 o e o 0.1-0.9Mpa
MAL32 | 32 | G1/8 25-300 M10x1.25 FA-fontfiange | AL meoret
LB—foot bracket MALJDouble rod
MAL40 | 40 | G1/4 25-300 M12x1.25 SDB-Footstool | sl
MALS0 | 50 | G1/4 25-300 Midx 1.5 tjot. MTALRear cpring
Slim cylinder MA series 52 s F B HEEREED
me |2 legen EEFRGRS| TR AR S .
MA ;ﬂ ‘}-lj JF ﬁ ﬂ ;‘Q‘E ﬂ'{ﬁﬁ[ Mud-fl Bs-.uz': Thread size Standar;::"slmke Piston port size a:::;l:;liaea Maode| Dprp:;:ll:;’\eg
-3t
MA16 | 16 |M5x0.8] 25-300 M6 x 1 S—— Moo s
MA20 | 20 | G1/8 25-300 M8 x 1.25 LB~ TR Apge b S
- SDE-BREER | rawnsinim
- MA25 | 25 | G1/8 25-300 M10 x 1.25 Y-k NAC 35Tl
‘_aﬁ_’ MA32 | 32 | Gi/a 25-300 M10x 1.25 N e m;-ggx,%mw 0.1-0.9Mpa
: MA40 | 40 | G1/8 25-300 M12 x 1.25 Ltootbracket | L0 i rod
MAS0 | 50 | G1/4 25~300 M14x 1.5 Y-Ypiu MSAFrantaping
MA63 | 63 | G1/a 25-300 M14x1.5 i N e
Transition cylinder CG1 series = = 1T 5 F B WEEH
me |BE | ggen EEARER |TEAME| pems E
CG1&EMNERNEL Model Bsiaz': Thread size Standa"::.‘stroke ! Piston port size a:g:;':‘mis Modal %f:;:t;:‘ag
cG120 |20 G1/8 25-300 M8 x1.25 _—
CG125 |25 G1/8 25-300 M10x1.25 bt
B!
CG132 |32 G1/8 25-500 M10x1.25 | (ipes
CG140 |40 G1/8 25-800 M14x1.25 i CDG1B--Ma#ist | 0.1-0.9Mpa
CG150 |50 Gi/4 25-1000 Mi8x1.5 EQ'T;:.'T,?
CG163 |63 G1/4 25-1000 M18x1.5 ©8-soudl clevi
cG180 |80 G3/8 25-1000 M22x1.5 e
CG1100 | 100 G1/2 25-1000 M26x1.5
Compact cylinder SDA series 512 = o
wygn| FAETE zegegr wame | EAES
SDAR RIS 4T Model Bs?zl: Thread size Sta"di"ﬁ‘s""“ e port size Pls(t:rt‘?;\a%osrilzr:ale Model oplr,:sr::lll’:lsg
SDA12 |12 |M5x0.8 5-50 M3 x 0.5 M5 x 0.8
SDA16 |16 | M5x0.8 5-50 M3x0.5 M5 x 0.8 foa-s e
SDA20 |20 |M5x0.8 5-100 M4 x 0.7 M6 x 1 soiomum
SDA25 |25 |M5x0.8 5-100 M5 x 0.8 M8 x 1.25 SSAmER(nA)
SDA32 |32 | G1/8 5-100 M6 x 1 M10x1.25 ggiﬁ:sﬁ;lg | ——
sDA40 |40 | G1/8 5-100 M8 x 1.25 M14x1.5 %ﬁa“.s"fﬁ;’:ﬁ“ SR
i i
SDA50 |50 | G1/4 5-100 M10x 1.5 M18x 1.5 SDAJ Double rod
SDA63 |63 | G1/4 5-100 M10x1.5 M18x 1.5 SSFrontspong
SDAB0 |80 | Ga/s 5-100 Mi4x15 M22x 1.5 SRR
SDA100 [100| Ga/8 5-100 M18x 1.5 M26 x 1.5
Compact cylinder CQ2B series % =g ShF R WEEH
me ([lRggen EEFSQRT > RS _
CQ2B # 5 RS Model [B978 [Threadsize| Standard strake | “piston port size *| Fiston parl male Model Heie o
CQ2B12 |12 |[M5x0.8 5-100 M3 % 0.5 M5 x 0.8
DO2B: Y
CQ2B16 |16 |[M5x0.8 5~100 M4 x 0.7 M6 x 1 CQ28-5: 84 (58 E )
CQ2B20 (20 |M5x0.8 5-100 M5 x 0.8 MBx1.25 |cosovirmnan
CQ2B25 [25 [M5x0.8]  5-100 M6 x 1 MT0x1:85 |Soane o ;
cQeB32 (32 | G1/8 5-100 M8 x 1.25 Midx15 |CO2 Swmema 01-0:0Mps
CQ2B40 |40 | G1/8 5-100 M8 x 1.25 L
CcQ2B50 |50 | G1/4 5-100 M10x 1.5 M18x1.5 |
CQ2B63 (63 | G1/4 5-100 M10x 1.5 M18x 1.5
CQ2BBO |80 | G3/8 5-100 M16 x 2 M22 x 1.5
cQ28100]/100| Ga/8 5-100 M20x 2.5 M26 x 1.5
Slim cylinder CiPD series(Double action) ne 'EE BaEn Stﬁfﬁ?&ke EEAFEG R %g%ﬂ?
CJPDE |48 40 —‘H[ﬂ {E m) Model i Thread size Ll Piston port size presaure
ﬁ CJPD6 6 M5 x 0.8 5,10,15,20 M3 x 0.5
M CJPD10 10 M5 x 0.8 5,10,15,20,25,30 M4 x 0.7 0.1-0.7Mpa
' CJPD15 15 M5 x 0.8 5,10,15,20,25,30 M5 x 0.8

A
T
JT
%+

[Tl
x
o
0
S
o
o
e
=
O
3
o
3

08



s e o
R“-l RS =aHEER
RIGHT PNEUMATICS F'NEUM%TICS

Slim cylinder CJPB series(single action) | m= i};& e Sﬁﬁﬁ&ﬂ EEAEGRT Eé?rglinﬁ
CJPB 31/ 4 S &1 (%1% ) Mode! e Thread size o sk pon ey prassure.
s CJPBB 6 M5x0.8 5,10,15 M3x0.5
w .u CJPB10 | 10 M5x0.8 5,10,15 M4x0.7 0.1-0 7Mpa
CJPB15 15 M5x0.8 5,10,15 M5<0.8
Compact cylinder CQSB series me |68 | ggen | FETE |mesaErd| SMFRT Raeme | BAEA
il CQSB &7 %ﬂqﬂ Modal Eﬂ': Thread size Stand::;stroks Piston port size Plsm?:apuogzrgala Model %?:;g}:?eu
$ e = cQsei2 | 12 M5 x 0.8 5-30 M3 x 0.5 M5 x 0.8 CoOSBHEM
Q ﬂa CQSB16| 16 | M5x0.8 5-30 M4 x 0.7 M6 x 1 Sy | .10 Shiow
= casB20 | 20 M5 x 0.8 5-50 M5 x 0.8 MERTZE | e [
CQSB25 | 25 | M5x0.8 5-50 M8 x 1 M10x1.25 | Cossthemame
o
¥sil Compactcylinder ADVU series me | HE O | FRETE |=mrnErt| MHMERS D] EREAN
A AovVURAESDS oam | Sore | THERE | sundaobunke| BRI O | Postnponmae|  FEEES | opeming
o ADVU12 | 12 M5x 0.8 1-400 M3 M6 x 1
g ADVU16 | 16 M5x0.8 1-400 M4 M8 x 1
s ADVU20 | 20 M5 x 0.8 1-400 M5 M10x1.25
= ADVU25 | 25 M5 x 0.8 1~400 M5 M10x1.25 |aovusm
ADVU32 | 32 G1/8 1-400 M6 MIOx .25 [aes o maai e
ADVLU:Bastic type =00 a
ADVU40 | 40 G1/8 1-400 M6 Hiox 136 |aovicesew P
ADVUS0 | 50 G1/8 1-400 M8 M12x1.25 sping type
ADVUI-52:Double rod)
ADVUB3 | 63 G1/8 1-400 [E] M12x1.25
ADVUBO | 80 G1/8 1-400 M10 M16x 1.5
ADVU100 | 100 G1/4 1-400 M12 M20x 1.5
ADVU125 125 G1/4 1-400 M16 M20 x 2
Free—-mount cylinder CU series e iz RETRE o FERED
5 Lo Fog: Jul BEFEQR RER
CUZEF gﬁﬁﬁ %E‘ﬁ[ Model 3?;: Thread size Sland?;snstrnks Piston port size Modelq Op?:sr:ﬂ:\eg
] CU6 6 M5 x 0.8 5-30 M3 x 0.5 COU:MhRE
cu 1o 10 M5 x 0.8 5-30 M4 x 0.7 tchipic TS
cuie 16 M5 x 0.8 5~50 M5 x 0.8 T aans 0.1-0.9Mpa
cu 20 20 M5 x 0.8 5~50 ME x 1 COU:With magnet o
cuzs 25 M5 x 0.8 5-50 M8 x 1.25 ot
cu 32 32 G1/8 5-50 M10 x 1.25 CU-S:Front spring
Freely installed cylinder MD series we i FETE EHEAD
u] EEFELRT RERS .
MDZ 5 [ f 223t 4T Modal Eaed #ﬁﬁize 3'“‘*%5‘”5"““ Piston port size Model ?}‘r’;e[:[,',"sﬂ
MD6 6 M5x0.8 5-35 M3 x 0.5 MSD: 2B B
MD10 10 M5x 0.8 5-35 M4 x 0.7 mgg:;gﬁ;
=3 MD16 16 M5 x 0.8 5-50 M5 x 0.8 MDJ: TR T
- = MSD:Front spril 2
- MD20 | 20 M5 x 0.8 5-60 M6 x 1 bt 0.1~0.9Mpa
' MD25 25 M5x 0.8 5-60 M8 x 1.25 Uhblumerne.
‘Double adjustal
MD32 32 G1/8 5-60 M10 x 1.25
Dual cylinder TN series me HE TR ERES
RerEn RERS
TN%{.}'IJEH%EI ; Model ggg Thread size Standt:'::"stmke Model %‘r’:ar:.'f?f
TN10 10 M5x0.8 10-200 —
TN16 16 M5x0.8 10-200 mgggﬁ
TN20 20 M5x0.8 10~200 TN:With magnet 0.1-0.9Mpa
TN25 25 M5 x 0.8 10~200 i Jouie e
TN32 32 G1/8 10-200 adjustable
Dual cylinder CXS series = HE tEfTIE = EREN
= |ariEn REBS :
CXSEHW m%ﬁ Madel gg: Thread size Sland.:':dmstrnke Model 2?:;::::‘59
= CXS6 6 M5x0.8 5-50
CXS10 10 M5x 0.8 5-75 CXSWRB S
CXS15 15 M5x 0.8 5-100 ot 0.1-0.9Mpa
CXS20 20 M5 x 0.8 5~100 i
:Side bearings
CXS25 25 G1/8 5-100 CXSL:Ball Bearings
CxS32 32 G1/8 5-100
Dual-guide cylinder MGPM series iz TR FRER
u] i :
= 1 E‘%E Bore %rﬂﬁlze Standard stroke Jﬁ%ﬂ%ﬂ' Operating
ﬁﬂﬁ%ﬂﬂ b2 size mm prassure
MGPM12 12 M5x0.8 10-200
MGPM16 16 M5 x 0.8 10-200
MGPM20 20 G1/8 10~200
MGPM25 25 G1/8 10-200 MG PM:# 55
MGPLERSR
MGPM32 32 G1/8 10-300 MGPM:Side bearings 0.1-0,9Mpa
MGPM40 40 G1/8 10-300 MGPL:Ball Bearings
MGPMS50 50 G1/4 10-300
MGPM63 63 G1/4 10-300
MGPM8&0 80 G3/8 10~300
MGPM100 100 G3/8 10-300

09




RIHESS amees

RIGHT PNEUMATICS MANUFACTURE

Dual—gu:dsﬁ:ylmder TCM series me e w0 SRR FARE %p@gn?;]
ﬁﬂ %ﬁ -ﬁﬁ "‘Lﬁ[TC M § 5'] Model size Thread size mm Model pressura
TCM12 12 M5 0.8 10~200
TCM16 16 M5x 0.8 10-200
TCM20 20 G1/8 10-200 T
TCM25 25 G1/8 10~200 TOL:B 8K P
TCM32 32 G1/8 10-300 TCL:Ball Bearings
TCM40 40 G1/8 10-300 TCM:Side bearings Q
TCM50 50 G1/4 10~300 o
TCM63 63 G1/4 10~300 g m
Blafy e kA me ([@@een rwre | erae eeenRXXETsnaepene | BAES | I
MK® ;HE%E‘H Model g?{: Thread size |Rotating strokelClamped stroke Rotary Angle) %T;anyflonr?:ear Piston O, @ Model pf:;:l":'ag {T
MKi2z |12 [M5x0.8 7.5 10:20 90° 40N 6 g —
MK16 |16 | M5x0.8 7.5 10:20 90° 75N 8 c JE
MK20 | 20 | M5x0.8 9.5 10:20 90° 100N 12 ﬁ:;fg ie) {L.I:
MK25 | 25 | M5x0.8 9.5 10:20 90° 185N 12 0.1~0.9Mpa g
MK32 |32 | G1/8 15 10:20 90° 300N 16 R:Right &
MK40 40 G1/8 15 10:20 90° 525N 16 L:Left Lz
MK50 |50 | G1/4 19 20:50 90° 825N 20
MK63 | 63| G1/4 19 20:50 90° 1400N 20
Rotary cylinder ACK series me MBlegen| preroe | REFRI | mitGRI80 | REMFRIB0° %:‘c?&%ﬂ
ACK® @]ﬁﬁﬁ?&%ﬁ Model Eioz': Threadsize| Rotating stroke 80) Clamped stroke90| Rotating stroke 180| Clamped stroke180 c?;h'lpy}g‘lc:r
ACK25 |25 | Gi/8 14 12 20 6 185N
ACK32 [32 | G1/8 14 12 20 8 300N
ACK40 |40 | G1/8 15 12 21 8 525N
- ACK50 |50 | G1/4 15 14 21 8 825N
ACK63 |63 | G1/4 15 14 21 8 1400N
Rotary cylinder HS series = = = P = 3
HS25 |25 |M5x0.8 9 13 90° 200N 14
HS32 |32 | G1/8 11 15 90° 360 N 16 R
HS40 |40 | Gi1/8 1 15 90° 630 N 16 ; 0.1-0.9Mpa
HS50 |50 | G1/8 13 17 a0° 980 N 20 LY
HS63 |63 | G1/8 13 17 90° 1680 N 20
Rotary cylinder SRC series = iﬁ[ sggEn| KT | REGR |mtfaE BAEEN wwiraa {gmlliﬁ
SRCE §|I§§ﬁﬁ[ Modal 5;’: Thread size [Rotating stroke|Clampad stroke|Rotary Angle| ':":T:ﬁ?p)’lr'or:‘ég' Piston O.® p?:;:u':'f
- SRC25 | 25 |M5x0.8 11 11 90° 200N 14
SRc32 | 32| Gi1/8 13 13 90° 360N 16
m: SRC40 | 40| G1/8 13 13 90° 630N 16 01-09MPa
SRC50 | 50| G1/8 15 15 90° 980N 20
SRC63 | 63| G1/8 15 15 90° 1680N 20
Cylinder ALC series E
ALCg 5'] % H h%-d%s-! ﬁfﬁﬁlg Ca%n;?fojrjce ﬁrﬁﬂeﬁaﬁ;ﬁ %gﬁﬂp?
ALC25 M5 x 0.8 15N.m 75°
ALC32 G1/8 25N.m 70°
ALCA0 G1/8 44N.m 65° 0.1-0.9MPa
ALCS50 G1/8 71N.m 70°
ALCE3 G1/8 136N.m 65°
Swing cylinder MSQ series Rotary cylinder CRQZ2 series
MSQBRIIBEASE| ®e |mgEn SihaE it CRQ2EFEESSET
Model Thread size| Rotary Angle Note
MBAB10 | Wexia s me  pggn) BRE7N | geme) e
MSQB20 | M5x0.8 o = v;oasu Threadsize| QPeraird  [Rotary Angle Note
MSQB30 | G1/8 R 7 0 RQ2-10 |M5x0.8 -
MSQB50 | G1/8 | 0-190° | o T ek Rl
MSQB70 | G1/8 | adjustment boult = CRQ2-20 G1/8 CDRQ2B-W:IH)
R:With buffer Duble rod
MsaBioo| Gi/s CRQ2-30 G1/8 |0.1~1.0Mpa |170%190°| cDRQ2B-5:48
MSQB200| G1/8 CRQ2-40 G1/8 Single ot
Slide cylinder MXQ series Rotary cylinder CRA1 series
MXQEF|FEaSE #Me |weEn &t {Eﬂrﬁnjg} CRAT1ZR IS E
Model Thread size| Mote pressurs me [ Yog- A ﬁ:ﬂéjl}dﬁ EmfmE {gﬂi%ﬁ
MXQ6 | M5x0.8| As: Eamm Model Thread size| ‘Giam o forca |FO1ary Angla| T ESCZITY
Y MXQ8 |M5x0.8| A memE ] & CRA1B30 |M5x0.8| 1.9N.m
e ) MXQ12 | Msx0.8| o Famsaem | . oo o CRA1B50 | G1/8 | 9.3N.m
“‘i""?!'. s MXQ16 | M5x 0.8 ;5honade CRA1B63 G1/8 | 17N.m |90 #1807 |0.1~0.8Mpa
y Mxa20 | qi/s | hfudeckend CRA1B80 G1/4 | 32N.m
MXG26 | G186 | Bonarurer CRA1B100 | G3/8 | 74N.m

10



RIHEZDE SRR

RIGHT PNEUMATICS MANUFACTURE

Angular Guide MHS2 series WA FE N0, 5Mpa T 2 f1Pressure is under 0.5 Mpa EaEn EX MHE;{]
MHSQE @j%ﬁﬂ?ﬁ Double type Insldzqggﬁaoms Duislz‘;gcelﬁnj; force Threadsize Bl %?:;:3:‘99
e MHS2-16D 23N 21N M3x0.5 4mm
=" MHS2-20D 42N 37N M5x0.8 4mm
\w«i‘ MHS2-25D 71N 63N M5+0.8 6mm
~ MHS2-32D 123N 111N M5x0.8 8mm 0.6Mpa
e MHS2-40D 195N 117N M5x0.8 8mm
m s MHS2-50D 306N 280N M5x<0.8 12mm
& - MHS2-63D 537N 502N M5.08 16mm
2
A Angular Guide MHS3 series mus AR e Py Fanm | BAED
{T MHS3Z% S zhFi5 Hounls tpe Inside clamp force Outside clamp force Thread size Finger airoks pressure
— 2 MHS3-16D 16N 14N M3%0.5 4mm
JCc _ MHS3-20D 28N 25N M5x0.8 4mm
ol i MHS3-25D 47N 42N M5 x 0.8 Emm
{4: =] - 2 MHS3-32D 82N 74N M5 x 0.8 8mm
g i u @,‘j MHS3-40D 130N 118N M5 % 0.8 8mm 0.6Mpa
= & MHS3-50D 204N 187N M5 % 0.8 12mm :
u:",;, MHS3-63D 359N 335N M5 % 0.8 16mm
MHS3-80D 525N 500N 1/8 20mm
MHS3-100D 780N 750N 1/4 24mm
MHS3-125D 1320N 1270N 3/8 32mm
Angular Guide MHS4 series WhE B 450 5hpa T- 3751 Prassire s ndar 0.5 Mpa e e ERERD
MHS4E % ‘_'L hEiE Double typa Insid?iﬁ?fome Oulsigcr;ﬁ?}nj; e Thread size Fingar stroka (:Fr’:a';‘::?
MHS4-16D 12N 10N M3x0.5 4mm
MHS4-20D 21N 19N M5 % 0.8 4mm
“ MHS4—25D 35N 31N M5 x 0.8 6mm
s MHS4-32D 61N 55N M5x0.8 8mm 0.6Mpa
= MHS4-40D 97N 88N M5 x 0.8 8mm
| MHS4-50D 153N 140N M5 x 0.8 12mm
MHS4-63D 268N 251N M5x 0.8 16mm
Without rod mechanical type cylinder OSP series Be 2 @yriEn s|§i&ﬁf§ ERESR
08 Pmﬁﬁ%ﬂ%ﬂ Model Boresize Thread size and:::_l stroke p?essulrag
0SP 16 16 M5x0.8 25-3000
0SP 25 25 G1/8 25-3000
OSP 32 32 G1/4 25-3000
OSP 40 40 G1/4 25-3000 0.1~0.9Mpa
0SP 50 50 G1/4 25-5000
OSP 63 63 G3/8 25-5000
OSP 80 80 G1/2 25-5000
Angular Guide MHZ2 series 58 WO | NEXEH | ARERSN | AEXEER | nakrns EAE7
MHZE% @J%m%—éﬁ Maodel Thread size | Outside clamp force | Inside clamp force |Inside clamp distance | Inside open distance p?sssursg
MHZ2-6D M3x0.5 3.3 6.1 8 12
MHZ2-10D | M3x05 11 17 11.2 15.2
MHZ2-16D | M5<0.8 34 45 14.9 20.9
MHZ2-20D | M540.8 42 66 16.3 26.3 821205 Mpa
MHZ2-25D | M5%0.8 65 104 19.3 33.3
MHZ2-32D | M5%08 158 193 26 48
MHZ2-40D | M5<0.8 254 318 30 60
Angular Guide MHY2 series Angular Guide MHT2 series
A = = F—J =
MHY2R SIS Fi5 ';ﬂﬁ w5 ﬁﬁﬂrﬁ %w;?r&é& MHT2E IS5 FiE e waEn Eﬁﬁ-i?ﬂﬁf g&#?‘{ﬁ
odel Thread size loraque angel Madel i opaning/closing aén&ut;f_
MHY2-10D| M5x08| 0.16N.m st MHT2-32 | G1/8 -3 -28° 12.4N.m
MHY2-16D| M5.0.8| 0.54N.m g:;n side MHT2-40 | G1/8 —3 27" 36N.m
MHY2-20D | M5x0.8] 1.10N.m | gu. _a MHT2-50 | G1/4 —2° 23 63N.m
MHY2-25D | M5x08| 2.28N.m |Closeside MHT2-63 | G1/4 —2° ~23° 106N.m

Angular Guide MHL2 series

Angular Guide MHC2 series =z
o iyt MHLZRASHFR [ we  [memn|mane|[Foee| K57
MHC2% I"\- F15 EENE ([ FARE Model Thread size | Closed width| Open width s”fgfé:‘"‘?
EE ﬂﬁﬁﬂ Clamp force Warking
Model Thread size| “400 % angel MHL2-10D | M5X0.8| 56 76 14
. MHC2-6D | M3X0.5| 0.1N.m ) . B MHL2-16D | M5X0.8 68 98 45
ST MHC2-10D| M3X0.5| 0.1N.m 4 _‘¢'$ = MHL2-20D | M5X0.8 82 122 74
= et MHC2-16D| M5X0.8| 0.39N.m |a0° —-10° Vi MHL2-25D| M5X0.8 | 100 150 131
‘ MHC2-20D| M5X0.8| 0.7N.m & MHL2-32D | M5X0.8 150 220 228
MHC2-25D| M5X0.8| 1.36N.m MHL2-40D | M5X0.8 188 288 396

1"




RIHE=ZSE =IHEER
PNEUM%TICS

RIGHT PNEUMATICS
MANUFACTURE EXPERT
hs;),:j:;g;g;g;{q series Slide cylinder MXS series
. = 3 =
WS gD R me |leqmn  ax | GRRY
oy Madel Threat size Standard stroke Operating " e = BIESSUTE
. mm pressure i MXS6 M3x0.5| i Fa
MXH6 | M5x08 P A b e
e & ! MXS8 M5 % 0.8] b5 emesass
M5 x 0.8 : > 8 Fagzans
e |WEE o T . MXS16 | M5x 0.8 0.1-0.7Mpa
Mxi1o_| e 0_8 ® MXS20 G1/8 :!n'iu....,.n;’.nm.
7 s .=!O':I°t:\‘.|ll:rr
Hydraulic medium pressure cylinder MOB series 1 = 2= il i e
MOB 438 s FE it 1 s U8 guen| SRR | ssfeerd b emzn | M
=ik, ead size il Piston port size a?::sll:nbr‘iis Operating é
pressure
MO32 | 32 | Gi/4 25-500 Mi4x1.5 2
MO40 | 40 | G3/8 | 25-800 PR Fo Eo= DAtoniteng =
MOS0 | 50 | G3/8 | 25-1000 M16x1.5 | CA-MBE  Ch-smcle clovis o
MO63 | 63 | G3/8 25-1000 M22x 1.5 CB-MBE  CB-double clevis i
MO80 | B0 | Gi/2 | 25-1000 MEEH1E | ond ameka | DulcPlpe =
MO 100 | 100| Gi/2 25-1000 M30x15 | - I-tjoint ©
moms 125| G1/2 25-1000 M40 x 2 TO-H MR TC-oantantiunnion 3
0160 | 160 | G3/4 25-1000 M52 x 2 o
Hydraulic high pressure cylinder HOB seri ~
ries k- AT
i Eh B wmoEn| RETE = - A 1% F G
B& ;‘jﬁﬂ& JE i & Mode| E?z': Thread size Sland::?natmke ﬁpis‘ﬁiﬁ'ﬁtﬁ{}:—j— aé%a“abi-eﬁ %PH;EE‘);
CEs30Mnes
HO40 | 40 | Ga/s 25-500 M22 x 1.5 —
:350 50 G3/8 25-800 M26x 1.5 FA—N?E% FA-front flange
63 | 63 | G3/8 25-1000 M30x 1.5 FB-EEZ  FB-rearflange
HOB0 | 80 | Gi1/2 | 25-1000 i i an Sk onjeche
HO100 | 100| G1/2 25-1000 M40 x 2 LBRMZE  Lb_footbracket | O-1-14MPa
HO125 | 125| Gil2 25-1000 M50 x 2 T-ORA Y-V
HO160 | 16 oy To an
e 0| G3/4 25~1000 MB0 x 2 TC-HiE##% TC-centertrunnion
200 | 200| G1 25-1000 M70 x 2
Boosting cylinder MPT series o
me |08 gyen| WETE | Es ®
V3 ’ - S
&= ﬁm E&IMPTE S| Mode| E';z': Thread size | Stand ?.‘:En stroke Pistﬁ ?;ﬁts{}le_r ﬁéfe?;r}g m'\%%ﬁ' OpErEnng
S pressure
1 63 | G1/4 50~300 M26 x 1.5
MPT-3T | 63 | Ga/8 50-300 M30x1.5
mm-s‘r 80 | Gas 50-300 M30x1.5
PT-10T | 100 | G3/8 50-300 M40 x 2 A0 eyl
10&}5} i 1l eyl |7m:ler.
MPT-13T | 100 | Ga/8 50~500 M40 x 2 " B ender | 0.2-0.7Mpa
MPT-15T | 125| Gass 50~500 M50 x 2 10 times/min.| 1%
mpr-zo'r 125| G3/8 50-500 M50 x 2
PT-30T | 125| G1/2 50-500 MB3 x 2
= MPT-40T | 160 | G1/2 50-500 MB3 x 2
oosting cylinder MPTF series
ne | HRwgen BEOTE | msfegRs ' ; ®
SHIEEEMPTFZ S Modal Bore | Thread size | Standard stroka Pismﬁn port s&‘e_r ﬂé‘fﬁﬁﬁ ;ﬁl\%%l% %E?;g"z’]
ure
MPTF_1T | 63 | G1/4 50~300 M26 x 1.5
MPTF-3T | 63 | Ga/8 50~300 M30x1.5
nEIF-sT 80 | Ga/8 50-300 M30x1.5
= ;
MEs :g: 100 | Ga/s 50-300 M40 x 2 10044 M orlinder:
B 100 | G3/8 50-500 M40 x 2 -, | SiAfeyinder | 0-2-0.7Mpa
x:rﬂi—wT 125 | Gals 50~500 M50 x 2 Bionasinin g
_20T| 125 | Gass 50~500 M50 x 2
MPTF-30T| 125 | Gi/2 50-500 MB3 x 2
MPTF-40T| 160 | G1/2 50-500 MB3 x 2
Boosting cylinder MPTS series
. me | W% gggn) METR | ZEAgar 3 gRE
5 iﬁiﬁ JEEIMPTSZE 5| Model 2?2': Thread size Sland?‘:ﬁ‘ stroke | ' Piston port slzeﬂ. ﬂéfaﬁﬁ ;ﬁl\%éﬂerﬁ %E?;:tui n:;]
{f:]
MPTS_1T | 63 | G1/4 50-300 M26x 1.5
MPTS-3T | 63 | Ga/s 50-300 M30x 1.5
MPTS_5T | 80 | G3/8 50~300 M30x 1.5
mm‘g-w: 00| Gas 50-300 M40 x 2 10R/53 4 A0 eylindor
~13T| 100| Gais 50-500 M40 x 2 ) 0
: : “LELAIf cyinder: -2-0.7Mpa
MPTS-15T| 125 | Ga/8 50-500 M50 x 2 108mes/min.| gt
MPTS_20T| 125 | G3/8 50-500 M50 x 2
MPTS—_30T| 125| G1/2 50~500 MB3 x 2
. MPTS-40T| 160 | G1/2 50-~500 M63 x 2
oosting cylinder MPTC series
me |08 ggpn| RETE | ssfggRr- LT
S ELMPTCES Model E?z': Thread size | Stand ::ﬁ'l stroke Piston gﬁize_r &éfe?;fﬁ ml\%c%% Gpergnjg]
pressure
MPTC-1T | 50 | G1/4 | 5101520 M16 x2
MPTC-2T | 50 | G1/4 | 5101520 M16x 2
MPTC-3T | 63 | G1/4 | 5101520 M16 x 2 T OB | i
MPTC-5T | 63 | Gi/4 | 5101520 M16x2 MM'S | Siaircynaer, | - 0-2-0-7Mpa
MPTC—10T| 80 | Ga/8 | 5101520 M16 % 2 e
MPTC-13T| 100| G1/2 | 5101520 M20x 2.5

12



RIHEZS SRR

RIGHT PNEUMATICS MANUFACTURE

Gas-liquid damping cylinder QGZN series i RAEITRE AT % A P fERER
B S|aeEn T EEFR G RT : :
QGZNRF S R & Model | B0 | Thieadsize | Standaristioke | Tiston portsize Ftcper B rassurs.
QGZN32 |32 G1/8 25-500 Mi10x1.25
QGZN40 | 40 G1/4 25~800 Mi2x1.25 g i g
QGZN50 | 50 G1/4 25~1000 M16x1.5 CA-single clevis
CB-double clevis
QGZNB3 | B3 G3/8 25~1000 M16x1.5 LB-toot bracke! 0.1-0.9Mpa
QGZNBo | 80 Ga/s 25-1000 M20x 1.5 Cex liont
il QGZN100 | 100 G1/2 25-1000 M20x1.5 T PO e
[ QGZN125 | 125 G1/2 25-1000 M27 x 2
0 S :
E Slng!e Actmg Actuator OUtan TOquB ‘—'\.iﬁﬁﬂﬁiﬁﬁﬁﬂi ﬁﬁ(iﬁ[: Nm] Output torque of air to spring{Unit:Nm}) ﬁ%gfﬂ
BIEAHTEEHEE
o H SRSE 4Bar 5Bar GBar 7Bar 8Bar Outpu torge
) Alr supply prassure spring
0 we mE | o 90° 0° 90° 0° 90° 0° 90° 0° a0° 0° 90°
= Modor | BUE [ FE | EX | FE | &% | R | &% (7 | g% | AR | &% | FE | &%
.6' Sping Oty| Start End Start End Start End Start End Start End Start End
3 AT525R 10 | 8.1 6.2 | 13.3 | 104 (176 |14.7 |21.8 |18.9 |26.1 |23.2 | 10.8 | 7.9
o ATB3SR 10 | 164 | 10.0 | 23.8 | 17.5 |[31.3 |25.0 [38.8 |32.5 |46.3 |40.0 | 19.9 | 136
3 AT75SR 10 | 29.2 | 185 | 41.6 | 30.9 |53.9 [43.3 |66.3 [55.7 |78.7 |68.0 | 30.9 | 20.3
ATB3SR 10 | 352 | 219|515 | 381 |67.7 |544 |839 |70.6 |100.2|86.8 | 43.0 | 29.7
AT92SR 10 | 495 | 325 | 72.8 | 55.8 |96.0 |79.0 |119.3|102.3|142.6|125.6| 60.6 | 43.6
AT105SR| 10 | 59.9 | 46.2 | 94.6 | 80.8 | 129.2|115.5|163.9|150.1|198.5|184.7| 92.3 | 78.6
AT125SR| 10 | 139 | @6 201 | 147 |262 |209 |[323 |270 |385 |[331 160 | 106
AT140SR| 10 | 191 | 103 | 284 | 195 (376 [228 |469 |380 |561 [472 | 267 | 178
AT160SR| 10 | 201 | 162 | 432 | 303 (573 [443 |713 |5B84 |854 |725 | 401 | 272
Double Ac_ting Actuator Output Torque me SiE4HE (B bar) Input air supply pressure(unit:bar)
ﬂ{lEFﬁ ﬁﬁ%ﬁﬁ-‘ﬂ EE Modal 2 (e} 4 5 B 7 8
AT32DA 4 6 8 10.1 i | 14.1 16.1
AT52DA 8.5 12.7 17 21.2 255 29.7 34
ATB3DA 15 22.5 30 37.5 44.9 52.4 59.7
AT75DA 21 31.8 42.4 53 63.6 74.2 84.8
AT83DA 32.5 48.7 65 81.2 97.4 113.7 30
AT92DA 46.5 69.8 93 116.3 14 162.9 86
AT105DA 69.3 104 138.5 73.2 207.8 2425 277
AT125DA 108 162 216 270 324 378 432
AT140DA 184.7 277 369.5 461.8 554 646.5 739
AT160DA 281.5 422 563 704 844 985 1126
Shock absorbers AC series #E mAMPER SXRIFHEN| RIFTEE e wawn | LIERRERE
£ Modal Max.absorbing Max allowable Shock speed stroka THraad slza Amblent&fiuid
ACEFIHELZE R anergy push force (misec) read siz
ACDBO06 2 6 0.8-2 6mm MB x 1 -10-80TC
AC1005 3 7 0.8-3 Smm M10x 1 -10-80TC
AC1008 4 9 0.8-3 8mm M10x 1 -10-80TC
AC1210 5 30 0.8-3 10mm M12x1 -10-80T
AC1410 13 100 0.8-3 10mm M14x1. -10~80TC
AC1412 15 110 0.8~3 12mm M14x1. -10~80C
AC1418 20 50 0.8~3 6mm M14x1.5 -10~80TC
AC1420 22 60 0.8~ 20mm M14 x 1 -10-80T
AC1425 25 70 0.8~ 25mm M14 x 1 -10-80T
AC2015 35 600 1.0-3.2 5mm M20x 1.5 -10-80C
AC2020 40 700 .0-3.5 20mm M20x 1.5 -10-80C
AC2025 45 720 .0-3.5 25mm M20x1.5 -10-80T
AC2030 50 750 1.0~3.5 30mm M20x1.5 -10-80C
AC2050 60 1200 1.0~3.5 50mm M20x1.5 -10~80T
AC2525 80 1500 1.0~4.0 25mm M25x 1.5 -10~80TC
AC2530 90 1800 1.0~4.0 30mm M25x1.5 -10~80TC
AC2540 120 200 1.0~4.0 40mm M25x1.5 -10~80T
AC2550 100 160 1.0-4.0 50mm M25x1.5 -10-80T
AC2580 150 200 1.0-4.0 80mm M25 x 1.5 -10-80C
AC3660 250 2400 1.0-4.0 60mm M36x1.5 -10-80TC
ACD2030 45 900 1.0-4.0 30mm M20x1.5 -10-80C
|ACD2035 45 650 1.0-4.0 3smm M20x 1.5 -10-80C
ACD2050 52 500 1.0~4.0 50mm M20x 1.5 -10-80C
ACD2050-W 60 500 1.0~4.0 50mm M20x1.5 -10-80
Shock absorbers AD series E] mAREER BARITHRS RITFEE 1752 igeriEn | TIERWRIBERE
AD%;'J}’E E%EEF ag_ Modal Ma:;h;g;bmg M::.:;I?ov:ggla Sh?:‘l}ase%?ed stroke Thread size Amblent&iluld
AD1410 20 100 0.8-3 10mm M14x1.5 -10-80T
AD1412 20 110 0.8-3 12mm M14x1.5 -10-80C
AD1416 2 150 0.8-3 6mm M14x1.5 -10-80TC
AD1420 2 160 0.8~3 20mm Mi4x1.5 -10~80TC
AD1425 28 170 0.8-3 25mm M14x1.5 -10-80C
AD2015 25 600 1.0-3.2 16mm M20x1.5 -10~80T
AD2020 a5 700 1.0-3.5 20mm M20x1.5 -10-80T
AD2025 39 720 1.0-3.5 25mm M20x1.5 -10-80TC
AD2030 45 750 1.0~3.5 30mm M20x 1.5 -10~80TC
AD2050 60 1200 1.0-3.5 50mm M20x1.5 -10-80TC
AD2525 85 1500 .0-4.0 25mm M25x1.5 -10~80C
AD2530 95 1800 1.0-4.0 30mm M25x1.5 -10-80C
AD2540 98 2000 1.0-4.0 40mm M25x1.5 -10~80TC
AD2550 100 160 1.0-4.0 50mm M25x1.5 -10-80C
AD2580 150 200 1.0-4.0 80mm M25x 1.5 -10-80C
AD3625 150 2400 1.0~4.0 25mm M36x1.5 -10~80TC
AD3650 300 2400 1.0-4.0 50mm M36x1.5 -10-80C

13



IS5z

RIGHT PNEUMATICS MANLﬁEcETEnE%:IF!En%
Shock absorbers SR series zs e BXAARS et e b o
SH% ?'.lflﬁ E%BF EE aneargy push farce imisac) temperature
SR-15 0.23kgf/m 3500N 0.5-30 15mm -10-80T
= SR-30 0.23kgf/m 3500N 0.5~30 15mm -10~80C
\ SR-60 0.23kgt/m 3500N 0.5-30 15mm -10-80T
SR-80 0.23kgf/m 3500N 0.5-30 15mm —10-80C
SR-100 0.23kgf/m 3500N 0.5-30 15mm —-10-80C
S &M Cylinder accessories
LB(MS1) Modal wodg FAMF1) o Madel CA i Mog
LB(MS1)-16 LB(MS1)-125 FB(MF2) FA(MF1)-16 FA(MF1)-125 CA(MP4)-16 | CA(MP4)-125
LB(MS1)-20 | LB(MS1)-160 FA(MF1)-20 | FA(MF1)-160 CA(MP4)-20 | CA(MP4)-160
')ﬂ LB(MS1)-25 | LB(MS1)-200 FA(MF1)-25 | FA(MF1)-200 CA(MP4)-25 | CA(MP4)-200
& " LB(MS1)-32 | LB(MS1)-250 FA(MF1)-32 | FA(MF1)-250 CA(MP4)-32 | CA(MP4)-250
t;\-/ LB(MS1)-40 | LB(MS1)-320 FA(MF1)-40 | FA(MF1)-320 CA(MP4)-40 | CA(MP4)-320
- LB(MS1)-50 | LB(MS1)-400 FA(MF1)-50 | FA(MF1)-400 CA(MP4)-50 | CA(MP4)-400
LB(MS1)-63 FA(MF1)-63 CA(MP4)-63
LB(MS1)-80 FA(MF1)-80 CA(MP4)-80
LB(MS1)-100 FA(MF1)-100 CA(MP4)-100
CB(MP2) o it TC bt ot TC-M(MT4) | =3 it
CB(MP2)-16 | CB(MP2)-125 TC-16 TC-125 TC-M(MT4)}-16 | TC-M(MT4)-125
CB(MP2)-20 | CB(MP2)-160 TC-20 TC-160 TC-M(MT4)-20 | TC-M({MT4)-160
CB(MP2)-25 | CB(MP2)-200 TC-25 TC-200 TC-M(MT4)-25 | TC-M(MT4)-200
CB(MP2)-32 | CB(MP2)-250 TC-32 TC-250 TC-M(MT4)-32 | TC-M(MT4)-250
CB(MP2)-40 | CB(MP2)-320 TC-40 TC-320 TC-M(MT4)-40 | TC-M(MT4)-320
CB(MP2)-50 | CB(MP2)-400 TC-50 TC-400 TC-M(MT4)-50 | TC-M(MT4)-400
CB(MP2)-63 TC-63 TC-M(MT4)-63
CB(MP2)-80 TC-80 TC-M(MT4)-80
CB(MP2)-100 TC-100 TC-M({MT4)-100
[ Moda o 3 o it BSC e it
1-16 1-125 Y-16 Y-125 BSC-16 BSC-125
1-20 1-160 Y-20 Y—-160 BSC-20 BSC-160
1-25 1-200 Y-25 ¥-200 BSC-25 BSC-200
1-32 1-250 ¥-32 Y-250 *ﬂ BSC-32 BSC-250
1-40 1-320 Y-40 Y-320 ‘ BSC-40 BSC-320
1-50 1-400 1 Y-50 Y—400 ’ BSC-50 BSC-400
1-63 Y-63 BSC-63
1-80 Y¥-80 BSC-80
1-100 ¥-100 BSC-100
Fis% 35 *;%Z% - n%zl N%gl -':;%I?Jaﬁ? I\%gl a%g: S?: ﬁj?:gﬁ I I\%ﬁl Model
EM FM-M5 x 0.8 FM-M27 x 2 connector FD | FD-M4x0.7 FD-M20x 1.5 e o MAL16 MA16
FM—M6 x 1 FM-M36 x 2 FD-M5x 0.8 FD-M27 x 2 MAL20 MA20
- FM-M8 x 1.25 FM-M42 x 2 FD-M6x 1 FD-M36 x 2 MAL25 MA25
@ FM-M10x1.25 FD-M8x1.25 MAL32 MA32
= FM-M12x1.25 FD-M10x1.25 MAL40 MA40
il FM-M14x1.5 FD-M12x1.25
T & FM-M16x1.5 FD-M14x1.5
FM-M18x1.5 FD-M16x1.5
FM-M20x1.5 FD-M18x1.5
=R EE £ EASHAL 4 = REH 58 EASEER 4
Product photo Mode| Applicable cylinder Accessory Product photo Model Applicable cylinder Accessory
* CS1-F | SC. MAL. MA, CM2, CJ2, C85 hﬁa D-C73 | COM2B. MA. C85, MAL W5
= CS1-U | SC. MAL, MA, CM2, CJ2, c85 | H_ D-A54 | STMS, CRQ1. CDRA1 fiots
* CS1-S | MAL. MA, CM2, CJ2, C85 L 52 | e ;.8
CQ2, CQS. COU, MXH. MXQ,
h CS81-J | SDA. TN D.Ags | MXS. MSQB, CRQ2, MK,
SCL(R), MHZ2, MHS#I#%:6-20
CY1R(CY3R)HT2:6-20
S | CST-G | SDA, STMB
- CS1-M | DNC, CXS. ADVU, MHZ2 CEmTY | SR

it
T
JT
%+

m
X
o
o
=
o
o

e
=

O
3
)
B

14



RIHEZSE SamEEs

RIGHT PNEUMATIC

F.R.L Unit =Bk {4(Three unit) me g R BARE EHEEE e Ehx 134 B8
Model Thread size | Max.rated flow |Pressure adjustable range Fittration Pressure gauge MNaote
AC2000-01 G1/8 | 900 L/min 0.15-0.85Mpa 25um Y40-01
| -T?!'| T AC2000-02 | G1/4 | 900L/min 0.15-0.85Mpa 25um Y40-01 R HEk D
. A= AC3000-02 | G1/4 | 1500L/min | 0.15-0.85Mpa 25um vao-01 | Dorent
AC3000-03 G3/8 2000 L/imin 0.15~0.85Mpa 25um Y40-01 drain
AC4000-04 | G1/2 | 4000L/min | 0.15-0.85Mpa 25um Y50-02
AC4000-06 | G3/4 | 4500L/min | 0.15-0.85Mpa 25um ¥50-02
AC5000-06 | G3/4 |5000L/min | 0.15-0.85Mpa 25um Y50-02
AC5000-10 G1 5000L/min | 0.15~0.85Mpa 25um Y50-02
B B R<| BXKE EHAELE diEREE Eh#* it BA
Model Thread size | Max.rated flow |Pressure adjustable range Fittration Pressure gauge Mota
AC2010-01 G1/8 900 L/min 0.15-0.85Mpa 25um Y40-01
AC2010-02 | G1/4 500 Limin 0.15-0.85Mpa 25um Y40-01 B2 Hik B
AC3010-02 | G1/4 | 1700 Limin | 0.15-0.85Mpa 25.m a0.01 | SiEue
AC3010-03 | G3/8 | 1700L/min | 0.15-0.85Mpa 25um Y40-01 drain
AC4010-04 | G1/2 | 3000L/min | 0.15-0.85Mpa 25um Y50-02
AC4010-06 | G3/4 | 3000L/min | 0.15-~0.85Mpa 25um Y50-02
AC5010-06 | G3/4 | 5000L/min | 0.15-0.85Mpa 25um Y50-02
E‘. > AC5010-10 G1 5000 L/min | 0.15-0.85Mpa 25um Y50-02
LIS Filter+regulator WE |@GRY| BARE | EHBEEE | wRmE | EAR | bW
"ﬁ = iE ﬂ_ﬁ = Model Thread size | Max.rated flow | Pressure adjustable range Fittration Pressure gauge Nate
g AW2000-01 | G1/8 500 L/min 0.15-0.85Mpa 25um Y40-01
il‘ ; AW2000-02 | G1/4 | 550L/min 0.15~0.85Mpa 25um Y40-01 | EEHKD
o AW3000-02 | G1/4 | 2000L/min | 0.15-0.85Mpa 25um Ya0-01 | diiore
ﬂ = AW3000-02 | G3/8 | 2000L/min | 0.15-0.85Mpa 25um Y¥40-01 drain
— AW4000-04 | Gi/2 | 4000L/min | 0.15-0.85Mpa 25um Y50-02
JC g AW4000-06 | GB3/4 | 4500L/min | 0.15-0.85Mpa 25um Y50-02
=3 AW5000-06 | G3/4 | 5500L/min | 0.15-0.85Mpa 25um Y50-02
{‘F‘F g AW5000-10 G1 5500 L/min | 0.15~0.85Mpa 25um Y50-02
Fitor me WY R+ BATE R EREE 1w
= —ﬁj’_ﬁ = Mode! Thread size Max.rated flow Fittration tamparature Hange Note
AF2000-01 G1/8 750 L/min 25um -5-55T
AF2000-02 G1/4 750 L/min 25um _5-55T FE 2 HE kR
- AF3000-02 G1/4 1500 L/min 25um ~5-55T iy
AF3000-03 G3/8 1500 L/min 25um _5-55T drain
AF4000-04 G1/2 4000 L/min 25um _5-55T
AF4000-06 G3/4 6000 L/min 25um _5-55T
L AF5000-06 G3/4 7000 L/min 25um -5-55T
AF5000-10 G1 7000 L/min 25um _5-55T
Regulator S L Eodiday B E
5 Model Thread size Max.rated flow Pressure adjustable range Pressure gauge
ERR AR2000-01 G1/8 550 L/min 0.15-0.85Mpa Y40-01
AR2000-02 G1/4 550 L/min 0.15~0.85Mpa Y40-01
AR3000-02 G1/4 2000 L/min 0.15~0.85Mpa Y40-01
AR3000-03 Ga/s 2000 L/min 0.15-0.85Mpa Y40-01
AR4000-04 G1/2 4000 L/min 0.15-0.85Mpa Y50-02
AR4000-06 G3/4 4500 L/min 0.15-0.85Mpa Y50-02
AR5000-06 Ga/4 5500 L/min 0.15-0.85Mpa Y50-02
AR5000-10 Gi 5500 L/min 0.15~0.85Mpa Y50-02
Lubricator me R R < RAHE EAm %Erﬁnﬁ
il g%ﬁ Model Thread size Max.rated flow Recommended oil temperature Range
AL2000-01 G1/8 750 L/min -5-55T
AL2000-02 G1/4 750 L/min -5-55T
AL3000-02 G1/4 1500 La’min 1SO VG32 -5-55T
AL3000-03 G3/8 1500 Lfm!n EE1EH -5~55T
AL4000-04 G1/2 4000 L/min -5-55T
AL4000-06 G3/4 6000 L/min -5-55T
AL5000-06 G3/4 7000 L/min -5-55T
AL5000-10 G1 7000 L/min -5-55T
F.R.L Unit with Auto drain Be BYRY| BAKR EAREEE g E & 713 bie
= ﬂ #(Th ree un it) Model Thread size | Max.rated flow |Pressure adjustable range Fittration Pressure gauge Mote
AC2000-01D | G1/8 900 L/min 0.15-0.85Mpa 25um Y40-01
AC2000-02D | G1/4 900 L/min 0.15-0.85Mpa 25um Y40-01 BEHkD
AC3000-02D | G1/4 | 1500 L/min | 0.15-0.85Mpa 25um Yig-oi | oA
AC3000-03D | G3/8 | 2000L/min | 0.15~0.85Mpa 25um Y40-01
AC4000-04D | G1/2 4000 L/min 0.15-0.85Mpa 25um Y50-02
AC4000-06D | G3/4 | 4500L/min | 0.15-0.85Mpa 25um Y50-02
AC5000-06D | G3/4 | 5000L/min | 0.15-0.85Mpa 25um Y50-02
AC5000-10D | G1 5000L/min | 0.15-0.85Mpa 25um ¥50-02

15




F.R.L Unit with Auto drian iUy B R~ BXifE EHiAREEE i iR Eh*E 1t AE
:E ‘H’-(TWO LII'I") Model Thread size | Max.rated flow |Pressure adjustable range Fittration Pressure gauge Mote
AC2010-01D | G1/8 500 L/min 0.15-0.85Mpa 25um Y40-01
: AC2010-02D | G1/4 500 L/min 0.15~0.85Mpa 25um Y40-01 iﬁ’:‘éﬁ%
AC3010-02D | G1/4 1700 L/min 0.15~0.85Mpa 25um Y40-01
AC3010-03D | G3/8 1700 L/min 0.15~0.85Mpa 25um Y40-01
AC4010-04D | G1/2 | 3000 L/min 0.15-0.85Mpa 25um Y50-02
AC4010-06D | G3/4 | 3000 L/min 0.15-0.85Mpa 25um ¥50-02
AC5010-06D | G3/4 | 5000 L/min 0.15~0.85Mpa 25um Y50-02
AC5010-10D G1 5000 L/min 0.15~0.85Mpa 25um Y50-02
Filter+regulator with Auto drain 2 2 Rt BEAHE EABEER i g 1% AE
ﬁ Eiﬁ ﬁ%ﬁ Maodal Thread size Max.rated tlow Pressure adjustable range Fittration Note
AW2000-01D| G1/8 550 L/min 0.15~0.85Mpa 25um
é i AW2000-02D| G1/4 550 L/min 0.15~0.85Mpa 25um
AW3000-02D| G1/4 2000 L/min 0.15~0.85Mpa 25um
|' AW3000-03D| G3/8 2000 L/min 0.15-0.85Mpa 25um & Bk B
' AW4000-04D | G1/2 4000 L/min 0.15-0.85Mpa 25um Auto drain
l' AW4000-06D | G3/4 4500 L/min 0.15-~0.85Mpa 25um
-' AWS5000-06D | G3/4 5500 L/min 0.15~0.85Mpa 25um > —_
AWS5000-10D G1 5500 L/min 0.15~0.85Mpa 25um =
. . . - = a
Fllte.r with Auto drain e g R+ - R %Eﬁnﬁ o = ;JE
gﬁﬂ ﬁiﬁ Model Thread size Max. rated flow Fittration lempe?atura F{gange Note 9
AF2000-01D G1/8 750 L/min 25um -5~55T (] ﬁ_l‘
AF2000-02D G1/4 750 L/min 25um -5-55T ]
AF3000-02D Gi/4 1500 L/min 25um _5-55T = ig
AF3000-03D Ga/8 1500 L/min 25,m 5-55T ol O
AF4000-04D G1/2 4000 L/min 25um —5-55T > Jb
AF4000-06D G3/4 6000 L/min 25um —5-55T -
AF5000-06D G3/4 7000 L/min 25um -5~55T g {4-'
AF5000-10D G1 7000 Limin 25um -5-551C
ngh.Pressure Regulator me B+ Pep—— )8 855 {%Eﬁn EhE
Eﬂi Jﬁ E:: IE Model Thread size Max. rated {low Prassura range B P! ange Pressure gauge
HQTY-08 G1/4 750 L/min 0~4Mpa 5.55 Y50-10-02
HQTY-10 G3/8 1800 L/min 0~4Mpa -5-55TC Y50-10-02
HQTY-15 G1/2 3000 L/min 0~4Mpa -5-55¢ Y50-10-02
HQTY-20 G3/4 5000 L/min 0-4Mpa -5-55¢C Y50-10-02
HQTY-25 G1 7000 L/min 0-4Mpa -5-55T Y50-10-02
Huguiaor me |wyRt| BinE | ErEusE | EARE % W
i JEiE Model Thread size | Max rated flow | Pressure adjustable range e "F?ange Pressure gauge Mote
QaTy-08 G1/4 750 L/min 0.15~0.9Mpa -5-55T ¥40-01
QTY-10 G3/8 | 1800 L/min 0.15-0.9Mpa -5~55T Y40-01
QTY-15 G1/2 3000 L/min 0.15-0.9Mpa -5-55T Y40-01  |marmey
QTY-20 G3/4 | 5000 L/min 0.15~0.9Mpa ~-5-55T ¥50-02  |Max.operating
QTY-25 G1 7000 Limin 0.15~0.9Mpa -5-55T ¥50-02 ?mm
QTy-35 G1-1/4 | 9000 L/min 0.15~0.9Mpa -5-55T ¥50-02 '
QTY-40 G1-1/2 | 11000 L/min 0.15-0.9Mpa -5-55T Y50-02
QTY-50 G2 13000 L/min 0.15-0.9Mpa -5-55T Y50-02
Filter EREE 43 4
i e | supy | mxme | GERE [ umes | uw
QSL-08 G1/4 750 L/min -5-55T 25um
q QSL-10 G3/8 1800 L/min —5-55T 25um
B QSL-15 Gi/2 3000 L/min —5-55T 25um
o -r ! QsL-20 G3/4 5000 L/min -5~-55C 25um ﬁéﬁﬁiﬁ%
QsL-25 G1 7000 L/min -5-55T 25um I:'S:%'afﬂ
: QsL-35 G1-1/4 9000 L/min -5-55T 25um
L - QSL-40 G1-1/2 11000 L/min -5-55T 25um
QSL-50 G2 13000 L/min —5-55T 25um
Lubricator e R R 8K Ltk wigmm |
;‘ﬁ g %E Model Thread size Max. rated flow P Iganga Recommeanded oil Note
Qlu-o08 G1/4 750 L/min -5-55T
Qlu-10 G3/8 1800 L/min —5-55T
- Qlu-15 G1/2 3000 Lfrn!n -5-55T ISOVGE2 |BEiEmES
Qlu-20 G3/4 5000 L/min -5~55T EE124  [Maxoperating
= Qlu-25 G1 7000 L/min -5-55C pressure
= BiLEAE  |1.0Mpa
Qlu-35 G1-1/4 9000 L/min -5-55T AERES
Qlu-40 G1-1/2 11000 L/imin -5-55T L
Qlu-50 G2 13000 L/min -5-55%C

16



RIHESS auses

RIGHT PNEUMATICS MANUFACTURE

OCHFI =Bk (Three unit) We @GR BARE | EAREEE | damE | EAR 1
Modal Thread size| Max.rated flow |Pressure adjustable range Fittration Prassure gauge Note
OC-04(MAXI) | G1/2 | 7600 L/min 0.15~0.85Mpa 25um ¥40-01
OC-06(MAXI)| G3/4 | 8300 L/min 0.15-0.85Mpa 25um Y40-01
OC-10(MAXI) | G 8500 L/min 0.15-0.85Mpa 25um Y40-01
OC-02(MIDI) | G1/4 | 1500 L/min 0.15-0.85Mpa 25um Y40-01 frpnn——
0C-03(MIDI) | G3/8 | 2000 L/min 0.15-0.85Mpa 25um Y40-01 Differant
OC-04(MIDI) | G1/2 | 2600 L/min 0.15-0.85Mpa 25um Y50-02 pressure
OC-06(MIDI) | G3/4 | 2600 L/min 0.15~0.85Mpa 25um ¥50-02 drain
OC-02(MINI) | G1/8 | 700 L/min 0.15~0.85Mpa 25um ¥50-02
OC-03(MINI) | G1/4 | 1000 L/min 0.15-0.85Mpa 25um ¥50-02
OC—04(MINI) | G3/8 | 1200 L/min 0.15-0.85Mpa 25um ¥50-02
= BE RS BEARE FEAREER e E 5 1
Model Thread size| Max.rated flow |Pressure adjustable range Fittration Pressure gauge Note
OFC-04(MAXI) | G1/2 | 7600 L/min 0.15-0.85Mpa 25um Y40-01
OFC-06(MAXI) | Ga3/4 | 8300 L/min 0.15-0.85Mpa 25um ¥40-01
OFC-10(MAXl)|  G1 8500 L/min 0.15~0.85Mpa 25um Y40-01
OFC-02(MIDI) | G1/4 | 1500 L/min 0.15-0.85Mpa 25um Y40-01 FEEHEk A
OFC-03(MIDI) | G3/8 | 2000 L/min 0.15-0.85Mpa 25um Y50-02 Differant
i OFC-04(MIDI) | G1/2 | 2600L/min | 0.15-0.85Mpa 25um ¥50-02 higz =i
—t =L OFC-06(MIDI) G3/4 2600 L/min 0.15-0.85Mpa 25um Y50-02
il OFC-02(MINI) | G1/8 | 700 L/min 0.15-0.85Mpa 25um Y50-02
.ﬁ = OFC-03(MINI) | G1/4 | 1000 L/min 0.15~0.85Mpa 25um Y50-02
hl: ® OFC-04(MINI) | _Ga/g | 1200 L/min | 0.15-0.85Mpa 25um Y50-02
o
L
o F|Itet:+regulator B B R~ BAHE EHiEEE g EhH*E A
iﬂ = OFRif [Eit & 2% Model Thread size| Max.rated flow |Pressure adjustable range Fittration Pressure gauge Note
Suagli= ] OFR-04(MAXI) | G1/2 | 9400 L/min 0.15-0.85Mpa 25um Y40-01
7[: = OFR-06(MAXI) | G3/4 | 9700 L/min 0.15-0.85Mpa 25um ¥40-01
o OFR-10(MAX) | &1 10000 L/imin |  0.15-0.85Mpa 25um ¥40-01
{4: = OFR-02(MIDI) | G1/4 | 2000L/min | 0.15-0.85Mpa 25um Y40-01 | s s
5 OFR-03(MIDI) | G3/8 | 3100 L/min 0.15-0.85Mpa 25um Y50-02 Different
OFR-04(MIDI) | G1/2 | 3400 L/min 0.15-0.85Mpa 25um Y50-02 pressure
OFR-06(MIDI) | Ga/4 | 3400 L/min 0.15-0.85Mpa 25um ¥50-02 grain
OFR-02(MINI) | G1/8 | 750 L/min 0.15-0.85Mpa 25um Y50-02
OFR-03(MINI) | G1/4 | 1400 L/min 0.15-0.85Mpa 25um Y50-02
OFR-04(MINI) | G3/8 | 1600 L/min 0.15~0.85Mpa 25um Y50-02
REgmaior we RERY | BAAE A % SR
Oﬂlﬁ E IE Model Thread size Max.rated flow Pressure adjustable range Fittration Pressure gauge
OR-04(MAXI) G1/2 10700 L/min 0.15~0.85Mpa 25pm Y40-01
OR—-06(MAXI) G3/4 12000 L/min 0.15-0.85Mpa 25um Y40-01
OR-10(MAXI) G1 12500 L/min 0.15-0.85Mpa 25um Y40-01
OR-02(MIDI) G1/4 2200 Limin 0.15~0.85Mpa 25um Y40-01
OR—03(MIDI) G3/8 3300 L/min 0.15-0.85Mpa 25um Y40-01
OR-04(MIDI) Gi/2 4000 L/min 0.15-0.85Mpa 25um Y50-02
OR-06(MIDI) G3/4 4500 L/min 0.15~0.85Mpa 25um Y50-02
OR—02(MINI) G1/8 1000 L/min 0.15-0.85Mpa 25um Y50-02
OR—03(MINI) G1/4 1600 L/min 0.15-0.85Mpa 25um ¥50-02
OR-04(MINI) G3/8 1800 L/min 0.15~0.85Mpa 25um ¥50-02
Filter g : X
: BE By Rt mAR HiEwE 1t BA
OFiTiEsE Model Thread size Max.rated flow Fittration Note
OF-04(MAXI) G1/2 4400 L/min 25um
‘ ! - OF-06(MAXI) G3/4 5000 L/min 25um
OF-10(MAXI) G1 5300 L/min 25um
OF-02(MIDI) Gi/4 1900 L/min 25um kR
I OF-03(MIDI) G3/8 2700 L/min 25um Different
OF-04(MIDI) G1/2 3000 L/min 25um P'gf:iﬁfe
l OF-06(MIDI) G3/4 3000 Limin 25um
OF—02(MINI) G1/8 1000 L/min 25um
OF-03(MINI) G1/4 1200 L/min 25um
OF-04(MINI) Ga/a 1400 L/min 25um
Lubrigater e R+ BAHE
OLfE ggﬁ Model Thread size Max rated flow
OL-04(MAXI) G1/2 8300 L/min
OL-06(MAXI} G3/4 8400 L/min
‘_ ~ OL—10(MAXI) G1 9000 L/min
OL-02(MIXI) G1/4 2800 L/min
| l OL-03(MIDI) G3/8 5500 L/min
=3 : OL-04(MIDI) G1/2 6100 L/min
I l g OL-06(MIDI) G3/4 6300 L/min
” I OL-02(MINI) G1/8 1300 L/min
OL-03(MINI) Gi/4 2300 L/min
OL-04(MINI} G3/8 2700 L/min

17



RIHESS amees

RIGHT PNEUMATICS MANUFACTURE

F.R.L Unit ZB#(Three unit) me  |@gR<t| BARE | EHEEEE | s EH% 5079 1
c Modal Thread size | Max.rated flow | Pressure adjustable range Fittration Pressure gauge Mote
AC2000 G1/4 750 L/min 0.15~0.85Mpa 25um Y40-01
BC2000 G1/4 | 1000 L/min 0.15~0.85Mpa 25um Y50-02 Eoﬁlgm?
[ | BC3000 G3/8 | 1500L/min | 0.15-0.85Mpa 25um YERDE | promsurs
BC4000 G1/2 3000 L/min 0.15-0.85Mpa 25um Y50-02 drain
F.R.L Unit —Bt#(Two unit) me  |wgR<t| BhmE | EHEEEE | wEsE & 7 % 5098
Modeal Thread size | Max.rated flow |Pressure ad le range Fi i Prassure gauge Mate
AFC2000 G1/4 750 L/min 0.15~0.85Mpa 25um Y40-01
BFC2000 G1/4 1000 L/min 0.15~0.85Mpa 25um Y50-02 E 2 HE kR
: | BFC3000 G3/8 | 1500L/min | 0.15-0.85Mpa 25um Y50-02 Er';*:;ﬁ:‘;
* v BFC4000 G1/2 3000 L/min 0.15-0.85Mpa 25um Y50-02 drain
Fiftarveaguintos we |@uR+| BAnE | EHAERE | wEmE | EHR 18
ﬂEﬂ ﬁiﬁ Model Thread size | Max.rated flow |Pressure adj le range Fi Pressure gauge Mote
AFR2000 G1/4 750 Limin 0.15~0.85Mpa 25um Y40-01
BFR2000 | G1/4 | 1000L/min | 0.15-0.85Mpa 25um T I e
BFR3000 G3/8 | 1500 L/min 0.15-0.85Mpa 25um Y50-02 pressure
! BFR4000 G1/2 | 3000L/min | 0.15-0.85Mpa 25um Y50-02 digin > 2
r o o b=} __\
R BYRY | mARE A EREE ENR oy L
],E_UE-E% Model Thread size Max.rated flow Pressure ad ble range temp pe o F?ange Pressure gauge 5 sﬁ
AR2000 G1/4 750 L/min 0.15~0.85Mpa -5-55T Y40-01 (0] U
BR2000 G1/4 1000 L/min 0.15-0.85Mpa -5-55T Y50-02 8 il\
BR3000 G3/8 1500 L/min 0.15-0.85Mpa -5-55T ¥50-02 o
BR4000 G1/2 3000 L/min 0.15~0.85Mpa -5-55T Y50-02 3 IE
o
Filter g ERERE S -
d gR SRR S i #88
ﬁ‘—"{ﬂ ﬁ%ﬁ u Model Thread size Max.rated flow Fittration tem El?;:fr'a'" anga. Note 1_1‘_,,3" 75
" AF2000 G1/4 750 L/min 25um -5-55T (] {*
= BF2000 Gi/4 1000 L/min 25um -5-55T ety S
1 BF3000 G3/8 1500 L/min 25um -5-55T pressure
BF4000 G1/2 3000 L/min 25um -5-55 drain
Lubricator B X
g me B R 5B AR 2itA
;ﬂ] g%ﬁ Maode| Thread size Max.rated flow tampefature ange Recommended ol
AL2000 G1/4 750 L/min -5-55T
'____z' BL2000 G1/4 1000 L/min -5-55T ISOVG32
- BL3000 G3/8 1500 L/min -5-55T EF1SH
BL4000 G1/2 3000 L/min -5-55T
Regulator S BB R~f BkikE EAHE%GE Ehk
-LE]E_EE Model Thread size Max.rated flow Pressure adjustable range Pressure gauge
UR-02 G1/4 90 L/min 0.15-0.85Mpa Y40-01
UR-03 G3/8 900 L/min 0.15-0.85Mpa Y40-01
UR-04 G1/2 1500 L/min 0.15~0.85Mpa Y50-02
UR-06 G3/4 1500 L/min 0.15-0.85Mpa Y50-02
UR-08 GA1 2000 L/min 0.15-0.85Mpa Y50-02
Lubricator
2 By R Bk
fa ﬁiﬁ Model Thread size Max.rated flow
uL-02 G1/4 90 L/min
UL-03 G3/8 900 Limin
UL-04 G1/2 1500 L/min
UL-06 G3/4 1500 L/min
uL-08 G1 2000 L/min
Filter e g R <t i i A 5B
ﬂsﬁ%ﬁ Modal Thread size Fittration Nota
UF-0D2 G1/4 25pm
UF-03 G3/8 25um E;f[ﬁbkﬁ
ifferent
UF-04 G1/2 25um Braki
UF-086 G3/4 25um drain
UF-08 G1 25um
Filter+regulator g R ~F EhiEESE R EhE 1588
i e 2R Modal Thread size Pressure adjustabla range Fittration Pressure gauge Note
UFR-02 G1/4 0.15~0.85Mpa 25um Y40-01
UFR-03 G3/8 0.15~0.85Mpa 25pm Y40-01 2 kB
UFR-04 G172 0.15-0.85Mpa 25um ¥50-02 Ll
UFR-06 G3/4 0.15-0.85Mpa 25um ¥Y50-02 drain
UFR-08 G1 0.15~0.85Mpa 25um Y50-02

18



A

IGHT PNEUMATIC

F.R.L Unit ZEt#(Two unit) z ;
i UE= Ba R~ EhiEEER pog o] Eh#= 1t A
Model Thread size Pressure adjustable range Fittration Pressure gauge Mote
UFR/L-02 G1/4 0.15~0.85Mpa 25um Y40-01
UFR/L-03 G3/8 0.15~0.85Mpa 25um Y40-01 = EHk L
UFRIL-04 G1/2 0.15-0.85Mpa 25um yio-gg: RSOl
UFR/L-086 G3/4 0.15~0.85Mpa 25um Y50-02 drain
UFR/L-08 G1 0.15~0.85Mpa 25um Y50-02
F.R.L Unit =B $(Three unit) g
M|y R~ EhiEEEE TR EAHE Wit BA
o« Model Thread size Pressure adjustable range Fittration Pressure gauge Mote
UFRL-02 G1/4 0.15~0.85Mpa 25um Y40-01
&4 UFRL-03 G3/8 0.15-0.85Mpa 25um Y40-01 £ EHERE
UFRL—04 G1/2 0.15-0.85Mpa 25um yapoge |FOR
UFRL-06 G3/4 0.15-0.85Mpa 25um Y50-02 drain
UFRL-08 G1 0.15-0.85Mpa 25um Y50-02
F.R.L Unit ZEX#k(Two unit) we |gapR<t| BARE | EHEEGE | wEsE Eh% 18
= Model Thread size | Max.rated flow |Pressure adjustable range Fittration Pressure gauge MNaote
SFC200 G1/4 | 1700 L/min 0.15-0.85Mpa 25um Y40-01 EahekE
SFC300 G3/8 | 2300 L/min 0.15-0.85Mpa 25um Y40-01  |Manual drain
SFC400 G1/2 3000 L/min 0.15~0.85Mpa 25um Y40-01
= o
oSl Filter+regulator We |@gRY| BAKE | EHENGE | wREE 1% 1
h' - ﬂﬂ E i}tiﬁg §§ Model Thread size | Max.rated flow |Pressure adjustable range Fittration Pressure gauge MNate
| 2 e SFR200 G1/4 | 2000 L/min 0.15-0.85Mpa 25um Y40-01
e l SFR300 G3/8 | 3000L/min | 0.15-0.85Mpa 25um L Mot
:}— (i i SFR400 G1/2 | 4000 L/min 0.15~0.85Mpa 25um Y40-01
o
i Lo
r§ Lubricator 3
s 2 we R+ B X R iy
ﬁ o mg%ﬁ " Model Thread size Max.rated flow Recommended oil P F?ange
=3 SL200 G1/4 1500 L/min -5-55T
1SO VG32
A l SL300 G3/8 2300 L/min ET1SH -5-55T
= SL400 G1/2 4000 L/min - -5-55C
RO7 Se‘rles regulator me g R+ ry— EAE%EEE %D}E'Enﬁ
07E 5 JE 88 Model Thread size Max.rated flow Pressure adjustable range temperature Range
RO7 G1/4 750 L/min 0.15-0.9mpa -50-55T
Auto drainer ERED ik ODEEAR| EHRE
AE B R BXiE : : o 15 A
i Bk 3 Moddl | Threadsize | Maxraied flow | Sperating oD neCon, liamosretun Hangel, _ Nots
AD202-04
2500 L/min 0-10Mpa ﬁfﬁf
AD402-04
AD402-04 AOK20B
AOK208 400L/H <pusgt | MEMAD
Gi/2
HAD202 800L/H
PS-15 HAD202 PS-15 600L/H
Cipiaigi: - e LR+ 8 R
Ej] ﬁ Model Thread size Madel Thread size
Y40-01 G1/8 GU40 G1/8
Y40-02 G1/4 GUS0 G1/4
Y50-01 G1/8 GF40 G1/8
Y50-02 G1/4 GF50 Gi1/4
Y63-02 2.5" G1/4 GP40 G1/8
Y GU GF GP Ya0-02 3" Gi/4 GP50 G1/4
Y80-04 3" G1/2
¥100-04 4" G1/2
Bracket e Special oil in Lubricator
.0} 2 e
T A5 Modal as Hoda! HEEE W ioda!
AR2000-02 AF2000-02 AR2000
AW2000-02 AF3000-03 :
AFR2000
SFR200 AF4000-04
AW3000-08
3 BFR2000
SFR300 B RH-01
AR4000-04 : Mouel BR3000
AW4000-04 %’? BFR3000
SFR400
AR5000-10 OF it
AW5000-10 oL BFR4000

19



s Sessess =
Hﬁﬁg—,—;] SHHIBER
PNEUMATICS
RIGHT PNEUMATICS MANUFACTURE EXPERT
Solenoid valve 2P/2V 025 series EAE EBREA
&S By R~ | REFL i CVi& Eilb:o .
2P/2V 025 %i §li @ ﬁ I‘E Model Thread size Effective a%a tempgﬂagt:ﬁgn ange CV value Type %?:;:I.:Feg Voltage
Dz
- e 2P/2V 025-06 G1/8 2.5mm _10-80C 0.23 gazp ocaay
| r 212 way 0-10Mpa AC3EV
2P/2V 025-08 G1/4 2.5mm _5-55C 0.23 Moy Py
AC380V
Solenoid valve 3V1 series
VISR e RYERYT | REILE ERAE cvie | = |BAERA aE
Mode| Thread size Effective area temperature Hange CV value Type pressure Voltage
oy DC12y
L‘ 3V1-06 G1/8 2.5mm -20-70C 0.23 so=e oczav
12 way 0.15-0.BMpa A{C::;s\.r
T 1 1
3V1-08 G1/4 2.5mm -20-70C 8,38 || e’ AGz2ov
AC3B0V
Solenoid valve 3V series e
3VE 51 B R "l 58 ®gRT | REBALE i cvis | mx |BRAEA aE
Ji Model Thread size Effective area temparature Range CV value Type pressure Voltage
4 3V110-06 G1/8 12mm? -20-70T 067 [E55L.
3V210-08 G1/4 16mm? -20-70C 0,89  |iwiarmeiy piotes —
3v310-10 G3/8 30mm? —20-70C 1.67 | ocasy
3V410-15 G1/2 50mm? —20-70T 2.79  |copra | 015-08Mps A8y
3V120-06 G1/8 12mm? -20-70C o A Acz20y
3V220-08 G1/4 16mm? -20-70C 0.89 |iniernaty pioted
3V320-10 G3/8 30mm? -20-70C 1.67  |gam
3V420-15 G1/2 50mm? —20~70C ST |
Solenoid valve 4V series 2 @y Rt | i & = CVia mz |BAED| gE
AVE 5| B R Model Thread size | Effective area tempa:l?astmgnlganga CV value Type Q,‘:;:HI‘E Voltage
4V110-06 G1/8 12mm? -20-70C 067 |zozE.
4V210-08 G1/4 16mm? —20-70C 0890 | by sika
4V310-10 G3/8 30mm? -20-70C 187 |aan
4V410-15 G1/2 50mm? -20-70T TR P
4V120-06 G1/8 10mm? -20-70C 0.67 |Siax
4V220-08 G1/4 16mm? -20-70C GHERT e -
4V320-10 G3/8 25mm? -20-70C 1.4 | s
4V420-15 G1/2 50mm? -20~70C TTa o™ S
4V130-06C G1/8 9mm? -20-70C 0.50 | g%5. ocasy
4V230-08C G1/4 12mm? -20-70C 0.67 | urhsioms | 015-08wpa |  ACSBY
4V330-10C G3/8 18mm? —-20-70C 1.00 | zamstan AC220V
4V430-15C G1/2 30mm? -20-70T 1.68 | i Aaeoy
4V130-06E G1/8 9mm? -20-70C 0.50 532_5?51
4V230-08E G1/4 12mm? -20-70C 0,78 | nuratrpions
a4 4V330-10E G3/8 18mm? -20-70C 1:00 | ThEEN
S 4V430-15E G1/2 30mm? -20-70C 1.68 | Shuion
| = 4V130-06P G1/8 9mm? -20-70C 0.50 53?%::9:
= 4V230-08P G1/4 12mm? -20~70C 0.78 | rpions
4V330-10P G3/8 18mm? -20-70C 1.00 | Zzamsnm
4V430-15P G1/2 30mm? -20-70C PBEL | ot
Solenoid valve 4M series 5 & BB & cVis |sEm®z| =i |EAED
4M§ ;‘] @'ﬁ N Model Thread size | Effactive area tsmpgraetmgn ange CV value | Coll powear Type ?;?::;:H;'eg Voltage
4M110-06 G1/8 12mm? _20-700C 0.67 gg;ga
4M210-08 Gi/4 12mm? —20-70C 0.89 tatormy pioted]
4M310-10 G3/8 12mm? -20-70C 0.67 i
: 4M410-15 G1/2 12mm? —20-70T 2.80 H g
4M120-06 G1/8 12mm? -20-70C 0.67 A
4M220-08 G1/4 12mm? —20-70C 0.89 i e
4M320-10 G3/8 12mm? -20-70C 1.40 zam
4M420-15 G1/2 12mm? —20-70T 2.80 skt |
4M130-06C | G1/8 7mm? 20-70C 0.67 e Lo
4M230-08C | G1/4 | 12mm? —20-70C | 0.67 marsvgsoed | o 1o o oMpn | AGHGY
4M330-10C | G3/8 18mm? -20-70C 1.00 oy riehl
4M430-15C G1/2 30mm? -20-70C 1.68 ik hrg e
4M130-08E | G1/8 7mm? -20-70C 0.67 5555"
4M230-08E G1/4 12mm? -20-70C 0.78 sl
4M330-10E G3/8 18mm? -20-70TC 1.00 ’r;:a";l,’::.zm.
4M430-15E | G1/2 30mm? -20-70C 1.68 ettt
4M130-06P | G1/8 7mm? -20-70T 0.67 E'gtu.’:*;’ﬁ'x
4M230-08P | G1/4 12mm? -20-70C 0.78 berirlopned
4M330-10P | G3/8 18mm? -20-70C 1.00 Boaton dacial
4M430-15P G1/2 30mm? -20-70C 1.68 i

O
o
s
=
Q
®
o
=
s
3
0]
o

20



¥ ol 28 %

O
o
]
-
o
@
o)
&=
o
3
@
o
—

= —
RIGHT PNEUMATICS

PNEUMATICS
MANUFACTURE EXPERT
Solenoid valve VF/DS series we ERIRE cviE | st & E fERE S
VF/DSE %I BB & Mode| Thread size | Effective area erera"n ange | CV value Type Voltage DDE:;:‘I_,‘:?
VF/DS3130 Gi/4 24mm? -5-55T 0.95 |ZOCpen
VF/DS5120 G3/8 49mm? _E=E5T 2 EQ  [etectricalcontral
VF/DS3230 G1/4 24mm? -5-55T 0.95 |zn-unsm
VF/DS5220 G3/8 49mm? -5-55T BIGD eieccatconim|. - DC1ZY
VF/DS3330 G1/4 18mm? -5-55T 0.75 |msmums | ACHY —
VF/DS5320 G3/8 30mm? -5-55T 2.00 |mimes ACTIOV
VF/DS3430 G1/4 18mm? -5-55T 0.95 |z priee
VF/DS5420 G3/8 26mm? -5-55T 2.30 |pomee,
VF/DS3530 G1/4 18mm? -5-55T 0.90 | haahis™
VF/DS5520 Ga/8 26mm? -5-55T 200 | gl
Solenoid valve MVSC series e B R~ | HEALE ﬁgp,,ﬁ‘nﬁ cvig | Bt L Ll xS
MVSCZ 5| Eb,m IE Modal Thread size Eftective area gange GV value Type Voltage p?essureg
MVSC220-4E1 G1/4 14mm? -5-55T 078 [mo=ti
MVSC260-4E1 G1/4 25mm? -5-55T 140 |awm
MVSC300-4E1 G1/2 50mm? -5-55T 2.80 |conta
MVSC220-4E2 |  G1/4 14mm® -5-55T 0.78 [zpu
MVSC260-4E2 | G1/4 25mm? -5-55T 140 |nsa
MVSC300-4E2 | G1/2 50mm:? -5-55TC 2,80 |contri —
MVSC220-4E2C |  G1/4 12mm? -5-55C 0.40 [Eo=t ocaay
MVSC260-4E2C |  G1/4 18mm? -5-55C 1.00 |Mamuns | acwev 0/15-08Mpa
MVSC300-4E2C | G1/2 30mm? —5-55T 1.68 |conoimest | ooV
MVSC220-4E2P |  G1/4 12mm? _5.55¢C 0.40 |Epzu e
MVSC260-4E2P |  G1/4 18mm? -5-55T 1.00 |Boii iecineal
MVSC300-4E2P |  G1/2 30mm? -5-55T 6B, | peencuratepe
MVSC220-4E2R |  G1/4 12mm? -5-55C 0.40 |ER=E
MVSC260-4E2R |  G1/4 18mm? -5-55% 1.00 _|Soi e
MVSC300-4E2R | G1/2 30mm? -5-55C 1.68 |Snauarypn
Air control valve 3A seires e By R~ | ABAE BRBE | cym memarvgmany EAED
3AZ 5] E\,}ﬁ m Modal Thread size Effective area Hange CV value psgr“";‘i:; Coil&Position p?essureg
3A110-06 G1/8 12mm? -5-55T 0.67 | G1/8
3A210-08 G1/4 16mm? -5-55T 0.89 G1/8 el
- w 3A310-10 G3/8 30mm? -5-55T 1.67 | G1/4 pum
;" 3A410-15 G1/2 30mm? -5-55T 279 | G122 sontral
0% 3A120-06 G1/8 12mm? -5-55T 0.67 G1/8 s o 1y-0shm
o 3A220-08 G1/4 16mm® -5-55T 0.89 | Gi/8 312 way
3A320-10 G3/8 30mm? -5-55T 1.67 G1/4 s
3A420-15 G1/2 30mm? -5~55T 2.79 G1/2 control
Air control valve 4A seires B iRt BRRE | cva (wemarvgmany TAED
4A§ §|J %}E m Mode| Thread size Effective area F?ange CV value s""";"s?;; Coil&Position p?esrsureg
4A110-06 G1/8 12mm? -5~60T 0.67 G1/8
4A210-08 G1/4 16mm? -5-55T 0.89 G1/8 el
4A310-10 G3/8 30mm? -5-55T 1.68 G1/4 aem
4A410-15 G1/2 50mm? -5-55T 2.79 G1/2 conrol
4A120-06 G1/8 10mm? —5-55T 0.67 G1/8 =
4A220-08 G1/4 16mm? -5-557C 0.89 G1/8 sizway
4A320-10 G3/8 25mm? -5-55C 1.68 G1/4 XA
4A420-15 G1/2 50mm? -5~55T 2.79 G1/2
4A130-06C G1/8 9mm? -5~55T 0.50 G1/8 ap=t
4A230-08C G1/4 12mm? -5-55T 067 | G1/8 ot o150 81
4A330-10C G3/8 18mm? -5-55T 1.00 G1/4 | bassrcaw
4A430-15C G1/2 30mm? -5-55T 1.67 G1/2
4A130-06E G1/8 9mm? -5-55T 0.50 G1/8 -
4A230-08E G1/4 12mm? -5-55T 0.67 G1/8 i
4A330-10E G3/8 18mm* -5-55T 1.67 G1/4 | Dotiear oo
4A430-15E G1/2 30mm? -5-55T 1.00 G1/2
4A130-06P G1/8 omm? -5-55T 1.67 G1/8 a0z
4A230-08P G1/4 12mm? -5-55T 0.67 G1/8 Sy
4A330-10P G3/8 18mm? -5-55T 1.00 G1/4 | e
4A430-15P G1/2 30mm? -5-55T 1.67 G1/2

21




RIHEZ5z el

RIGHT PNEUMATICS MANUFACTURE

TSV/RH series lever valve we P EERE ERER
TSV/BRH ﬁ §|Iq-:§ﬁ|ﬂ Maodel Thread size Operating temperature Range ?J?:Sr:ll.l‘:l&g
TSV86522 G1/4 -0-60TC
{ TSV98322 G1/4 -0-60T Aty
= RH531-06 G1/8 —0-60T
; RH532-06 G1/8 ~0-60T
Hand control valve 3H/4H series ne B Rt | RBRALE EREE CVil 27t B 3 e {gﬁﬁﬂfij:'
IH/AHZ 5 F 7 18 Modal Thread size | Effective area |emp2rp;lruargnrganga CV value Control type Valve type ;:;:i,?ag
3H210-08 G1/4 16mm? -5-55T 0.89 iR
3H310-10 Gais 25mm? _5-55C 1.40 ancraim: | G2 war Nammally
3H410-15 G1/2 30mm? -5-55C 1.68
4H210-08 G1/4 16mm? _5-55T 0.89 e
4H310-10 | G3/8 25mm? _5-55T 1.40 v i
4H410-15 G1/2 30mm? -5-55C 1.68
Hand control valve 3R/4R series S g R | RRILE EREE cvis | Emmst PAE] Edﬁiﬁ_j]'
3R/4R%E ;ﬂ %ﬁ Iﬂ Modal Thread sizea | Effactive area lemp?rP:lruargn angs CV value Control type Valve type p?:sr::_::l,g
3R110-06 G1/8 16mm? -5-55T 0.89
3R210-08 G1/4 16mm? ~5-55T 0.89 samun | SOCERAT
‘ “ 3R310-10 G3/s 25mm? -5-55T 1.40 Handrsum | ciosed
e \ s B 3R410-15 G1/2 30mm? -5-55TC 1.68 Ll
\/ \ 4R110-06 G1/8 16mm? -5-55T 0.89
= 4R210-08 G1/4 16mm? _5-55T 0.89 T Sk
4R310-10 G3/8 25mm? -5-55T 1.40 s - |
4R410-15 G1/2 30mm?* ~5-55T 1.68
Air control valve VFA series #E Eg R HEALE %ﬂﬁnﬁ CVia 5L {%;’E{E:-ni’
VFAZ @Jg_.gugﬂ Model Thread size | Effective area | yomparature g&nga CV value Type pressure ®)
VFA3130 G1/4 24mm? _5-55T 0.95 5 vy il S iy
VFA5120 G3/8 49mm? —5-55T 2.50 Sliciingi osatial = *.‘IE
R — VFA3230 G1/4 24mm? -5-55T 0.95 Zozunam o
- ‘” | VFA5220 G3/8 49mm? _5-55C 250 Siasrical Camiol = ﬁl]
,| =2 VFA3330 G1/4 18mm? -5-55C 0.75 %é;:%r Ao W s
. o VFA5320 Ga/8 30mm? ~5-55C 2.00 e = | I8
VFA3430 G1/4 18mm? -5-55T 0.95 Aama 'g {q:
VFA5420 G3/8 26mm? -5-55T 2.30 ol =
VFA3530 G1/4 18mm? -5-55C 0.90 Pt =3
VFA5520 G3/8 26mm? _5-55T 2.00 T =
Manifold 4V series - EHEE
AVEIICRAR B e oLk - oo Sy
et 100M-[IF avi0Oo-00 G1/4 1-20 -5-55TC
ﬂ 200M-CF 4v200-00 G1/4 1-20 —5-55T
300M-[F 4V30O0-00 G3/8 1-20 -5-55C
400M-COF 4V4OO-00 G1/2 1-20 -5-55T
Manifold VF series " : = o 2 EARE
VFRIITHIE g (o o® s okur oo it iyl
W \ : VF3 VE3OO0 G1/4 1-20 -5-55T
.. VF5 VF5CI00 G3/8 1-20 _5-55C

Solenoid valve SVS series

SVSE 5 HL i i B8 |ger<| kEne | TERE | ovm \ammz wx | \FRED
odal Thread size | Effective area temperature Range CV value | Coll power Type prassurs Voltage
SVS4130-10 | G3/8 40mm? ~5-55T 6.4 [
SVS4130-15 | G1/2 | 42mm? ~5-55T 11 preariLsipii oisomme | 22,
SVS4230-10 | G3/8 40mm? -5-551C 6.4 iﬂ;;ﬂ;ﬁ: i AG220V
SVS4230-15 | G1/2 42mm? —5-55T 1 sleciricai cantral

22



s Sessns =
RIGHT PNEUMATIC

!

PNEUMATICS
MANUFACTURE EXPERT
S3 series mechanical valve o ERRE
SIZ FIHLH o e e e iy e
S3B-M5 M5 0-0.8Mpa —5-60T P
S3B-06 G1/8 0-0.8Mpa —5-60T sl
S3B-08 G1/4 0-0.8Mpa —5-60T
e S3R-M5 M5 0-0.8Mpa ~5-60T [E—
' " SOR-06 LG 0-4.5Mpa -5-60C Double-direction roller
[ a S3R-08 Gi/4 0-0.8Mpa ~5-60T
S3L-M5 M5 0-0.8Mpa -5-60T o
S3B saL S3R SEit GoliE Het Blipa =5-60C Single—direction roller
S3L-08 Gi/4 0-0.8Mpa -5~60T
S3HL-M5 M5 0-0.8Mpa -5-60T o
S3HL-06 G1/8 0-0.8Mpa -5-60T g
S3HL-08 G1/4 0-0.8Mpa -5~60T
S3V-M5 M5 0-~0.8Mpa -5~60T [ —
3 S3V-06 G1/8 0-~0.8Mpa -5~60T VR IOAS
A S3V-08 G1/4 0-0.8Mpa -5~60T
S3PL-M5 M5 0-0.8Mpa -5-60T J——
S3HL s3V S3HS S3PL-06 G1/8 0~0.8Mpa -5~60T Emergency stop button
S3PL-08 Gi1/4 0-0.8Mpa -5-60TC
S3HS-M5 M5 0-0.8Mpa -5~60C A
' ’ ' ' S3HS-06 G1/8 0-0.8Mpa -5-60T Sebactar
1 w S3HS-08 G1/4 0-0.8Mpa -5~60T
; : i S3PP-M5 M5 0-0.8Mpa -5-60C ]
53PP=06 Gi1/8 0=0-3kipa =BT Raised-head push button
S3PP-08 G1/4 0-0.8Mpa —5-60C
e SEE it AR S3PM-M5 M5 0-0.8Mpa ~5-600 T
S3PM-06 G1/8 0-0.8Mpa —5-60T Mhshicuiom sl aish
S3PM-08 G1/4 0-0.8Mpa ~5-60T
S3PF-06 M5 0-0.8Mpa ~5-60T -
S3PF-M5 G1/8 0-0.8Mpa —5-60T Bkt haa SkH Bt
S3PF-08 G1/4 0-0.8Mpa —5-60T
O
F
=8 NS3series mechanical valve = ERERE Wt
*u % NS3Z 51 #1418 il bl Operatingpréssure | o OPSalNG Tyne
— O NS3R-M5 M5 0~0.8Mpa ~5-~60T
JL< NS3R-06 G1/8 0-0.8Mpa _5-80T frﬂi‘fﬂ’f@ ;
{¢-g NS3R-08 G1/4 0-0.8Mpa 5-60C ouble-direction roller
= P NS3L-M5 M5 0-0.8Mpa _5-80C —
= -._\ﬁ. H“*" NS3L-06 G1/8 0-0.8Mpa -5-80T s y
2 [ ! NS3L-08 G1/4 0-0.8Mpa _5-60T WINGEIEIPE
NS3Y-M5 M5 0-0.8Mpa _5-60C
NeIR NS NS NS3Y-06 G1/8 0-0.8Mpa —5-60C Kinsl
NS3Y-08 Gi/4 0-0.8Mpa _5-60T Lpoe-hantle
NS3C-M5 M5 0-0.BMpa -5-60T
NS3C-06 G1/8 0-0.8Mpa -5-60T ;Tfhandmype
r ‘ NS3C-08 G1/4 0-0.8Mpa -5-60T
(1] : NS3D-M5 M5 0-0.8Mpa -5-60T
j"‘i' }- ﬁl“ A NS3D-06 Gi/8 0-0.8Mpa -5-60T DR
L NS3D-08 G1/4 0-0.8Mpa -5-60T Sl inek Ry anta
Haso Ns3D e NS3PL-M5 M5 0-0.8Mpa —5-60T }
NS3PL-06 G1/8 0-~0.8Mpa —5-60T Eu
NS3PL-08 Gi/4 0-0.8Mpa ~5-60T direct-action type
NS3PP-M5 M5 0-0.8Mpa -5-60T
NS3PP-06 G1/8 0-0.8Mpa —5-60C SAans
NE3PP03 G1la 0-0.8Mpa SBLesR Raised-head push button
. NS3PM-M5 M5 0-0.8Mpa -5-60T ;
ﬁ 1"--*1' NS3PM-06 G1/8 0-0.8Mpa —5-60T R panme
NS3PM-08 G1/4 0-—-0,3Mpﬂ _5-80T Mushroom push button
NS3PP NS3IPM NS3PF
NS3PF-M5 M5 0-0.8Mpa ~5-60C .
NS3PF-06 G1/8 0-0.8Mpa -5-60T
HEABE Ok =y 0-0.8Mpa oo Flat-head push button
NS3HS-M5 M5 0-0.8Mpa -5-60T —
NS3HS-06 G1/8 0-0.8Mpa —5-B0T
NS3HS-08 G1/4 0-0.8Mpa —5-60T Sledtar

23




s Sessses = p—
RIGHT PNEUMATICS MANUFACTURE Expens'r
M3 series mechanical valve e @ R M5 series mechanical valve = 1845 Rt
M3 E 5] #16 i8 Made! Thread size M5 Z 51| #14 i3 Model Thread size
M3B110-06 G1/8 M5B110-06 G1/8
M3B210-06 G1/8 M5B210-06 G1/8
M3B210-08 Gi/4 M5B210-08 Gi/4
M3C110-06 G1/8 M5C110-06 G1/8
M3C210-06 G1/8 M5C210-06 Gi/8
M3C210-08 Gi/4 M5C210-08 G1i/4
M3D110-06 G1/8 M5D110-06 G1/8
M3D210-06 G1/8 M5D210-06 Gi/8
M3D210-08 Gi/4 ey s el M5D0210-08 Gi/4
M3R110-086 G1/8 M5R110-06 G1/8
M3R210-06 G1/8 M5R210-06 G1/8
M3R210-08 Gi/4 M5R210-08 Gi/4
M3L110-06 G1/8 M5L110-06 Gi/8
M3L210-06 Gi/8 o M5L210-06 G1/8
a iy M3L210-08 Gi/4 y M5L210-08 Gi/4
B! M3Y110-06 Gi/8 M5Y110-06 Gi1/8
M3Y210-06 G1/8 M5Y210-06 G1/8
M3y M3Y210-08 G1/4 MSY M5Y210-08 Gi/4
M3PM110-06 G1/8 M5PM110-06 G1/8
M3PM210-06 G1/8 M5PM210-06 G1/8
M3PM210-08 G1/4 M5PM210-08 Gi/4
M3PP110-06 G1/8 M5PP110-06 G1/8
M3PP210-06 G1/8 M5PP210-06 G1/8
i M3PP210-08 Gi/4 g g al ¢ M5PP210-08 Gi/4
it ) o'’ M3PF110-06 G1/8 -/ " i M5PF110-06 G1/8
% ' & M3PF210-06 Gi/8 - 2 M5PF210-06 Gi/8
M3PF210-08 Gi/4 M5PF210-08 Gi/4
M3PM M3PP M3PL M3PL110-06 G1/8 MSPM MS5PP MSPL M5PL110-06 G1/8
M3PL210-06 G1/8 M5PL210-06 G1/8
M3PL210-08 G1/4 M5PL210-08 Gi/4
M3H5110-06 G1/8 M5HS110-06 G1/8
M3H5210-06 G1/8 M5HS210-06 G1/8
M3H5210-08 G1/4 M5HS210-08 Gi/4
VM series mechanical valve e BE R {gﬂﬁ? %pﬁ!;ﬁ"i g
VIME B 1+ 3 Model Thread size pressure temperature Range L
e VM131-01-00 G1/8 0-0.8Mpa -20-70C E A HBasic
e G VM131-01-01 G1/8 0-0.8Mpa —20-70T 4 EDirection roller
YM131-01-00 VM131-01-01 VM131-01-02 G1/8 0~0.8Mpa -20~70T 1 [5) % BYSingle—direction roller
e - = L —3 VM131-01-30 G1/8 0~0.8Mpa -20-70TC E 7 3k 32 HiMushroom push button
: VM131-01-32 G1/8 0-0.8Mpa -20-70TC {1 i 3k ¥ HiRaised-head push button
o E G+ | VM131-01-33 G1/8 0-0.8Mpa -20-70T F 3k 4% #HFlat-head push button
VM131-01-30  VM131-01-32  VM131-01-37 VM131-01-33| YM131-01-34 G1/8 0-0.8Mpa -20-70T FEEH 4 Big round push button
VM131-01-37 G1/8 0~0.8Mpa -20-70TC 21528 B Emergency stop button
JM series mechanical valve e ERES ERRE 0k
e Operating Operatin
JME FI #1488 Madel Thread size pressure temperature Range Type
Jmaz2 G1/4 0~0.8Mpa -5~60T E & & Basic
JM322R G1/4 0-0.8Mpa -5-60T #EE Roller
JM322PP G1/4 0-0.8Mpa -5-60T F T Flat-head push button
'IH!' s -F' JM322PPL G1/4 0-0.8Mpa -5-60T ik #4030 Raised-head push button
b a JM322PB G1/4 0-0.8Mpa -5-80C F [F &2 4 Big round push button
JM322EB G1/4 0~0.8Mpa -5-~60T i #i B 42 8 With lock push button
JM322TB G1/4 0~0.8Mpa -5-60T k1R 4 Selector push button
MV322 series mechanical valve
; 5 ERED & AR
MVRE RN - i e S e
P .ﬁ MV32z G1/4 0-0.8Mpa ~5-60T R Basic
E H'_ ; MV322R G1/4 0-0.8Mpa ~5-60T 48 Roller
MV322 MV322R MV322PP MV322PP G1/4 0~0.8Mpa -5-60T FiLHARA Flat-head push button
MV322PPL G1/4 0~0.8Mpa -5~60T 33 H 50 Raised—head push button
MV322PB G1/4 0~0.8Mpa -5-60T B &4 Big round push button
I i MV322EB G1i/4 0-0.8Mpa -5-60T #4340 With lock push button
MV322PPL MV322PB MV322EB MV322TB MV322TB G1/4 0-0.8Mpa -5-60TC #EFF R4 Selector push button
. . =
MV522 series mechanical valve Mo LR {%Egﬂjg] {%pﬁ!;xg A5t
MV522 ﬁ §|J *Rm IE % Model Thread size Pressure temperature Range Type
: 3 MV522 G1/4 0-0.8Mpa —5-60C A& Basic
E E W MV522R G1/4 0-0.8Mpa —5-60T ##8 Roller
o MV522PP G1/4 0~0.8Mpa -5-60T F L2 Flat-head push button
MID22 gy TenaaR L IVBREDE MV522PPL G1/4 0-0.8Mpa ~5-60C 43k 5% Raised-head push button
e MV522PB G1/4 0-0.8Mpa -5-60T F E & ## Big round push button
& & i i MV522EB Gi/4 0-0.8Mpa -5-60T #H4B % H With lock push button
MVE22PPL MV522PE MV522EB MV522TB MV522TB G1/4 0~0.8Mpa -5-60T R F B 4 Selector push button

O
o
=~
)
o
o
=
g
3
®
o

f
31
JC
e

24



RIHESS amees

RIGHT PNEUMATIC

series mechanical valve i
e 8 | mmey | BEET | GO st
CcMm 3% ?'J mmm . Madel Thread size pressure Range ¥ps
& e CM3B G1/8 0-0.8Mpa -5-60T E A H Basic
e oeid !L} E CM3R G1/8 0-0.8Mpa -5-60T %3 Roller
::'33 ‘ZmR %-\!;L o cMaL G1/8 0-0.8Mpa -5-60T SERLALFT Roller lever
. CM3PL G1/8 0~0.8Mpa -5-60T B4 With lock push button
- - y - CM3PF G1/8 0-0.8Mpa ~5-60C 3L Flat-head push button
E E E E CM3PP G1/8 0-0.8Mpa -5-60C k34 Raised-head push button
:)MSPF png CM.:iP.M cmHé CM3PM G1/8 0-0.8Mpa -5-60C T #% Sk 3% 40 Big round push button
CM3HS G1/8 0~0.8Mpa -5-60T 2R Selector push button
i i =]
MOV series mechanicalvalve we LR {gm[ﬁj) %mmﬁ ey
MOV % Il HL# iE Model Thread size prassure re HRange Tyas
MOv3z21 G1/8 0~0.8Mpa -5~-60TC £ A& Basic
MOV321R G1/8 0-~0.8Mpa -5-60C #4:® Roller
MOV321PP G1/8 0-0.8Mpa -5-B0C Fik#EAR Flat-head push button
MOV321PPL G1/8 0-0.8Mpa -5-60T 33 H st Raised-head push button
A ‘,' MOV321PB G1/8 0~0.8Mpa -5-60C Jc[E # 2 41 Big round push button
G,E.—& MOV321EB G1/8 0-~0.8Mpa -5~60C # 4 ® 4 With lock push button
MOV321TB G1/8 0~0.8Mpa -5-~60T #1F B 4 Selector push button
4HV series hand-switching valve
4HVER I F i 58 ggRrR+ | BAES | cyg BE R | BREN | cyy
Maodel Thread size pfessuteg CV value Model Thread size p?essursg CV valua
4HV210-06 G1/8 0-1Mpa 0.78 4HV230-06 G1/8 0~1Mpa 0.78
- - . P
& 4HV210-08 G1/4 0-1Mpa 0.88 4HV230-08 G1/4 0-1Mpa 0.89
4HV310-08 G1/4 0-1Mpa 1.67 4HV330-08 G1/4 0-1Mpa 167
4HV310-10 G3/8 0-~1Mpa 1.83 4HV330-10 G3/8 0~1Mpa 1.83
4HV410-15 G1/2 0-1Mpa 4.89 4HV430-15 G1/2 0-1Mpa 4.89
4HV410-20 G3/4 0-1Mpa 5.27 4HV430-20 G3/4 0-1Mpa 5.27
XQ series mechanical valve
XOQFE P
ne EGRY e |WERT B |BARY By |RGRY
Model Thread size| Madel Thread size Model Thread size| Model Thread size|
@ = XQ230422| G1/8 :';‘-E XQ250612| G1/8 XQ250610| G1/8 XQ250621 G1/8
iy g XQ250422| G1/8 \. = XQ230612| G1/8 XQ230610| G1/8 XQ230621 G1/8
E = XQ230622| G1/4 XQ230412| G1/4 XQ250410| G1/4 XQ250421 G1/4
*I] O_ XQ250622| Gi1/4 XQ230412| G1/4 XQ230410| G1/4 XQ230421 G1/4
(]
-_— 0 ST seires foot valve QE seires quick exhaust valve RE seires flow control valve ASC seires flow control valve
JLE BTt QERFBHMSH RERBIi# i 5 ASCE
O E (B RY & MRG R BE MURT| mwes® ik MR R~
{¢ 3 Model Thread size Model Thread size . Modal Thread size : Model Thread size
o) ST402 | G1/4 QE-01 | G1/8 RE-01 | G1/8 $ [AsCi00-06| Gi/8
2 ST403 G3/8 QE-02 G1/4 RE-02 G1/4 g ASC200-08 G1/4
ST402A G1/4 QE-03 G3/8 RE-03 G3/8 g ASC300-10 Ga/a
ST403A | G3/8 QE-04 G1/2 RE-04 G1/2 ASC300-15 G1/2
HV saries hand-awilching valve ST seires shuttle valve HFS flow switch
HVE S F# 1\ i STRM#EM = HF S B = £
e |myRt e e | GERY BRRE
Model Thread size Maodel Thread size Maode! Thread size I%ange
HV-02 G1/4 _— a S5T-01 G1/8 HFS-15 G1/2 0-60T
HV-03 G3/8 ‘ - = 5T-02 G1/4 HFS-20 G3/4 0-60TC
HV-04 | G1/2 Q= ST-03 | G3/8 HFS-25 G1 0-60T
HV200 G1/4 ST-04 G1/2
4F saires foot valve 3F seires foot valve FV seires foot valve Electronic drainh
AF R IR SFRFIEIE R FVER T 0 3 i AT HEK AR
S ga R~ #S (B R S |[BE R~ S  |[#BH RS
Modal Thread size Model Thread size Model Thread size Modal Thread size
4F210-08 G1/4 BFM210-08) G1/4 FV320 G1/4 OPT-A G1/4
4F210-08L G1/4 13F210-06 G1/8 Fv420 G1/4 OPT-B G1/4
4F210-08G G1/4 FV-02 G1/4 OPT-T ;
4F210-08LG | G1/4
HSV series slide switch
HSV R 51 Eh FF %
S (EHRS S By RS S S |y R
Model Thread size Model Thread size Model Thread size Model Thread size
HSV-06 G1/8 ? HSV-0655| G1/8 HSV-06FF| G1/8 HSV-06SF| G1/8
HSV-08 G1/4 HSV-085S| G1/4 HSV-08FF| G1/4 HSV-08SF| G1/4
HSV-10 G3/8 HS5V-1085| G3/8 HSV-08FF| G3/8 HSV-108F| G3/8

HSV-15 G1/2 HSV-1588| Gi/2 HSV-15FF| G1/2 HSV-158F| G1/2

25



E/Figurel E/Figure2 B/Figure3d E/Figured E/Figure5
L@ L@ & @ s @ & @
o & o &lm - : 1J> s ) 'l‘ Loodm M’. Lm
@ @ @ @ @ 3 A @ @k Lo-3)
G0 Tt T M T g
% H 3 H @ (6H @ ®H
DNS-304 DNS-304M DNS-604 DNS-604M DNS-606MM
DNS-306 DNS-306M DNS-606 DNS-606M
i 556 FxREE HIBEEE &
DNSHEJIIEAF X ma E.Ej]@] A i (Ega Switch pressure Factory set value ﬁé%ﬁ %;ﬁ EE
: : Madel : o Max.working| G Weight
Pressure control switch DNS series side %2\ ﬁa::c ﬁi;{\ ﬁgc off(on) on(off) [Maxwerking) Contact
=t |_0.06{-50cmHg} [0.4{4)| 0.04{0.4} | 0.2{2} |0.1{1}| 0.2{2} | 1.5{15}
DNS-304M TR EANERaT, BATANTONE. ES
088)  |3ro0) | Biputs ety | 220} | FHEM |'3.3133) | e
G . o_|-0.06{-50cmHg}|0.6{6} o,oa{o,s}l 0.4{4} |0.2{2}| 0.3{3} | 1.5{(15}| 2
C DNS-308M TR :
. 0.8(8) 3(30} [ hepve o iomizaly | 2(20} [ FHEML | 3.3(33) 0.49
-0.06{-50cmHg} |0.4{4} 0.04{0.4} | 0.2{2} [0.1{1}| 0.2{2} | 1.5{15}
‘. DNS-604M ERENRARAT, BN TANFARE. m
s P 0.8(8) |3{30) [smbermsiiceieny 2(20} | F IR 3.3(33) | L.
L 9 |_0.06({-50cmHg}|0.6{6)| 0.06{0.6) 0.2{2}| 0.3{3} | 1.5(15} | 4
DNS_GDGM D 3 EhEHEARNE, THNTFTARIRER. 2 3 3
e S e 50 T e el
= . '.‘L‘TJ;*’:H&‘&_‘I&. BENTRXIDEL #
ONS-606 [umaemunase|~0-06-50cmHg} 0.6{6) wmptsmicaeisnazay i 0-2(2) e DA | 1.5(15) 85
= & LB ASEE, S FRHTHE
LOEM | os@) 3{30) [ Mmoo aiamminaly | 2(20} 3.3{33} | 5
RNSZE I EHF* e AHEE 53:%@5% L!ﬂ"ﬁiﬁtii{ﬁ ﬁjc%ﬂf A _—
. & = Adj range witch pressure actory set value E st ]
Pressure control switch RNS series P =T Exk =N B off(on) | on(off) | Maxworking | Coniact| Weight
Min. Max. Min. Max. pressure form
RNS-100 |-0.01{-50cmHg}|-0.1{1}| 0.02{0.05} [0.05{0.5} 0.3(3)
RNS-101|-0.06{-50cmHg}| 0.1{1} |0.015{0.15}|0.05{0.5}{0.025{0.25}|0.05{0.5}|
RNS-102 |-0.02{-50ecmHg}| 0.2{2} |0,025{0.25}|0.15{1.5} 0.5{5}
RNS-103|-0.06{-50cmHg}| 0.3{3} |0.035(0.35})| 0.2(2} | 0.05{0.5} [0.15{1.5})| 1{10} |s.pm
RNS-106 |-0.06{-50cmHg}| 0.6(6} | 0.06{0.6} | 0.4{4} 0.2{2} 0.3(3) 15(18) Single| 0.33
RNS-110 0.1{1} 1410} | 0.1{1} 0.3{3} 0.4{4} 0.6{6) ) chart
RNS-120 0.5(5) 2{20} | 0.2{2} 0.5(5} | 1.2{12} | 1.5{15} | 3(30} g)
RNS-130 ) 3{30} | 0.3(3) 1{10} 2{20) | 2.5(25) | 3.3(33) e
RNS-135 1{10} 3.5(35}| 0.5(5) | 1.5{15) | 2.5{25} 3{30} | 3.8(38) = 1£
(o]
5l
RKP1& 3 [EHFx o — L{B&EF_(LP) EF{HP)Q ﬁdj;tﬂi:ﬁlil BMA% | ~gun c JC
1 . % ‘ oW pressure 1gh pressur actory set value r:
Pressure control switch RKP1 series Mosel | resswe | WBE| EE |WHEE| EE | RELP)| BEHP)| Conmt |prodet merce go)
Adjustablerange| &p bar  |Adjustablerangs | Ap bar Low pressure|High pressurd g
RKP1 | JEE | —0.2-7.5/-0.7-0.4 wom =
E EE0.7 fo
RKP1 Lw{Egreswre -0.9-7.0 Fixed 0.7 Manual 5’—7]”%
RKP2 me};ﬂm —-0.2-+5.0) 415 Auto matic = d%lﬁk?ittﬁ%aw
14
RKP5 Hii:ﬁ 832 1.—;;0 o e stk
(=1
RKP5 | high §—32 Fixad 3 Manual
B4
RKP15 L"“:'m,.. —0:2>7.5[0.720:4) 8732 F.ixﬁ-i .ﬂuﬁﬂtic .ﬂuﬁzlutic Lo
RKP15 |5 R i,,,| —0.2-7.5(0.7-04| 8-z | B4 | BEN | B | Zngeper,
: EIE0.7 Bl Fah Fz Y
RKP15 Doub?gjrezssure -0.9—7.0 F:eﬂu.? 8—32 add Manual Manual |g§]§:ﬁ;a
RKP15 | BUE _0.9-7.0| EE0T 8—32 ElE4 DES BES signal
Dauble pressure a i Fixed 0.7 Fixad 4 Variable Variable
RKP35 Ln!ﬁgm%:rs 0.2—7.5 | 0.70.4 Auﬁr?;t}c Auloﬁi!?atlc G1/4A
RKP36 prresslure 2—14 1—04 Auto malie G1/4A
Solenoid valve 2S series LR B R~ | EILE %E.ﬁnﬁ CVili | Zm@InE | R %ﬁﬁ%’ B E
283 ?'ﬂ‘ﬁﬂ Eﬁﬁm Model Thread size | Effective area temperature Range| CV value | Coll power Type pressure Voltage
25025-06 G1/8 2.5mm -5-~100T 0.23 15VA
25025-08 G1/4 2.5mm -5-100T 0.23 15VA
25040-10 G3/8 4.0mm —-5-100C 0.60 | 20VA o2y
25160-15 G1/2 16mm -5~100C 480 | 2ovA | b3t E’gg.‘,‘;’
i
25200-20 G3/4 20mm -5~100T 7.60 | 20VA S 0-0.9Mpa 28;3‘13”3
25250-25 G1 25mm -5~100T 12.0 | 20VA Nl e
25350-35 G1Y% 35mm -5-100T 24.0 | 50VA
25400-40 G1% 40mm -5-100TC 29.0 | 50VA
25500-50 G2 50mm -5-100T 48.0 | 50VA

26



PNEUMATICS
RIGHT PNEUMATIC MANUFACTURE EXPERT
Solenoid valve 2W series e BURY | REAR EHmE cvia | mx [BAEN am
oW % §|] ﬁ & m Moded Thread size Effective area f i Rgarlga CV value Type p?s;s::wg Voltage
2W025-06 G1/8 2.5mm -5-100C 0.23
2W025-08 G1/4 2.5mm -5-100C 0.23 -
2W040-10 G3/8 4.0mm -5~100T 0.60 — 0-1MPA Detay
2W160-15 G1/2 16mm -5-100T 4.80 L — et
2W200-20 G3/4 20mm -5-100 7.60 e L
| o
2W250-25 G1 25mm -5-100C 12.0 dorenps |MOE | acezov
2W350-35 G1% 35mm -5-100C 24.0
2W400-40 G1% 40mm -5~100C 29.0
2W500-50 G2 50mm -5-100C 48.0
2/2 way Air control B B R HBAE (vl cvia
2Tﬁ §Ij §€: iﬁ m - Madel Thread size Effective area temparature Range CV value
2T200-20 G1/8 20mm -5-100C 12
2T250-25 G1/8 25mm -5-100C 12
2T350-35 G1/4 35mm -5-100TC 24
2T400-40 G1/4 40mm -5-100T 48
2T500-50 G1/4 50mm -5-100TC 48
Solenoid valve 2L series me Wy R~| wBAE %:E.ﬁnﬁ cvig | eEm=| @ %T&nj]
2LE T A Model Thread size | Effective area |tomperature Range| CV value | Coll power Type plr)assurau Voltage
2L170-10 G3/8 17mm -5-185T 4.80 S50VA
2L170-15 G1/2 17mm -5-185C 4.80 | 50VA e
21.200-20 G3/4 20mm -5-185T 7.60 | 50VA iy Rty
21250-25 G1 25mm -5-~185TC 12.0 50VA 22 way 0-0.8Mpa Ay
21350-35 Gi% 35mm -5-185T 20.0 | 50VA b Actioy
2L400-40 G1% 40mm -5-185C 20.0 50VA Acsso
2L500-50 G2 50mm -5-185T 48.0 50VA
Solenoid valve FB2E series FRAE ERET
E piR= MR~ | EFLE : CVili |Z&EhE| ZRK 2 B [E
FB2E g"; yﬂ EE& 'ﬁ Model Thread size | Effective area mmpgf.':tﬂf;" angel CV value | Coll power Type %?:;:::reg Voltage
D12y
g) FB2E-V-08 | Gi/4 | 2.4mm soze pcv
73 2 -5-85T 0.23 | 100W | 22wy ocommps | maa
= =X Ga/s Smm Phiriaty :g;g:
$I] o ; , FB2E-V-10 closa type A2apy
8 Solenoid valve DC231 series
— EEEE EREN
j‘B =8 DC231% 5| E i s o R | mEALE Sharalt CViE |ZEIhaE | s Coteatn 1 E
- r Madel Thread size e e o lgange CV value | Coll power Type plessureq Voltage
$3
o) DC231-Y-08| G1/4 1.6mm Faa
3 -5~85T 0.23 100W =0Z{fw 0-0.8Mpa AC3EY
=7 2 way ACTI0V
DC231-Y-10| G3/8 2.0mm AG220V
ACIBIN
Solenoid valve Q22/Q23 series me By R~ | pEe | TARE cvis |smEmz| mx BRAEN pg
Q22;"Q23¥ §!] Eam H e Model Thread size | Eff; area bt ange CV value | Coll powear Typae DE:;:J;‘GQ Voltage
@ Q22XD-2L G1/4 2.0mm -5~85T 0.23 15VA  |=n-wwest Dy
Q22XD-3L G1/4 3.0mm -5-85T 0.40 15VA | Nometycioss e S AT
Q23XD-2L | G1/4 2.0mm -5-85TC 0.23 | 15VA |Zroemas) ©O Actiov
” Q23XD-3L G1/4 3.0mm -5-85T 0.40 15VA  |Nomalyciosatype ACIROV
1 ri i Iv 3
VX2120 series solenoid valve e RURT | REALE %ﬁﬁnﬁ Wt BAEA HE THENE
VX21 20#, -§|J E ﬁ fw Mode| Thread size |Effective area Iemparpaturs ange Type Max.pressure Voltage Fluid
VX2120-06 G1/8 3mm -5-+80T e DG12V EHES, .
=l DC24v wis | &
VX2120-08 | G1/4 3mm —5-+80C L ke aczv bt S
VX2120-10 G3/8 13mm —5-+80T 22wy AC11OV Comprosmad i
VX2120-15 | G1/2 13mm —5-+80C dosed | Aasy | (Beiows0osT
PU220 series solenoid valve o ;
e | goRt | geEne| EARE cve | Bk (BXEH| BE | IHENE
PUR220% 5 B8 B 18 ] Model Thread size |Effective areal jomparature Rangs | OV value Type  [Max.pressurel \Valtage Fluid
PU220-01 G1/8 1.5mm -10-+90C 0.10
PU220-02 G1/4 2.3mm -10-+90C 0.18 oy AR %
PU220-03 | G3/8 8.0mm -10~490C | 1.00 | ZHZE .| e ooaey | ERIEC
PU220-04 G1/2 13mm -10~+90TC 4.00 202 way AC3EV Compressed Air,
HNormally ACT10V Water, Light oil
PU220-06 G3/4 20mm -10~+90T 8.60 clased ACZ20V | {Below 50CST)
PU220-08 G1 25mm —10-+90T | 11.00 ALAR

27



O

RI H RIGHT P

PU225 series solenoid valve

=7 SIHESR
]

EUMATIC

=

PU225% 51l R i R+ | pEAE| ERE cvig | B [BXEN| mE |[Tesm
Model Thread size |Effective area lempefa?ruarem ange | CV value Type Max.prassure|  \oltage Fluid
PU225-03 G3/8 25mm -10~+90T | 12.00 | —5-p pG12v BTN, .
®FERT DC24v S | 00
PU225-04 G1/2 25mm -10~+90T 12.00 4 A28V STHLT)
202 way 1.5Mpa AC3EY
PU225-06 G3/4 25mm -10-+90C 22.00 Normally ACTIOV Compressed Alr.
closed AC220V Watar, Light oil
PU225-08 G1 25mm —-10-+90C | 30.00 AC3aDy | (Below30CST)
Solenoid valve series 3
VT307/VX2120 we |goR|pEae| EREE | ovg [g@Eyx| st AR ag
Model Thread size | Effective area temperature Range| CV value | Coll power Type pressure Voltage
=3
VT307 G1/4 = -5-85T 0.23 | 5VA dw | o-07Mpa | pcaavaczzov
VX2120 G1/4 2mm -5-85T 0.23 BVA Zhze Dv24v
22wy 0-0.9Mpa e
VX2130 G3/8 10mm -5-85T 0.23 8VA e
TX series solenoid valve Be wo Rt | pEnm| EARE | coug | mst [BXEN| BE | TeEsm
TXﬁ 5’] EEH& IE Model Thread size |Effactive area tempsraatm'em ange CV value Type Max.pressura|  Voltage Fluid
TX5404-04 | G1/2 12mm -5~+150C omp | SEER . 15U B i
TX5404-06 | G3/4 25mm —5-+150C 5.00 | fomaly  [cuso1-shion ki
TX5404-08 G1 25mm -5-+150C OO0 |, e aeiing | D~ ety bl
TX2231008 | G1/4 10mm —10-+90C 2.00 SO
TX2231010 | G3/8 10mm -10-+90C 2.00 Rany
TX2231015 | Gi/2 13mm -10-490T 3.80 |mames T
TX2231020 G3/4 20mm -10-+90C 8.30 2/2 way 0.03-1.0Mpa ;ggsx
TX2231025 G1 25mm ~-10-+90C 11.00 | Dizphragm
iglenold Valve
TX2231032 | G1% 40mm —10-+90C 25.00
TX2231040 | Gi1% 40mm —-10-490T 30.00
TX2231050 G2 50mm ~10~490C 45.00
2V130 series solenoid valve me sy R | mEAE %E’ﬁnﬁ cvia | @z |BAEA| BE |Tenm
2VI30& DI B E M Madel Thread size |Effective areal 1o moefotire Range | GV value Typa Max Voltage Fluid
2V130-10 G3/8 13mm -10~+80C 820 | - -n o2V | mmes. k.
prp=prg =Y il | ES00
2V130-15 G1/2 13mm -10~+80T 6.20 Mpa AV | STUT)
2V130-20 G3/4 25mm -10-+80C 23.001| e ACTIDV | Compressed Air
AC220V JLight oll
2V130-25 G1 25mm —~10-+80C 23.00 | Hoe ACasoy | {Belaw SOCST)
. . O
- =]
H23JDEtgh pressure solenoid valve e SR | mBALE %Eﬁnﬁ cVi Wt | BAES BE | THNE g -
R23JD5 EHE B dﬁ* Model Thread size |Effective areal \omoafanive FEange CV value Type Max.pressureg  Voltage Fluid o *ﬁ
. - R23JD-08 | G1/4 13mm | -10-+80C | 6.20 | _,.. bory o
ke R23JD-08G | Gi/4 13mm —~10-+80C ErApS WERRR Mpa sl g %l]
R23JD-15 G1/2 25mm -10~+80T 28,00 ARk Aaitoy kg
R23JD-15G| G1/2 25mm -10-+80C | 23.00 | o ACB0V = J'E
o
HEPION series solenoid valve we AREE HRBER RRBE NRRE Io:'frﬁnj] [ g {L.I:
fﬁﬁﬁ B R R Model Orifice Size(mm) | Effective Section(mm2) | v iataiiiver) | Temparature(T) Pressure{hﬂ%a} Vaoltage(V) >
0927000 8 20 -
0927100 10 40
0927200 12 60 0.07-1.6
0927300 20 110 b TS e AC220V
0927400 25 190 o = AC110V
0927500 32 300 DC24V
0927600 40 400 0.1-1.6
0927700 50 500
" ’ -
Solenoid valve MSF20 series e SRt REALE wqﬁﬂsﬁﬂm gﬁﬂ'ﬁmm B E
MSF20% 51 B8 53 i3 Model Thread size Effective area Mpa famperatiire Voltage
MSF20 G3/4 DN20 0.035~0.35 -35~+50T DC12V AC110V
MSF25 G1" DN25 0.035-~0.35 —35-+50T |DCR24V AC220V
MSF20-F Gal4 DN20 0.035-0.35 —35-+50C iggg nEgaey
MSF25-F G1" DN25 0.035-0.35 -35~+50T
Angle seat valve JZF series me Wa R | pEAe | AR CViE | BMEN |z | B |EAER
JZF % B A~ 45 45 4 1 Madel Thread siza | Effective area F?ange CV value | Control pressurel Actuator Type pfassmsg
JZF200-10 G3/8 -5-185T 3.80 1Map
JZF200-15 G1/2 15mm -5-185T 4.70 1Map 50mm
JZF200-20 G3/4 20mm -5-185T 9.50 1Map 50mm —nz#r
JZF200-25 G1 25mm | -5-185C | 18.1 iMap | 63mm :;j;
JZF200-32 G1% 32mm -5-185T 23:4 1Map 63mm Nommaky | oo oo
closed LSS
JZF200-40 G1% 40mm -5-185T 32.9 1Map 63mm
JZF200-50 G2 50mm -5-185C 58.4 1Map 63mm
JZF200-65 G2% 62mm -5~185T 64.5 1Map 63mm
JZF200-80 G3 BOmm -5-185C 1Map 80mm

28




— _— - t
RIHEZS e

RIGHT PNEUMATICS MANUFACTURE

Angle seat valve ESP seires k= g R w@ie | SRR | cvm | mEEn | ems| Bt |EAES
ES PE @Jé;ﬁﬁ%ﬂ % Fg Rﬂ Model Thread size | Effective area temperature Aange CV value | Control pressure| Actuator Type M
ESP-15 G1/2 15mm -5-1851 4,70 1Map 50mm
ESP-20 G3/4 20mm -5-185T 9.50 1Map 50mm e
ESP-25 G1 25mm -5-185C | 18.1 \Map | 63mm | ®mst |
ESP-32 G1% 32mm -5-185C | 231 Map | 63mm | Z2va
ESP-40 Gl 40mm -5~185T 32.9 1Map 63mm cloesd
ESP-50 G2 50mm -5~185T 58.4 1Map 63mm
Solenoid valve DMF series E
DME B3I we |wurt|xEae| EARE | ovy (gmpz| pt [ERES] ag
b ¥ Model Thread size | Effective area temperature Range CV value | Coll power Type pressurs Voltage
DMF-Z-15P G1/2 15mm -5~60T 4.80 12VA
DMF-2-20P | G3/4 20mm -5-60C 7.60 12VA
DMF-Z-25P G1 25mm -5-60T 12.0 12VA —[=fi DC12v
T DC24v
DMF-Z-35P | G1% 35mm -5-60T 20.0 | 12vA i —— AGaay
DMF-Z-40P | G1% | 40mm —5-60T 20.0 | 12VA | Nomsy Aciov
close
DMF-Z-50P | G2 50mm -5-60T 48,0 | 12vA e e
DMF-Z-62P G2 62mm -5-60TC 60.0 12VA
DMF-Z-76P G3 76mm -5-60T 75.0 12VA
Solenoid valve DMF series ne g R~ | nRe | 2 EARE cvil | sEmE| mzt |EAEN E
DMF§ §1J ﬁfﬁ E Eaﬁ fﬁ Model Thread size | Effective area Iemp'e:’rp;;ar:;n ange CV value | Coll power Type %l::s‘:ﬂl"sﬂ Voltage
DMF-Y-25 G1 25mm -5-60T 20.0 12VA
DMF-Y-40 Gl 40mm -5-60C 20.0 12VA At Sﬁ;ﬁﬁ
DMF-Y¥-50 G2 50mm -5-60T 48.0 12VA #H AC24V
212 wary 0-0.9Mpa ACIBV
DMF-Y-62 | G2% 62mm -5-60T 60.0 | 12VA frideis 3 Actiov
DMF-Y-76 G3 76mm -5~60T 75.0 12VA st AC38OV
DMF-Y-102| G3% 102mm -5-60T 100.0 | 12VA
B DDA m #f ik i i K247 5 F 4 i) K34 &5 F# | KESJJ ﬁﬂﬁ#:ﬁ{%fﬁ%} ,
DD Type Right-angle Pluse Valve K24 Series Hand Valve K34 Series Hand Valve K23JD series shutoff valve(no tin- type)
me R RAT e (RERT e |BURS 2 e (RE R
e Model Thread size Madel Thread size Model Thread size Madel Thread size
iy (@] DMF-25DD $ 35 = f K24R8-L8 G1/4 =g K34R8-L8 G1/4 4 K23JD-8W | G1/4
1’.2 = DMF-45DD | $50 | umers K24R8-LBD| G1/4 | oinare K34R8-L8BD| G1/4 . = ﬁggjgjg:\fv g?;g
- K24R8-L8S| G1/4 K34RB-L8BS| G1/4 -
i< - — ' 5, [K23JD-20W| G3/4
o " f " 1" [kzaip-ssw| a1
] y y K23JD-32W| G11/4
J'E = K24RE-LED K24RE-LAD K23JD-40W| G11/2
{gl; =8 K25 DRIIBIEMEBXSRITE) K25JDRFIBIEWEXARITE) K25DF 5 HukHE K25D2 % 51| 3 &% 1§
D K25JD series valve(joint design type) K25JD series valve(joint design type) K25D Solenoid valve series K25D2 Solenoid valve series
= me  |BERY me |[BER me |[EgR we  MER
Madsl Thread size| Madal Thread size Modal Thread size| Madel Thread size
K25JD-6 G1/8 K25JD2-6 G1/8 K25D-6 G1/8 K25D2-6 G1/8
K25JD-8 G1/4 K25JD2-8 G1/4 K25D-8 G1/4 K25D2-8 G1/4
K25JD-10 G3/8 K25JD2-10| G3/8 K25D-10 G3/8 K25D2-10 G3a/a
K25JD-15 G1/2 K25JD2-15| Gi/2 . K25D-15 G1/2 - ™ K25D2-15 G1/2
K25JD-20 G3/4 K25JD2-20 | G3/4 K25D-20 G3/4 K25D02-20 G3/4
K25JD-25 G1 K25JD2-25 G1 Ke5D-25 G1 K25D02-25 G1
5 15 ) 7 5 .
KA Series Check Valve CoilZk B
e |BUR| qv2 ERAS EHAE BRAE
Model Thread size Applicable model , i Applicable model Applicable model
‘@ KA-06 G1/8 2V AB310 CY123
RE 5 i&
i KA-10 G3/8 !.--.-- av AB410
e KA-20 G3/4 4v2
4V3
4V4
MVSC
EREE me 2WREk £ ERAS
Applicable model Madal 2W Waterproof coil Applicable model
2WOBEE M W025-0 13810 R L 2WO0BEE [ 2W025-0
2WO08 coil W025-0 Explosion proof coil 2WO08 coil | 2W025-0
W040-10 0931%‘&% 2W040-10
%m%gﬁ gw;z%g-ég Explosion proof cail %mlg&ﬂi —%—‘&%—8—12—55—
co = = co =
— [ Jwrso-ts ool ceureok _[gwas0-os
2W40%E | —5Wiag0-40 2081 IR e E 2W40L B | SWa00-40
2W40 coil SW500-50 Explosion proof coil 2W40 coil BWEDD-5

29



s = Szl

RIGHT PNEUMATICS MANLEECETHFME%IJECRST
# S Model
MPC 4-M5 MPC 8-01 MPC 14-03 MPC 1/4-01 MPC 1/2-01 MPC 1/4-N1 MPC1/2-N2
MPC 4-01 MPC 8-02 MPC 14-04 MPC 1/4-02 MPC 1/2-02 MPC 1/4-N2 MPC 1/2-N3
MPC 4-02 MPC 8-03 MPC 16-03 MPC 1/4-03 MPC 1/2-03 MPC 1/4-N3 MPC 1/2-N4
MPC 5-M5 MPC 8-04 MPC 16-04 MPC 5/16-01 MPC 1/2-04 MPC 5/16-N1
MPC 5-01 MPC 10-01 MPC 1/8-01 MPC 5/16-02 MPC 1/8-N1 MPC 5/16-N2
MPC 5-02 MPC 10-02 MPC 1/8-02 MPC 5/16-03 MPC 1/8-N2 MPC 5/16-N3
MPC 6-M5 MPC 10-03 MPC 5/32-01 MPC 5/16-04 MPC 5/32-N1 MPC 5/16-N4
MPC 6-01 MPC 10-04 MPC 5/32-02 MPC 3/8-01 MPC 5/32-N2 MPC 3/8-N1
MPC 6-02 MPC 12-02 MPC 3/16-01 MPC 3/8-02 MPC 3/16-N1 MPC 3/8-N2
MPC 12-03 MPC 3/16-02 MPC 3/8-03 MPC 3/16-N2 MPC 3/8-N3
MPC 12-04 MPC 3/16-03 MPC 3/8-04 MPC 3/16-N3 MPC 3/8-N4
A5 Model
MPOC 4-M5 MPOC 8-01 MPOC 14-03 MPOC 1/4-01 MPOC 1/2-01 MPOC 1/4-N1 MPOC 1/2-N2
MPOC 4-01 MPOC 8-02 MPOC 14-04 MPOC 1/4-02 MPOC 1/2-02 MPOC 1/4-N2 MPOC 1/2-N3
MPOC 4-02 MPOC 8-03 MPOC 16-03 MPOC 1/4-03 MPOC 1/2-03 MPOC 1/4-N3 MPOC 1/2-N4
MPOC 5-M5 MPOC 8-04 MPOC 16-04 MPOC 5/16-01 MPOC 1/2-04 MPOC 5/16-N1
MPOC 5-01 MPOC 10-01 MPOC 1/8-01 MPOC 5/16-02 MPOC 1/8-N1 MPOC 5/16-N2
MPOC 5-02 MPOC 10-02 MPOC 1/8-02 MPOC 5/16-03 MPOC 1/8-N2 MPOC 5/16-N3
MPOC 6-M5 MPOC 10-03 MPOC 5/32-01 MPOC 5/16-04 MPOC 5/32-N1 MPOC 5/16-N4
MPOC 6-01 MPOC 10-04 MPOC 5/32-02 MPOC 3/8-01 MPOC 5/32-N2 MPOC 3/8-N1
MPOC 6-02 MPOC 12-02 MPOC 3/16-01 MPOC 3/8-02 MPOC 3/16-N1 MPOC 3/8-N2
MPOC 12-03 MPOC 3/16-02 MPOC 3/8-03 MPOC 3/16-N2 MPOC 3/8-N3
MPOC 12-04 MPOC 3/16-03 MPOC 3/8-04 MPOC 3/16-N3 MPOC 3/8-N4
&S Model
MPCF 4-M5 MPCF 8-01 MPCF 14-03 MPCF1/4-01 | MPCF 1/2-01 MPCF 1/4-N1 MPCF 1/2-N2
MPCF 4-01 MPCF 8-02 MPCF 14-04 MPCF 1/4-02 MPCF 1/2-02 MPCF 1/4-N2 MPCF 1/2-N3
MPCF 4-02 MPCF 8-03 MPCF 16-03 MPCF 1/4-03 MPCF 1/2-03 MPCF 1/4-N3 MPCF 1/2-N4
MPCF 5-M5 MPCF 8-04 MPCF 16-04 MPCF 5/16-01 MPCF 1/2-04 MPCF 5/16-N1
MPCF 5-01 MPCF 10-01 MPCF 1/8-01 MPCF 5/16-02 MPCF 1/8-N1 MPCF 5/16-N2
MPCF 5-02 MPCF 10-02 MPCF 1/8-02 MPCF 5/16-03 MPCF 1/8-N2 MPCF 5/16-N3
! MPCF 6-M5 MPCF 10-03 MPCF 5/32-01 MPCF 5/16-04 MPCF 5/32-N1 MPCF 5/16-N4
MPCF 6-01 MPCF 10-04 MPCF 5/32-02 MPCF 3/8-01 MPCF 5/32-N2 MPCF 3/8-N1
MPCF 6-02 MPCF 12-02 MPCF 3/16-01 MPCF 3/8-02 MPCF 3/16-N1 MPCF 3/8-N2
MPCF 12-03 MPCF 3/16-02 MPCF 3/8-03 MPCF 3/16-N2 MPCF 3/8-N3
MPCF 12-04 MPCF 3/16-03 MPCF 3/8-04 MPCF 3/16-N3 MPCF 3/8-N4
S Model
MPL 4-M5 MPL 8-01 MPL 14-03 MPL1/4-01 MPL 1/2-01 MPL 1/4-N1 MPL1/2-N2
MPL4-01 MPL 8-02 MPL 14-04 MPL 1/4-02 MPL1/2-02 MPL 1/4-N2 MPL 1/2-N3
MPL 4-02 MPL 8-03 MPL 16-03 MPL1/4-03 MPL1/2-03 MPL 1/4-N3 MPL1/2-N4
MPL 5-M5 MPL 8-04 MPL 16-04 MPL 5/16-01 MPL 1/2-04 MPL 5/16-N1
MPL5-01 MPL 10-01 MPL 1/8-01 MPL 5/16-02 MPL 1/8-N1 MPL 5/16-N2
MPL 5-02 MPL 10-02 MPL 1/8-02 MPL 5/16-03 MPL 1/8-N2 MPL 5/16-N3
MPL 6-M5 MPL 10-03 MPL 5/32-01 MPL 5/16-04 MPL5/32-N1 MPL 5/16-N4
MPL 6-01 MPL 10-04 MPL 5/32-02 MPL 3/8-01 MPL 5/32-N2 MPL 3/8-N1
MPL 6-02 MPL12-02 MPL 3/16-01 MPL 3/8-02 MPL 3/16-N1 MPL 3/8-N2
MPL12-03 MPL 3/16-02 MPL 3/8-03 MPL 3/16-N2 MPL 3/8-N3
MPL12-04 MPL 3/16-03 MPL 3/8-04 MPL 3/16-N3 MPL 3/8-N4
#12 Model
MPLL 4-M5 MPLL 8-01 MPLL 14-03 MPLL 1/4-01 MPLL 1/2-01 MPLL 1/4-N1 MPLL1/2-N2
MPLL 4-01 MPLL 8-02 MPLL 14-04 MPLL 1/4-02 MPLL 1/2-02 MPLL 1/4-N2 MPLL 1/2-N3
MPLL 4-02 MPLL 8-03 MPLL 16-03 MPLL 1/4-03 MPLL 1/2-03 MPLL 1/4-N3 MPLL 1/2-N4
MPLL 5-M5S MPLL 8-04 MPLL 16-04 MPLL 5/16-01 MPLL 1/2-04 MPLL 5/16-N1
MPLL 5-01 MPLL 10-01 MPLL 1/8-01 MPLL 5/16-02 MPLL 1/8-N1 MPLL 5/16-N2
MPLL 5-02 MPLL 10-02 MPLL 1/8-02 MPLL 5/16-03 MPLL 1/8-N2 MPLL 5/16-N3
MPLL 6-M5 MPLL 10-03 MPLL 5/32-01 MPLL 5/16-04 MPLL 5/32-N1 MPLL 5/16-N4
MPLL 6-01 MPLL 10-04 MPLL 5/32-02 MPLL 3/8-01 MPLL 5/32-N2 MPLL 3/8-N1
MPLL 6-02 MPLL12-02 MPLL 3/16-01 MPLL 3/8-02 MPLL 3/16-N1 MPLL 3/8-N2
MPLL12-03 MPLL 3/16-02 MPLL 3/8-03 MPLL 3/16-N2 MPLL 3/8-N3
MPLL12-04 MPLL 3/16-03 MPLL 3/8-04 MPLL 3/16-N3 MPLL 3/8-N4

-
=
o
=
3
o
=
W
3]
5]
®
)
7
o
=
@
7

30



S8110SS930k Jljewnaud

s = Szl

RIGHT PNEUMATICS MANLEEETHF%%IJ&??’
S Model
MPLN 4-M5 MPLN 8-01 MPLN 14-03 MPLN 1/4-01 MPLN 1/2-01 MPLN 1/4-N1 MPLN 1/2-N2
MPLN 4-01 MPLN 8-02 MPLM 14-04 MPLN 1/4-02 MPLN 1/2-02 MPLN 1/4-N2 MPLN 1/2-N3
MPLN 4-02 MPLN 8-03 MPLN 16-03 MPLN 1/4-03 MPLN 1/2-03 MPLN 1/4-N3 MPLN 1/2-N4
MPLN 5-M5 MPLN 8-04 MPLM 16-04 MPLN 5/16-01 MPLN 1/2-04 MPLN 5/16-N1
MPLN 5-01 MPLN 10-01 MPLN 1/8-01 MPLN 5/16-02 | MPLN 1/8-N1 MPLN 5/16-N2
MPLN 5-02 MPLN 10-02 MPLN 1/8-02 MPLN 5/16-03 MPLN 1/8-N 2 MPLN 5/16-N3
MPLN 6-M5 MPLN 10-03 MPLN 5/32-01 | MPLN5/16-04 | MPLN5/32-N1 | MPLN 5/16-N4
MPLN 6-01 MPLN 10-04 MPLN 5/32-02 MPLN 3/8-01 MPLN 5/32-N 2 MPLN 3/8-N1
MPLN 6-02 MPLN 12-02 MPLN 3/16-01 | MPLN 3/8-02 MPLN 3/16-N 1 | MPLN 3/8-N2
MPLN 12-03 MPLN 3/16-02 MPLN 3/8-03 MPLN 3/16-N 2 MPLN 3/8-N3
MPLN 12-04 MPLN 3/16-03 | MPLN 3/8-04 MPLN 3/16-N 3 | MPLN 3/8-N4
3= Model
MPLF 4-M5 MPLF 8-01 MPLF 14-03 MPLF 1/4-01 MPLF 1/2-01 MPLF 1/4-N1 MPLF 1/2-N2
MPLF 4-01 MPLF 8-02 MPLF 14-04 MPLF 1/4-02 MPLF 1/2-02 MPLF 1/4-N2 MPLF 1/2-N3
MPLF 4-02 MPLF 8-03 MPLF 16-03 MPLF 1/4-03 MPLF 1/2-03 MPLF 1/4-N3 MPLF 1/2-N4
MPLF 5-M5 MPLF 8-04 MPLF 16-04 MPLF 5/16-01 MPLF 1/2-04 MPLF 5/16-N1
MPLF 5-01 MPLF 10-01 MPLF 1/8-01 MPLF 5/16-02 MPLF 1/8-N1 MPLF 5/16-N2
‘ MPLF 5-02 MPLF 10-02 MPLF 1/8-02 MPLF 5/16-03 MPLF 1/8-N2 MPLF 5/16-N3
MPLF 6-M5 MPLF 10-03 MPLF 5/32-01 MPLF5/16-04 | MPLF5/32-N1 | MPLF 5/16-N4
MPLF 6-01 MPLF 10-04 MPLF 5/32-02 MPLF 3/8-01 MPLF 5/32-N2 MPLF 3/8-N1
MPLF 6-02 MPLF 12-02 MPLF 3/16-01 MPLF 3/8-02 MPLF 3/16-N1 | MPLF 3/8-N2
MPLF 12-03 MPLF 3/16-02 MPLF 3/8-03 MPLF 3/16-N2 MPLF 3/8-N3
MPLF 12-04 MPLF 3/16-03 MPLF 3/8-04 MPLF 3/16-N3 | MPLF 3/8-N4
2 Model
MPT 4-M5 MPT 8-01 MPT 14-03 MPT 1/4-01 MPT 1/2-01 MPT 1/4-N1 MPT 1/2-N2
MPT 4-01 MPT 8-02 MPT 14-04 MPT 1/4-02 MPT 1/2-02 MPT 1/4-N2 MPT 1/2-N3
MPT 4-02 MPT 8-03 MPT 16-03 MPT 1/4-03 MPT 1/2-03 MPT 1/4-N3 MPT 1/2-N4
MPT 5-M5 MPT 8-04 MPT 16-04 MPT 5/16-01 MPT 1/2-04 MPT 5/16-N1
MPT 5-01 MPT 10-01 MPT 1/8-01 MPT 5/16-02 MPT 1/8-N1 MPT 5/16-N2
MPT 5-02 MPT 10-02 MPT 1/8-02 MPT 5/16-03 MPT 1/8-N2 MPT 5/16-N3
MPT 6-M5 MPT 10-03 MPT 5/32-01 MPT 5/16-04 MPT 5/32-N1 MPT 5/16-N4
MPT 6-01 MPT 10-04 MPT 5/32-02 MPT 3/8-01 MPT 5/32-N2 MPT 3/8-N1
MPT 6-02 MPT 12-02 MPT 3/16-01 MPT 3/8-02 MPT 3/16-N1 MPT 3/8-N2
MPT 12-03 MPT 3/16-02 MPT 3/8-03 MPT 3/16-N2 MPT 3/8-N3
MPT 12-04 MPT 3/16-03 MPT 3/8-04 MPT 3/16-N3 MPT 3/8-N4
#12 Model
MPD 4-M5 MPD 8-01 MPD 14-03 MPD 1/4-01 MPD 1/2-01 MPD 1/4-N1 MPD 1/2-N2
MPD 4-01 MPD 8-02 MPD 14-04 MPD 1/4-02 MPD 1/2-02 MPD 1/4-N2 MPD 1/2-N3
MPD 4-02 MPD 8-03 MPD 16-03 MPD 1/4-03 MPD 1/2-03 MPD 1/4-N3 MPD 1/2-N4
MPD 5-M5 MPD 8-04 MPD 16-04 MPD 5/16-01 MPD 1/2-04 MPD 5/16-N1
MPD 5-01 MPD 10-01 MPD 1/8-01 MPD 5/16-02 MPD 1/8-N1 MPD 5/16-N2
MPD 5-02 MPD 10-02 MPD 1/8-02 MPD 5/16-03 MPD 1/8-N2 MPD 5/16-N3
MPD 6-M5 MPD 10-03 MPD 5/32-01 MPD 5/16-04 MPD 5/32-N1 MPD 5/16-N4
MPD 6-01 MPD 10-04 MPD 5/32-02 MPD 3/8-01 MPD 5/32-N2 MPD 3/8-N1
MPD 6-02 MPD 12-02 MPD 3/16-01 MPD 3/8-02 MPD 3/16-N1 MPD 3/8-N2
MPD 12-03 MPD 3/16-02 MPD 3/8-03 MPD 3/16-N2 MPD 3/8-N3
MPD 12-04 MPD 3/16-03 MPD 3/8-04 MPD 3/16-N3 MPD 3/8-N4
#12 Model
MPX 4-M5 MPX 8-01 MPX 14-03 MPX 1/4-01 MPX 1/2-01 MPX 1/4-N1 MPX 1/2-N2
MPX 4-01 MPX 8-02 MPX 14-04 MPX 1/4-02 MPX 1/2-02 MPX 1/4-N2 MPX 1/2-N3
MPX 4-02 MPX 8-03 MPX 16-03 MPX 1/4-03 MPX 1/2-03 MPX 1/4-N3 MPX 1/2-N4
MPX 5-M5 MPX 8-04 MPX 16-04 MPX 5/16-01 MPX 1/2-04 MPX 5/16-N1
MPX 5-01 MPX 10-01 MPX 1/8-01 MPX 5/16-02 MPX 1/8-N1 MPX 5/16-N2
MPX 5-02 MPX 10-02 MPX 1/8-02 MPX 5/16-03 MPX 1/8-N2 MPX 5/16-N3
MPX 6-M5 MPX 10-03 MPX 5/32-01 MPX 5/16-04 MPX 5/32-N1 MPX 5/16-N4
MPX 6-01 MPX 10-04 MPX 5/32-02 MPX 3/8-01 MPX 5/32-N2 MPX 3/8-N1
MPX 6-02 MPX 12-02 MPX 3/16-01 MPX 3/8-02 MPX 3/16-N1 MPX 3/8-N2
MPX 12-03 MPX 3/16-02 MPX 3/8-03 MPX 3/16-N2 MPX 3/8-N3
MPX 12-04 MPX 3/16-03 MPX 3/8-04 MPX 3/16-N3 MPX 3/8-N4

31




s = Szl

RIGHT PNEUMATICS MANLEEETHF%%IJER?’
#E Model
MPH 4-M5 MPH 8-01 MPH 14-03 MPH 1/4-01 MPH 1/2-01 MPH 1/4-N1 MPH 1/2-N2
MPH 4-01 MPH 8-02 MPH 14-04 MPH 1/4-02 MPH 1/2-02 MPH 1/4-N2 MPH 1/2-N3
MPH 4-02 MPH 8-03 MPH 16-03 MPH 1/4-03 MPH 1/2-03 MPH 1/4-N3 MPH 1/2-N4
MPH 5-M5 MPH 8-04 MPH 16-04 MPH 5/16-01 MPH 1/2-04 MPH 5/16-N1
MPH 5-01 MPH 10-01 MPH 1/8-01 MPH 5/16-02 MPH 1/8-N1 MPH 5/16-N2
MPH 5-02 MPH 10-02 MPH 1/8-02 MPH 5/16-03 MPH 1/8-N2 MPH 5/16-N3
MPH 6-M5 MPH 10-03 MPH 5/32-01 MPH 5/16-04 MPH 5/32-N1 MPH 5/16-N4
MPH 6-01 MPH 10-04 MPH 5/32-02 MPH 3/8-01 MPH 5/32-N2 | MPH 3/8-N1
MPH 6-02 MPH 12-02 MPH 3/16-01 MPH 3/8-02 MPH 3/16-N1 MPH 3/8-N2
MPH 12-03 MPH 3/16-02 MPH 3/8-03 MPH 3/16-N2 MPH 3/8-N3
MPH 12-04 MPH 3/16-03 MPH 3/8-04 MPH 3/16-N3 MPH 3/8-N4
&2 Model B S Model # 8 Model
MPG 06-04 MPG 1/4-5/32 MPZA-04 | MPZA-11 | MPZA-1/8 MPPF-04 | MPPF-11 | MPPF-1/8
MPG 08-06 MPG 1/4-1/8 MPZA-05 | MPZA-12 | MPZA-5/32 MPPF-05 | MPPF-12 | MPPF-5/32
MPG 10-08 MPG 1/4-3/16 MPZA-06 | MPZA-13 | MPZA-3/16 MPPF-06 | MPPF-13 | MPPF-3/16
MPG 12-10 MPG 5/16-1/4 MPZA-07 | MPZA-14 | MPZA-1/4 MPPF-07 | MPPF-14 | MPPF-1/4
MPG 14-12 MPG 3/8-5/16 MPZA-08 | MPZA-15 | MPZA-5/16 MPPF-08 | MPPF-15 | MPPF-5/16
MPG 16-14 MPG 1/2-3/8 MPZA-09 | MPZA-16 | MPZA-3/8 MPPF-09 | MPPF-16 | MPPF-3/8
MPZA-10 MPZA-1/2 MPPF-10 MPPF-1,/2
# 2 Model S Model
# S Model MPUC-04 | MPUC-11 | MPUC-1/8 MPUL-04 | MPUL-11 | MPUL-1/8
MPTG 06-04 MPTG 1/4-5/32 MPUC-05 | MPUC-12 | MPUC-5/32 MPUL-05 | MPUL-12 | MPUL-5/32
MPTG 08-06 MPTG 1/4-1/8 MPUC-06 | MPUC-13 | MPUC-3/16 MPUL-06 | MPUL-13 | MPUL-3/16
MPTG 10-08 MPTG 1/4-3/16 MPUC-07 | MPUC-14 | MPUC-1/4 MPUL-07 | MPUL-14 | MPUL-1/4
MPTG 12-10 MPTG 5/16-1/4 MPUC-08 | MPUC-15 | MPUC-5/16 MPUL-08 | MPUL-15 | MPUL-5/16
MPTG 14-12 MPTG 3/8-5/16 MPUC-09 | MPUC-16 | MPUC-3/8 MPUL-09 | MPUL-16 | MPUL-3/8
MPTG 16-14 MPTG 1/2-3/8 MPUC-10 MPUC-1/2 MPUL-10 MPUL-1/2
# = Model # S Model 2 Model #E Model
MPUT-04 | MPUT-1/8 MPM-04 | MPM-1/8 MPY-04 | MPY-1/8 MPP-04 | MPP-1/8
MPUT-05 | MPUT-5/32 MPM-05 | MPM-5/32 MPY-05 | MPY-5/32 MPP-05_| MPP-5/32
MPUT-06 | MPUT-3/16 MPM-06 | MPM-3/16 MPY-06 | MPY-3/16 MPP-06 | MPP-3/16
MPUT-07 | MPUT-1/4 MPM-07 | MPM-1/4 MPY-07 | MPY-1/4 MPP-07 | MPP-1/4
MPUT-08 | MPUT-5/16 MPM-08 | MPM-5/16 MPY-08 MPY-5/16 MPP-08 | MPP-5/16
MPUT-09 | MPUT-3/8 % MPM-09 | MPM-3/8 MPY-09 MPY-3/8 MPP-09 | MPP-3/8
MPUT-10 | MPUT-1/2 MPM-10 | MPM-1/2 MPY-10 | MPY-1/2 MPP-10 | MPP-1/2
MPUT-11 ) MPM-11 MPY-11 MPP-11
MPUT-12 MPM-12 MPY-12 MPP-12
MPUT-13 MPM-13 MPY-13 MPP-13
MPUT-14 MPM-14 MPY-14 MPP-14
MPUT-15 MPM-15 MPY-15 MPP-15
MPUT-16 MPM-16 MPY-16 MPP-16
5 Model
PCM 4-M5 PCM 8-04 PCM 16-01 PCM 3/8-04 PCM 5/16-N2
PCM 4-M6 PCM 10-01 PCM 16-02 PCM 1/2-02 PCM 5/16-N3
PCM 4-01 PCM 10-02 PCM 16-03 PCM 1/2-03 PCM 3/8-N1
PCM 4-02 PCM 10-03 PCM 16-04 PCM 1/2-04 PCM 3/8-N2
PCM B-M5 PCM 10-04 PCM 1/4-01 PCM 5/32-N1 PCM 3/8-N3
PCM 6-M6 PCM 12-01 PCM 1/4-02 PCM 5/32-N2 PCM 3/8-N4
PCM 6-01 PCM 12-02 PCM 1/4-03 PCM 3/16-N1 PCM 1/2-N1
PCM 6-02 PCM 12-03 PCM 5/16-01 PCM 3/16-N2 PCM 1/2-N2
PCM 6-03 PCM 12-04 PCM 5/16-02 PCM 3/16-N3 PCM 1/2-N3
PCM 6-04 PCM 14-01 PCM 5/16-03 PCM 1/4-N1 PCM 1/2-N4
PCM 8-01 PCM 14-02 PCM 3/8-01 PCM 1/4-N2
PCM 8-02 PCM 14-03 PCM 3/8-02 PCM 1/4-N3
PCM 8-03 PCM 14-04 PCM 3/8-03 PCM 5/16-N1
A S Model
PBM 4-M5 PBM B-04 PBM 16-01 PBM 3/8-04 PBM 5/16-N2
PBM 4-Mb PBM 10-01 PBM 16-02 PBM 1/2-02 PBM 5/16-N3
PBM 4-01 PBM 10-02 PBM 16-03 PBEM 1/2-03 PBM 3/8-N1
PEM 4-02 PBM 10-03 PBM 16-04 PBM 1/2-04 PBM 3/8-N2
PBM 6-M5 PBM 10-04 PBM 1/4-01 PBM 5/32-N1 PBM 3/8-N3
PBM 6-M6 PBM 12-01 PBM 1/4-02 PBM 5/32-N2 PBM 3/8-N4
PBM 6-01 PBEM 12-02 PBM 1/4-03 PBM 3/16-N1 PBM 1/2-N1
PBM 6-02 PBM 12-03 PBM 5/16-01 PBM 3/16-N2 PBM 1/2-N2
PBM 6-03 PEM 12-04 PBM 5/16-02 PBM 3/16-N3 PBM 1/2-N3
PBM 6-04 PEM 14-01 PBM 5/16-03 PBM 1/4-N1 PBM 1/2-N4
PEM &-01 PBM 14-02 PBM 3/8-01 PBM 1/4-N2
PBM 8-02 PBM 14-03 PBM 3/8-02 PBM 1/4-N3
PBM 8-03 PBM 14-04 PBM 3/8-03 PBM 5/16-N1

0
s
@
c
=
ot
=
)
)
o
®
)
®
o)
o
o)
)

32



— S - t
RIHEZS e

RIGHT PNEUMATICS MANUFACTURE

A E Model
SCM 4-M5 SCM 8-04 SCM 16-01 SCM 3/8-04 SCM 5/16-N2
SCM 4-M6 SCM 10-01 SCM 16-02 SCM 1/2-02 SCM 5/16-N3
SCM 4-01 SCM 10-02 SCM 16-03 SCM 1/2-03 SCM 3/8-N1
SCM 4-02 SCM 10-03 SCM 16-04 SCM 1/2-04 SCM 3/8-N2
SCM 6-M5 SCM 10-04 SCM 1/4-01 SCM 5/32-N1 SCM 3/8-N3
SCM 6-M6 SCM 12-01 SCM 1/4-02 SCM 5/32-N2 SCM 3/8-N4
SCM 6-01 SCM 12-02 SCM 1/4-03 SCM 3/16-N1 SCM 1/2-N1
SCM 6-02 SCM 12-03 SCM 5/16-01 SCM 3/16-N2 SCM 1/2-N2
SCM 6-03 SCM 12-04 SCM 5/16-02 SCM 3/16-N3 SCM 1/2-N3
SCM 6-04 SCM 14-01 SCM 5/16-03 SCM 1/4-N1 SCM 1/2-N4
SCM 8-01 SCM 14-02 SCM 3/8-01 SCM 1/4-N2
SCM 8-02 SCM 14-03 SCM 3/8-02 SCM 1/4-N3
SCM 8-03 SCM 14-04 SCM 3/8-03 SCM 5/16-N1
B E Model
PLM 4-M5 PLM 8-04 PLM 16-01 PLM 3/8-04 PLM 5/16-N2
PLM 4-M6 PLM 10-01 PLM 16-02 PLM 1/2-02 PLM 5/16-N3
PLM 4-01 PLM 10-02 PLM 16-03 PLM 1/2-03 PLM 3/8-N1
PLM 4-02 PLM 10-03 PLM 16-04 PLM 1/2-04 PLM 3/8-N2
* PLM 6-M5 PLM 10-04 PLM 1/4-01 PLM 5/32-N1 PLM 3/8-N3
“ ‘ PLM 6-M6 PLM 12-01 PLM 1/4-02 PLM 5/32-N2 PLM 3/8-N4
g PLM 6-01 PLM 12-02 PLM 1/4-03 PLM 3/16-N1 PLM 1/2-N1
PLM 6-02 PLM 12-03 PLM 5/16-01 PLM 3/16-N2 PLM 1/2-N2
PLM 6-03 PLM 12-04 PLM 5/16-02 PLM 3/16-N3 PLM 1/2-N3
PLM 6-04 PLM 14-01 PLM 5/16-03 PLM 1/4-N1 PLM 1/2-N4
PLM 8-01 PLM 14-02 PLM 3/8-01 PLM 1/4-N2
PLM 8-02 PLM 14-03 PLM 3/8-02 PLM 1/4-N3
PLM 8-03 PLM 14-04 PLM 3/8-03 PLM 5/16-N1
B2 Model
PDM 4-M5 PDM 8-04 PDM 16-01 PDM 3/8-04 PDM 5/16-N2
PDM 4-M6 PDM 10-01 PDM 16-02 PDM 1/2-02 PDM 5/16-N3
PDM 4-01 PDM 10-02 PDM 16-03 PDM 1/2-03 PDM 3/8-N1
PDM 4-02 PDM 10-03 PDM 16-04 PDM 1/2-04 PDM 3/8-N2
PDM 6-M5 PDM 10-04 PDM 1/4-01 PDM 5/32-N1 PDM 3/8-N3
PDM 6-M6 PDM 12-01 PDM 1/4-02 PDM 5/32-N2 PDM 3/8-N4
PDM 6-01 PDM 12-02 PDM 1/4-03 PDM 3/16-N1 PDM 1/2-N1
PDM 6-02 PDM 12-03 PDM 5/16-01 PDM 3/16-N2 PDM 1/2-N2
PDM 6-03 PDM 12-04 PDM 5/16-02 PDM 3/16-N3 PDM 1/2-N3
PDM 6-04 PDM 14-01 PDM 5/16-03 PDM 1/4-N1 PDM 1/2-N4
PDM 8-01 PDM 14-02 PDM 3/8-01 PDM 1/4-N2
PDM 8-02 PDM 14-03 PDM 3/8-02 PDM 1/4-N3
PDM 8-03 PDM 14-04 PDM 3/8-03 PDM 5/16-N1
# 2 Model # 2 Model = Model
PEM 3 PEM10 | PEM1/8 PYM 3 PYM10 | PYM1/8 PZAM3 | PZAM10 |PZAM1/8
PEM 4 PEM11 | PEM5/32 PYM 4 PYM11 | PYM5/32 PZAM4 | PZAM 11 |PZAM 5/32
PEM 5 PEM12 | PEM3/16 ] PYM 5 PYM12 | PYM3/16 PZAMS5 | PZAM12 |PZAM 3/16
PEM 6 PEM 13 | PEM1/4 PYM 6 PYM13 | PYM1/4 PZAMG | PZAM13 |PZAM1/4
PEM 7 PEM 14 | PEM 5/16 PYM 7 PYM14 | PYM5/16 PZAM7 | PZAM 14 |PZAM5/16
= PEM 8 PEM15 | PEM3/8 PYM 8 PYM15 | PYM3/8 PZAMS | PZAM15 |PZAM3/8
g PEM 9 PEM16 | PEM1/2 PYM 9 PYM16 | PYM1/2 PZAM9 | PZAM 16 |PZAM1/2
E
3 #18 Model A8 Model # 2 Model
W PVM 3 PVM10 | PVM1/8 PUM 3 PUM10 | PUM1/8 PWM 06-04
g- PVM 4 PVM11 | PYM5/32 PUM4 | PUM11 | PUM5/32 PWM 08-06
@ w PVM 5 PVM12 | PVM3/16 PUM 5 PUM12 | PUM3/16 PWM 10-08
0 PVM 6 PVYM13 | PYM 1/4 PUM 6 PUM13 | PUM 1/4 PWM 12-10
g PVYM 7 PVM 14 | PVM5/16 PUM 7 PUM14 | PUMS5/16 PWM 14-12
w PVM 8 PVM15 | PVM3/8 PUM 8 PUM15 | PUM3/8 PWM 16-14
3 PVM 9 PVM16 | PYM1/2 PUM 9 PUM16 | PUM1/2
-
@ PMIBtREE B Model | #IFAYERIE R Model | HVFFEE 3 E Model
0 PM Isolation plate direct connection PM-4 Stop fitting KKU \ KKU-4 HVFF manual valve HVFF-4
P \ PM-6 * KKU-6 HVFF-6
‘S\ PM-8 : KKU-8 HVFF-8
‘{,- PM-10 , KKU-10 HVFF-10
PM-12 KKU-12 HVFF-12
KKCE [ A2 Model SLTiRIE # £ Model
KKC Single direction valve | KKC04-M5 | KKC06-02 | KKC08-03 | KKC10-04 | SL Exhaustvalve SL04-M5 | SLO6-02 | SL08-03 | SL10-04
KKC04-01 | KKC06-03 | KKCO8-04 | KKC12-01 SL04-01 | SL06-03 | SLO8-04 | sL12-01
KKC04-02 | KKC06-04 | KKC10-01 | KKC12-02 € 5L04-02 | SLO6-04 | SL10-01 | SL12-02
KKC06-M5 | KKCO8-01 | KKC10-02 | KKC12-03 SL06-M5 | SL08-01 | S5L10-02 | SL12-03
KKC06-01 | KKC08-02 | KKC10-03 | KKC12-04 SL06-01 | SLO8-02 | SL10-03 | SL12-04

33



e — — pr—— s
RIHEZSz e e
RIGHT PNEUMATICS MANUFACTURE EXPERT
PN YRI=E3E PEGZIBEER PKDER B AIE PKBIELW FiE
PN Y type Tee Changing size PEG Tee changing size PKD Changing size thread five throughs PKB Thread five throughs
A S Model 2 Model EE Modsl] A€ Model|
PNG-4 PEG6-4 PKD6-4-01 PKBA4-01
PNB-4 PEGS-4 PKD8-4-01 PKB4-02
\ PN8-6 \ PEGS-6 PKD8-4-02 PKB6-01
PN10-6 PEG10-6 PKD&-6-01 PKB6-02
PN10-8 PEG10-8 d PKD8-6-02 PKEG-03
PN12-8 PEG12-8 PKD10-6-03 PKB8-01
PN12-10 PEG12-10 PKD12-8-04 PKB8-02
PN16-10 PEG16-12 PKD12-10-04 PKB8-03
PKB10-03
PCIRLIEIE PL LiRey — i@ PCFARNEIE PBTRUIE=i®
PC Thread direct connection PL Lthread dual through PCF Female thread direct connection PB T type male tee
318 Model #1S Model # S Model 8 Model
PC4-MS5 | PC10-01 PL4-M5 | PC10-01 PCF 4-M5 [PCF 10-01 PB 4-M5 | PB 10-01
PC4-01 | PC10-02 PL4-01 | PC10-02 PCF4-01 |PCF10-02 PE4-01 | PB10-02
PC4-02 | PC10-03 PL4-02 | PC10-03 PCF4-02 |PCF10-03 PB4-02 | PB10-03
PC4-03 | PC10-04 PL4-03 | PC10-04 PCF 6-M5 | PCF 10-04 PE4-03 | PB10-04
PC6-M5 | PC12-01 PL6-M5 | PC12-01 PCF6-01 [PCF12-01 \ PB 6-M5 | PB 12-01
\\ PC6-01 | PC12-02 PL6-01 | PC12-02 \ PCF602 |PCF12-02 PB6-01 | PB12-02
\ ! PC6-02 | PC12-03 PL6-02 | PC12-03 \ o PCF6-03 |PCF12-03 \ PB6-02 | PB12-03
e PC6-03 | PC12-04 PL6-03 | PC12-04 PCF6-04 |PCF12-04 - PE6-03 | PB12-04
PC6-04 | PC14-03 PL6-04 | PC14-03 PCF8-01 PB6-04 | PB14-03
PC8-01 | PC14-04 PL8-01 | PC14-04 PCF 8-02 PB8-01 | PB14-04
PC8-02 | PC16-02 PL8-02 | PC16-02 PCF 8-03 PB 8-02 | PB16-02
PC8-03 | PC16-03 PL8-03 | PC16-03 PCF 8-04 PB8-03 | PB16-03
PC8-04 | PC16-04 PL8-04 | PC16-04 PE8-04 | PB16-04
PLF LPg#Ra — i@ PLLAMELENE L — 18 PX YRIUZLY =@ PD TE{U =&
PLF L Type female thread dual through PLL Lengthen L type dual through PX Ytype thread tee PD Type side tee
# S Model # & Model A S Model S Model
PLF4-M5 | PLF10-01 PLL4-M5 | PLL10-01 PX4-M5 | PX10-01 PD4-M5 | PD10-01
PLF4-01 | PLF10-02 PLL4-01 | PLL10-02 PX4-01 | PX10-02 PD4-01 | PD10-02
PLF4-02 | PLF10-03 PLL4-02 | PLL10-03 PX4-02 | PX10-03 PD4-02 | PD10-03
PLF6-MS | PLF10-04 PLL6-MS5 | PLL12-04 PX4-03 | PX10-04 PD4-03 | PD10-04
PLF6-01 | PLF12-02 PLL6-01 |PLL12-01 PX6-M5 | PX12-01 \ PD6-M5 | PD12-01
PLF6-02 | PLF12-03 PLL6-02 | PLL12-02 PX6-01 | PX12-02 PD6-01 |PD12-02
\ % PLF&-03 | PLF12-04 \ % PLL6-03 | PLL12-03 PX6-02 | PX12-03 % “ PD6-02 | PD12-03
PLF&-04 \ PLL6-04 | PLL12-04 PX6-03 | PX12-04 L ‘ PD6-03 | PD12-04
PLF8-01 PLL8-01 |PLL14-03 PX6-04 | PX14-03 PD6-04 | PD14-03
PLF8-02 PLL8-02 [PLL14-04 PX8-01 | PX14-04 PD8-01 | PD14-04
PLF8-03 PLL8-03 PX8-02 | PX16-02 PD8-02 | PD16-02
PLF8-04 PLL8-04 PX8-03 | PX16-03 PD8-03 | PD16-03
PX8-04 | PX16-04 PD8-04 | PD16-04
PUEIE PV IEITiE PY YEI=iE PETRI=iE
PU Direct connection [ Model] PV L type dual throughm PY Y type tee §=Tiodel PE T type tee T Tica
PU-4 PV-4 [ Pva_ | :5-4
PU-6 PV-b PY-6 \ PEG
\ PU-8 Pv-8 \ PY-8 ‘ PE-B
PU-10 PV-10 PY-10 =
‘ PU-12 ‘ PV-12 Y12 ‘ 72 ::E_ig ':D
PU-14 PV-14 PY-14 PE-14 o
PU-16 PV-16 PY-16 EEae 5
PHSMA PKEif PKGHIEZEE _ PGEBLR ®
PH out sexangular PK Five throughs PKG Five throughs changing size PG Direct connection change size g
A S Model &2 Model 35 Model | [EIE Model|
PH4-M5[PH8-03 PK-4 PKG6-4 PG6-4 g
PH4-01 [PH8-04 PK-6 PKG8-4 PGaS o
PH4-02 |PH10-01 PK-8 PKGB-6 \ PGS 6 @
) [PH6-M5[PH10-02 PK-10 PKG10-6 PG10-6 s
PH6-01 |PH10-03 PK-12 PKG10-8 PG10-8 o
] PH6-02 |PH10-04 PKG12-8 PG12.8 =t
4 PH6-03 [PH12-02 PKG12-10 PG12-10 43
PH5-04 |PH12-03 Ehfiloels PG16-10
PH8-01 |PH12-04
PH8-02
PZA+=FIUiE LSENE PF#&L PPEE
PZA Crossing four throughs LS Pipeline valve Pipe cap A1 E Model Pipe plug % & Model
| &S Model | |85 Model | PF4 PP4
PZA-4 \ Ls-4 PFG PP6
PZA-6 15-6 PF8 PP8
PZA-8 LS-8 PF10 PP10
PZA-10 L5-10 PF12 PP12
PZA-12 L5-12 PF14 PP14
PF16 PP16

34



0
=
@
c
=,
o
=
3}
)
3)
o
®
7
7
o)
=
o
7

In =

Sl

PNEUMATICS
RIGHT PNEUMATICS MANUFACTURE EXPERT
PSUZBELH =S PSLEERLHAE PPEEELHAE PSVIESLiEE 2R
PSU Plastic silencer PSL Plastic silencer PP Plastic silencer PSV Flat eliminator =
M5 1/8 20-01 18
18 14 20-02 14
- = 30-02 38
30-03 1/2
1/2 3/4
3/4 40-03 2%
1 40-04
60-06
T T 60-10
PSB Eém’ﬁiﬁlﬁ PSA jHEEE PSS@E‘; S ¢ PSCHAETIIR
PSB Silence exhaust valve PSA Eliminator PSS Speed control silencer PSC S1f;nce exhaustpealu
M5
M5 M5 M5 3
18 18 1/8 1"4
1/4 1/4 14 ;Ja
3/8 3/8 3/8 1,/*2
1/2 1/2 1/2 374
3/4 3/4 3/4 o
1" 1" 1*
Wz ABLF Sh#£EEBLM ASM£FLBLMF P4 =JEBEF
Internal silk elbow External silk elbow Internal-external silk elbow Internal silk tee
1/8 1/8 ~ 1/8 1/8
1/4 1/4 1/4 1/4
3/8 3/8 3/8 3/8
1/2 1/2 1/2 1/2

BREASMLQMF
Ball valve inside and outside silk

1/4
3/8
12

BRI L£RQFF
Ball valve double inside silk

1/4
3/8
1/2
BRE-EEIMLQCPC
Cutting sleeve ball valve outside silk
1/4
3/8
1/2
—Rz{EkiE &€ Model
One-Piece Ball Valve DN6
DN10
g— DN15
o DN20
z DN25
w DN32
DN40
DNS0
H14W LHE]a] #E Model
H14W Check valve DN15
DN20
A= DN25
S DN32
. }7 ) DN40
A DNS50
\ = DN65

BRI ALLQFF

Ball valve double inside silk

| 1/4
3/8
1/2

BRI SMLRQMEF
Ball valve inside and outside silk

1/4
3/8
1/2

FEHEBENV
Cutting sleeve needle type valve
D6
©8
@10
©12
—RalEkiE 3 S Model
Two-Piece Ball Valve DNG
DN10
| pE— DN15
= DN20
Qﬁf' DN25
DN32
DN40
DN50
H12w1EEE [ #IS Model |
H12W Check valve DN15
DN20
DN25
DN32
Qﬂ’w, DN40
. DN50

R EIEEIEQBPU
Ball valve pagut% direct through

: | 6
- E @8
. - @10

®12
BN £ REQBPCF
Pagoda—nball valve inside silk
1/4
3/8
- 1/2
FHRIENY
Needle type valve
=Rtk [ &S Model |
Three-Piece Ball Valve DN6
DN10
g— DN15
- DN20
f} DN25
" v DN32
' DN40
DN50
H11 [ ES Model |
H11WStrainer valve DNB
DN10
i DN15
; DN20
&y DN25
DN32
DN40
DN50
DNB5
DNE0

BRI SM2QMM
Ball valve double outside silk

1/4
3/8
- 12

ML FEBREQBPC

Pagoda—ball valve outside silk
1/4-8
1/4-10
3/8-8
3/8-10
1/2-8
1/2-10

HARIKEMBY

mini ball vavle

F-F1/4
F-F3/8
F-F1/2
M-F1/4
M-F3/8
M-F1/2

# & Model
DNB6

DN10
DN15
DN20
DN25
DN32
DN4D
DN50
DNBE5
DNED
DN100

#E Model
DN15

DN20
DN25
DN32
DMN4D
DN50
DNB5
D80
DN100

=RRFAHE
Three-Piece
Platform Ball Valve

Z15WiREE
Z15W Gatevalve

35




=51

PNEUMATICS
mGHTPNEUMAﬂCS MANUFACTURE EXPERT
TAMLBM ABF HhML=IEBEM PILPUEBZA

Inside connection

External silk tee

Internal silk four throughs

Double external silk T —.
: 1/8 1/8 1/8 1/8
1/4 a9 1/4 1/4 1/4
3/8 / 3/8 3/8 3/8
1/2 @ 172 1/2 1/2
3/4 S 3/4
1*
ShrfaLESLBWD Cvierim Sh£HSIEBPC P42 H S IHBPCF
Outside sexangular core plug CV Single direction valve External silk outlet air mouth Internal silk outlet air mouth
1/8 1/8 1/8 6 1/8 6
1/4 1/4 1/4 o8 1/4 @8
3/8 3/8 3/8 @10 3/8 D10
1/2 1/2 1/2 012 1/2 912
3/4 3/4 914 3/4 D14
D16 @16
P19 P19
FIBHIEBPU EIE=@BPY FETEI=EBPE :
Pagoda direct through Pagoda tee T type Pagoda tee EEIEBPZA
Pagoda four throughs
D6 D6 ®6 6
8 8 8 8
10 10 10 10
12 12 e 12 12
SMELUEELBM ASMELHZELBMF PR SLBF FMEBX
External thread adpater Intemal and external thread adpater Internal thread adpater Repair core
1/8-1/4 1/8-1/8 1/8-1/8 1/8-1/4
3/8-1/8 1/8-1/4 1/8-1/4 1/8-3/8
3/8-1/2 1/4-1/4 1/4-1/4 1/4-3/8
1/4-3/8 > 1/4-1/2 1/4-1/2 1/4-1/2
1/2-1/4 3/8-3/8 e 3/8-3/8 3/8-1/2
3/4-1/2 1/4-3/8 1/4-3/8 1/2-3/4
1/2-1/2 1/2-1/2 1/2-G1
3/8-1/2 3/8-1/2 3/8-G1
CaUtRIE R Sk
C type Quick connector
# S Model S Model S Model 2 Model
sP-10 SH-10 SM-10 SF-10
SP-20 SH-20 SM-20 SF-20
SP-30 . SH-30 SM-30 SF-30
SP-40 . SH-40 SM-40 SF-40
CaUtRiERE L T
C type Quick connector S
®
A5 Model 45 Model & E Model 45 Model c
r PP-10 PH-10 g PM-10 PF-10 3
r PP-20 PH-20 PM-20 PF-20 o)
PP-30 PH-30 PM-30 PF-30 =
PP-40 PH-40 PM-40 PF40 2
W
8
CthiRL (B REE) ®
Circle combmatlon Alr blow dust gun %
|_E% Model | HSType | W&Colo
Woppp 2 —— wf Tl T AEE
U SR SM-S3 = AR-TS-L fT:Red i ®
= SM-54 SMY 2 . Blonadit 0
SM-55
e ZL@BY %@%E;’Cﬁﬂ%iﬁ\ZG dod IR £ ESV(FHIE)
’ . pring full lift threade -
Air bloy_\f_dust gun Relief valve connection safety valve Red-hat safety valve(Yellow hat)
1/4 P = i
i Zc1/7 | oNis | :
DG-10 e ﬁl ZG3/4 | _DN20
; / | g8 ZG1° DNZ5
\ \ .,gf ZG1-1/4 | DN32
- ' ZG1-1/2 | DN40
e E 3 7G2 DN50
W - 2G2-1/2 N65

36




s e — F—1
EFEE=51z SIHBESR
PNEUMATICS
RIGHT PNEUMATICS MANUFACTURE EXPERT
RITHLE/RQPV PRI ELEIEQPU RIF=18QPE RITEMAQPL
Quick-wring right angle Quick-wring double-head Quick wring tee Quick-wring right angle
double-head direct through
D6 " 6 o6 M5-(4, 6)
a .b 8 o8 )\ o8 1/8-(4, 6. 8, 10, 12)
h 10 -y 10 D10 ‘ 1/4-(6. 8. 10. 12, 14)
’ P12 12 12 3/8-(6. 8. 10. 12)
1/2-(6. 8. 10. 12, 14, 16)
RITEIEQPZA RITEFREIBQPM RIFEMAQPC RITHEEIEQPCF
Quick-wring four through Quick-wring shotting plate  Quick-wring direct through Quick-wring intemal silk direct through
direct through
M5-(4, 6) M5-(4, 6)
g: 2: | 1/8-(4. 6. 8. 10, 12) 1/8-(4, 6. 8. 10, 12)
%s = A [ 1/4-6. 8, 10, 12, 19) 1/4-(6. 8. 10. 12, 14)
9 i o1 - 3/8-(6. 8. 10, 12) 3/8-(6. 8. 10, 12)
1/2-(6. 8, 10, 12, 14, 16) 1/2-(6. 8. 10. 12, 14, 16)

FEFIREEBCPM
Cutting sleeve shotting

plate direct through

FEHIECPC

fiﬁﬁiﬂé&cw_ i .
Cutting Sleeve direct through

utting sleeve right angle
double heads.

FEPLIECPCE

utting Sleeve internal silk direct through

6 o6 - MS-(4. 6) M5-(@. 6)
D o8 o8 g 1/8-4. 6. 8. 10. 17) 1/8-4._ 6. 8_10. 12)
10 5 » 10 - S0 [ 146 8, 10 12, 14 1/4-(6. 8. 10_ 12, 14)
\ ?12 1) @12 3/8-(6. 8. 10, 12) 3/8-(6. 8, 10, 12)
b S === 1/2-(6. 8. 10 12_ 14 16) 126, 8 10 12. 1418
+RE=®CPE FEVLEIBCPU RN FELBD
Cutting sleeve tee Cutting sleeve double heads Inside sexangular core plug
direct through
1/8
6 D6 1/4
@8 o8 .g\ 8
t @10 10 — 1/2
8 ©12 ©12 3/4
1
PUs O & 8 [axekus| TeAnS [gne|eneEtes me [epas fERRA LT
PU tube Maodel Box packing | Model roll packing | Model Short length| Tybe 0.0.| Tube 1.D. length Colour o Fluid pressure
PU4x2.5-HZ | PU4x2.5-PZ | PU4x2.5 |4mm |2.5mm|200M
PUB x 4-HZ PUBx4-PZ PUB x4 6mm |4mm | 200M N
PU8 x5-HZ PUBx5-PZ PUBx5 8mm |5mm | 100M i) 2
PUB x 6-HZ PUBx6-PZ PUBxB 8mm |6mm | 100M s ;, b g
PU10x6.5-HZ | PU10x6.5-PZ | PU10x6.5 | 10mm |6.5mm| 100M g' :;ﬁ prome ﬁ;;* " %
PU10x8-HZ | PU10xB-PZ PU10x8 10mm |8mm | 100M |~ vkl T
Red Blua, FhanE | 2
PU12x8-HZ | PU12x8-PZ PU12x8 12mm |8mm | 100M| " Cear i 2
PU12x10-HZ | PU12x10-PZ | PU12x10 | 12mm |[1Omm | 100M| use b, £
should consult g
PU14x10-HZ | PU14x10-PZ | PU14x10 | 14mm [10mm | 100M i 3
PU16x12-HZ | PU16x12-PZ PU1Ex 12 16mm |[12mm | 100M
T PU16x13-HZ | PU16x13-PZ | PU16x13 | 16mm |13mm | 100M
g PURMGBESE
e PU stretchable tube
3 Y g AR wone | wne | we | me |ERRE pmaglERES
a Maodel Standard length Tube 0.D, | Tubel.D. Part Colour empeatias Range Fluid pressure
o CLW6 x 4— 3M,6M.9M,12M,15M| 6mm | 4mm | BCst |4, H.
L CLW8x5- | 3M.6M,9M,12M,15M| 8mm | 5mm g‘ﬁf* ?i:,ﬁﬁi Gan| 9% S
A i} =2+ 2 ~7h.
- CLW10x6.5- | 3M,6M.9M,12M,15M| 10mm | 6.5mm | cuse  |pock T
8 CLW12x8- | 3M,6M,9M,12M,15M| 12mm | 8mm | coupler |7
w
7@ PERH = e FRKBE | @i BRG] BRKE ERRE mme BHED
2 PE tube n Maodel Model Short length | Tube 0.D.| Tube I.D.| Standard length| Colour Range Fluid pressure
5‘ f \ PE4x2.5-PZ PE4x 2.5 4mm  [2.5mm 200M . me, WE
[ PE6 x 4—PZ PE6 x 4 6mm |4mm 200M |EM gﬁﬂ‘k’.\iﬁ
1 PE8 x5-PZ PEB x 5 8mm _|5mm 100M |2 og5c r\-,‘i’;?‘"“—“ 0~1.0Mpa
PE10x6.5-PZ PE10x6.5 | 10mm |6.5mm| 100M  l¢TRed o
PE12x8-PZ PE12x8 12mm |8mm 100M ik
PAREE MIE SN = B B (mm)
PA Nylon tube Outside di X wall thick Calour Material
3x0.5 8x1 10x1.5 | 14x1.5 3/16" 3/4"
4x0.75 | 8x1.5 11x1.5 | 14x2 174" 5/8" —
4x1 9x1.5 12x1 15%1.5 5/16" i ey PABIPATR
- 5x%1 10 % 1 12x15 | 16x2 3/8
6x1 10x1.25 12x2 18x1.5 1/2"

37



e e R
RIGHT PNEUMATICS

BER

MEMO

38



